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RRERCPH) =24 [RECHR) R A#E G| JAL [JTA/RAC| 22,900 67% | H:23,100, 7K A:22,800, H:23,700
o [ P#EGRE) [UTA/RAC|  JAL 26,100 63% | F:26,300, 7k A:26,000, H:27,600
RECPH)=RE [RECHAB) R P#EGEH)| JAL [JTA/RAC| 23,200 70% | H:24,300
AR (BE#E) | JAL JTA 36,700 57% | /KK:36,600. H:37,100
RiEX  [MEGRE) [JTA/RAC]  JAL 26,600 65% | F1:26,800, 7K A:26,400, H:28,000
KB (A1) =% Bl | KB (71 [ =R CRE) | JAL JAL 24,200 69% |7K:24,400, A&:23,300, H:24,100
HIEF TR | JAL JAL 24,300 68% | JKA:25,100, H:24,200
ZimBlF |[EERCHE)| JAL JAL 25,000 68% | H:25,500. 7K:24,200, &:24,500, H:24,600
HIEF TR | JAL JAL 25,200 67% | JKA:26,000, H:26,900
KR (BETE) =% 3l | KBx (B8 7E) & [ERE CRIE) | JAL JAL 21,100 73% | A:19,900. H:24,000
HIEFTR) | JAL JAL 21,800 72% | 7KA:22,400, H:19,600
ZimBlF |[EERCHE)| JAL JAL 23,100 70% | H:23,900. 7K:21,900, &:21,800, H:25,500
HIE@FTR) | JAL JAL 21,900 71% | H:21,300
R (FFH =N [ KPR (BFD F|[ER/FCRE)|  JAL JAL 24,500 68% | H7K:24,900, &:24,600, H:23,900
MBI  |EFECHE)| JAL JAL 24,500 68% | H:24,200, 7K:23,400., A:23,900, H:23,600
R (BE#E) =B )1l [KBx (B87E) | _FCRE)| JAL JAL 20,800 72% | H:21,600. H:23,800
MBI |EFECHE)| JAL JAL 22,600 70% | JKA:21,200, H:23,900
R (7 =8ig [ KPR (FD F[ER/FCRE)|  JAL JAL 24,400 68% |7K:25,200, A:22,800, H:23,200
HIEERE |HFECHH)| JAL JAL 24,800 67% | H:24,700, 7K:25,700, &:24,200, H:24,000
R (BE7E) =#Ip% [ XBx (B87E) | /F CRE)| JAL JAL 20,700 72% | A:18,300. H:23,100
HIpRFE |BECHHE)| JAL JAL 22,700 70% | A:21,400. H:25,000
KR () =% [ KPR (BFD F[ER/FCRE)|  JAL JAL 24,900 66% | H:25,300, 7K:25,600, &:25,400, H:25,900
HhEFE [EECHEH)| JAL JAL 25,200 66% | H:25,100. 7K:26,100, H:24,000
Rk (BE#E) =55 [ KXBx (B8E) F| /T CRE)|  JAL JAL 21,800 71% | A:21,200, H:25,800
wLFE  |[HEFECHHE)| JAL JAL 23,100 69% K:22,400, H:25,000
R (7} =igE [ KBR (BFD F[E/FCRE)|  JAL JAL 22,200 67% |7K:22,800. A&:21,900. H:21,200
BREEF |EECHE)| JAL JAL 24,700 63% | H:24,600, 7K:24,300, A:23,500, H:24,800
Khx (BA7E) =BRAE | KRR (B7E) | RECHAE)| JAL JAL 20,200 70% | A:19,300, H:21,100
BEEER |EFERCHHA)| JAL JAL 22,600 66% |7K:21,300, A:20,700. H:25,800
KR (FFH ==IR [ KR (EFD S| R/ECHE) | JAL JAL 24,500 62% | H:24,900. 7K A:25,400, H:21,300
=R%E  [ERGHH)| JAL JAL 24,500 62% | H:24,400. 7K:25,400, &:25,200, H:22,400
KB (BFE) ==iR | XBR (BEFE) F|RFCHA)|[ JAL JAL 21,000 67%
=R¥E  [EHECEHE)| JAL JAL 22,400 65% | H:23,400
KB (A =fRlx [ KBRUFFDH| HE JAL JAL 14,900 60%
ECEa HE JAL JAL 15,100 60%
KRR =1FS [ XRUIFFH| EEES JAL JAL 21,600 55% | H:21,200, H:21,800
BE¥E% | BRE JAL JAL 19,100 60% | H:21,100
KB (A =Ed [ KRR F|H#EGRE)| JAL [JTA/RAC| 23,100 63% | H:23,300, 7K A:24,600
BE% [P GRE) [UTA/RAC]  JAL 23,000 63% | H:23,200, 7k *:24,600, H:28,400
KB (B8dE) == [ Xk (BSFE) 5|44 (FR&)| JTA [JTA/RAC| 28,200 55% | H:28,400. 7K:27,700, & H:26,400
BEo% [P GRE) [UTA/RAC|  JTA 28,200 55% | F:28,400, 7K K:26,400. H:29,500
KB (A =R1E [ KRUFFD F|H#EGRE)| JAL [JTA/RAC| 23500 66% | 7KA:25,000
AiIEX  [P#GRE) [UTA/RAC]  JAL 23,600 66% | F:23,800, 7k A:25,100, H:28,800
KB (B8dE) =R\ [ Xk (BEFE) 5|44 (&) | JTA |[JTA/RAC| 28,700 59% | JKAKH:28,500
AiEX [P GRE) [UTA/RAC|  JTA 28,700 59% | J:28,900, 7Kk A:28,500, H:29,900
LEE(PE) =k &R [R5 E (h&) %[ R FFR) | JAL JAL 17,700 75% | H:19,000
ZimplF |[AREFH) | JAL JAL 17,300 76%  |sK:18,300. A:18,800. H:20,300
ZEHE(FR) =24 (242 (P R PEGRE)| JTA [JTA/RAC| 32,100 53% | H:32,800, 7KA:31,900, H:33,100
BEo% [P GRE) [UTA/RAC|  JTA 31,100 54% | H:31,700. sK:31,000. H:31,900
ZHE(HE) =RIE[25E (P %8 FBFH) | JTA [JTA/RAC| 32,900 56% | H:33,100, H:33,700
AiEX  [P#FRE) [UTA/RAC|  JTA 31,800 57% | H:32,200, H:32,300
IR (FFm) =/ TR X[ ERCHE) | JAL JAL 21,200 69% | H:24,200
NAFE [EFECEE)| JAL JAL 21,500 68% |/K:21,700. A:23,000, H:23,400
HIEF TR =mR R AR FH TS E[mECAE) [ JAL JAL 27,500 64% |7K:31,900. A:32,100, H:26,000
Mt EES [RECHE)| JAL JAL 28,500 63% |7K:32,000. A&:31,700. H:29,000
LI (FHFR) =LA@ TR X[ ERCHE) | JAL JAL 27,000 65% | A:26,800, H:30,400
FELFE [EFERCHAE)| JAL JAL 26,600 66% | A:26,300. H:27,000
IR (FFR) =LEALURE TS X[ ERCHE) | JAL JAL 28,700 63% | A:27,000, H:31,100
LE%¥ |ERERCHA)] JAL JAL 27,600 65% | A:26,600. H:28,200
HIREFR) = ILOFH AR FFH) R[ERCHE) | JAL JAL 25,600 69% | A:23,500, H:33,700
WOFEHE [ERCEA)| JAL JAL 25,600 69% | A:25,400. H:30,300
IR (FFR) =HEFEEFE TS X[ ERCHE) | JAL JAL 31,000 59%
HEH [EFRCHHE)| JAL JAL 31,000 59%
IR (FFm) =EE AR TR X[ ERCHE) | JAL JAL 27,500 64% | A:25,300, H:31,700
wmEH% |ERCHAE)| JAL JAL 25,400 67% | A:25,100. H:26,400
IR T/ =a[LIEFTFH X[EZRCIE)|[ JAL JAL 29,000 62% | A:26,700. H:32,400
=% |[ERERCHA)| JAL JAL 29,900 61% | A:27,900. H:31,000
IR (FFR) = ALUEETFH X[ ERCHE) | JAL JAL 29,400 63% | A:27,300, H:32,800
=% |EHERCHEA)| JAL JAL 28,800 63% | A:26,800. H:29,000
IR (FF) =L AUREFR) X[ ERCHE) | JAL JAL 30,000 62% | A:28,500, H:33,800
WILFE [ERERCEA)] JAL JAL 30,100 62% | A:29,000. H:29,900
FLIR G =t Ul LR F ) [ ERE CHE) | JAL JAL 29,700 65% | A:28,100, H:34,700
M [EFRCEIA)] JAL JAL 28,800 66% | A:27,500. H:32,400
IR (FFR) =K AU FR) X[ ERCHE) | JAL JAL 29,100 65% | A:28,500, H:34,500
Ao% [HFECHH)| JAL JAL 29,600 65% | H:30,100, A:29,300, H:31,800
IR (FHFR) =RB AR TS X[ ERCHE) | JAL JAL 28,700 67% | H:29,400, £:28,200, H:34,900
RiE% [EERCGEHA)] JAL JAL 28,000 68% |7K:28,300. A:29,400. H:30,200
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IR GEFFm) =RAMIEFETS X[ERCAE)|[  JAL JAL 28,400 67% | H:28,500. 7K:28,700, A:28,000, H:34,200
BEAFE |[WHECHHE)| JAL JAL 28,700 66% | F:29,100, A:29,400, H:31,800
AR (FFR) == AR FFR) X[ FRCAHE) | JAL JAL 27,700 67% | A:26,700, H:33,400
EIEH  |RECHH)| JAL JAL 28,500 66% | 7K:28,100, A:28,900, H:30,600
LEF TR =BERB[IIEFETR X[ERCHAE)|[ JAL JAL 26,300 70% | F:28,400, A&:25,900, H:34,500
EREHX |HFECGHHA)| JAL JAL 27,300 69% | H:30,100, A:27,200, H:31,400
IR BT F %) = 748 AR | ALIR (T80 %[ R CAE) | JAL JAL 28,200 69% | A:27,400. H:31,600
AR (R JAL JAL 20,100 78%  H:21,700
ZHECRE) | JAL JTA 31,200 66% | H:31,900. 7K:29,100, A:29,300, H:38,900
12 JAL JTA 31,300 67% | 7KA:30,800, H:38,900
R (RER) [ ERECHHE) | JAL JAL 32,800 63% | H:31,600. H:34,300
KRB (FFH | JAL JAL 17,300 81% |7KK:18,200, H:17,900
AR (BT | JTA JAL 31,700 65% | JK7:32,200. H:30,900
ZHEE(RE) | JTA JAL 30,000 67% | FH:30,500, A:30,100, H:32,500
12 JTA JAL 31,300 67% |/K:30,800. A&:31,400, H:32,600
IR (FFR) =REFUEEFETFS X[ ERCHE) | JAL JAL 42,500 62% | 7K:42,200, A:41,900, H:44,500
AEF [EERCHH)| JAL JAL 42,800 61% | JK7K:42,400, H:44,900
ZHEE(RE) | JTA JAL 38,700 64% | JKA:38,300, H:42,400
IR BT == o [ALIEF Tl [25E (P | JAL JTA 43,000 59% | JK:43,300, &:43,800, H:45,400
R =% %5 mERE  |EECHH)| JAL JAL 29,400 69% |7K:28,800, £:28,500, H:34,100
HIEFTFR) | JAL JAL 23,600 73% | H:24,400
ZiEnlF [RECHHE)| JAL JAL 29,500 69% | H:30,300, 7K A:28,400, H:33,600
HIEFHTFR) | JAL JAL 22,000 75% | H:23,000. H:26,000
BRI =)l @R |EECHE)| JAL JAL 28,100 69% | A:28,900. H:33,900
BIIFE  [REEGIHE)| JAL JAL 26,900 71% | H:27,400. 7K:25,800, A:25,700, H:31,000
1R = HIER BEF¥ |RZCHAE)| JAL JAL 29,600 68% K:28,000, H:33,200
HipkFE [EFECHHA)| JAL JAL 29,300 68% | A:28,000. H:30,100
B =505 fREF  |EFECHE)| JAL JAL 29,500 67% |7K:29,300, A:30,000, H:35,900
HHEHE |[RFERCAH)| JAL JAL 30,300 67% | A:29,600, H:33,100
1R =R EE% |[ERECGHH)| JAL JAL 26,500 68% K:25,600, H:31,200
AR (EFD| JAL JAL 22,500 70% _ |7K:25,200, A&:26,000, H:26,600
EEEF |[EECGHH)| JAL JAL 29,200 65% |7K:27,900. A:27,300, H:30,900
KR (B JAL JAL 24,100 68% |7K:25,300. A:26,300. H:28,400
ER=5% fmER  |EECHE)| JAL JAL 23,000 72% | H:23,800
AR (B JAL JAL 21,100 71% | H:25,000
BAE |[EECHHA)| JAL JAL 23,000 72% | H:23,800
AR (B JAL JAL 21,100 71% | H:23,600
fBR==] fmEH  |EFECHE)| JAL JAL 21,000 74% | H:21,800
SR%¥E  [EECEHE)| JAL JAL 21,000 74% | H:21,800
AR (EFD|  JAL JAL 23,500 68% | H:31,200
1R =% @ BEFE  |ERCHA)| JAL JAL 29,700 60% |7K:30,100. A&:31,200, H:26,400
MEHX |[EEGH)| JAL JAL 29,800 60%  |7K:30,200, A:30,400, H:27,200
ABRUEFD|  JAL JAL 22,100 67% | H:21,600. H:26,500
&R = LT fmEF  |EECHE)| JAL JAL 23,100 65% | H:27,300
KR (B JAL JAL 26,300 61% | H:29,000
11 BHRECHE)|  JAL JAL 24,900 62% | A:25,100, H:24,000
KRR (EFD| JAL JAL 25,400 62% | H:27,500
[ EINA fmE%  |EFECHE)| JAL JAL 24,400 66% |7K:24,700. A:25,500, H:25,900
MNAF EFECHE)| JAL JAL 26,100 64% | H:26,000. 7K:26,600. A H:26,700
ER=2% =% [PE@EF)| JTA [JTA/RAC] 25,200 54% | B:25,400, 7K A:25,000, H:26,000
Ba% [P GRE) [UTA/RAC|  JTA 25,000 55% | H:25,200, 7K K:24,900. H:25,800
ERE=fa1 BEHF | HE@8E)| JTA [JTA/RAC| 25800 58% | JKA:25,400, H:26,500
AiIEX  [P#FRE) [UTA/RAC|  JTA 25,500 58% | H:25,700, 7K A:25,300, H:26,200
TR =1tE ZERIFE  |[AREFTHR) | JAL JAL 17,500 70% | F:18,500. H:22,600
TEEFE  [AREFH)]|  JAL JAL 21,100 64% | H:22,800
ZEA=IE ZEAIF |[ARETE) | JAL JAL 20,100 67% | F:20,600, 7KA:21,100, H:21,800
& HIEFHTFR) | JAL JAL 20,600 67% | A:21,100, 7k A:19,800, H:18,800
TR =58 ZEAFE |[AEFH TR JAL JAL 21,100 67% | H:21,400
FEFE  [AREFH)]|  JAL JAL 22,100 65% | H:21,000
2 Al = /N ZiEnlF [RECHHE)| JAL JAL 22,500 71% | B:23,300, 7K:21,300, &:21,200, H:23,500
MAF [EFECHE)| JAL JAL 21,700 72%  |7K:22,100. A&:20,700. H:24,400
i Al =L ZiEnlF [RECHHE)| JAL JAL 26,600 69% | B:27,400. 7K:25,400., A:25,300, H:28,300
FEILF [HECHH)| JAL JAL 26,100 70% _ |7K:25,500, A&:24,400, H:27,700
TEA=he ZiEnlF [RECHHE)| JAL JAL 27,100 69% | HB:27,900, 7K:25,900, A&:24,900, H:29,000
LEB%¥ |[ERERCHHA)| JAL JAL 27,600 68% |7K:27,000, A&:24,900. H:28,500
HIEFTR) | JAL JAL 21,200 74% | H:24,700
iRl =HE ZimBFE |EFERCAA)] JAL JAL 34,500 59% | H:35,300. sK:32,900, &:32,800. H:35,900
HER [RECGIH)| JAL JAL 34,400 59% |7K:33,600, A:31,600, H:35,200
iA=L ZimBFE |EFERCAA)| JAL JAL 29,400 67% | H:30,200. 7K:28,300, A:27,000, H:30,800
WIUE  |EFERCHH)| JAL JAL 29,500 67% |7K:28.900, A:25,200, H:31,300
ZimAl=hiE ZimBFE |EFERCAA)] JAL JAL 45,300 62% | H:46,100, /K:43,700, A:43,600, H:47,100
AEH |RWECHH)| JAL JAL 44,300 63% | 7K:43,900, A:42,700, H:46,800
JENTESA MBI  ["RREGIHE)| JAL JAL 22,000 71% | 7K7K:20,600, H:22,500
RS |ERFECHE)|[ JAL JAL 21,300 72% | HB:22,100, 7K:21,800., A&:21,600, H:24,200
B =FE4E Bk MBI  [RREGIHE)| JAL JAL 21,400 74% | H:22,100, 7K%:20,300, H:24,100
EREER [RECHE)| JAL JAL 28,800 65% | H:29,600., 7K A:32,300, H:30,500
T =Ll MBI  [RREGIHE)| JAL JAL 26,100 69% |7K:24,700. A&:23,300. H:27,300
FLF [RECHH)| JAL JAL 24,400 71% | B:25,200, A:23,200, H:27,500
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BII=HE MBI  [RREGIHE)| JAL JAL 34,000 59% | /KAK:32,200. H:34,900
HER [HREGIH)| JAL JAL 32,400 61% | H:33,200, 7KA:31,900, H:35,000
TBJI=#210 MBI  [RREGIHE)| JAL JAL 28,000 68% |7K:26,600. A:25,000, H:28,900
WINE  |EFERCHH)| JAL JAL 29,500 66% | H:29,800, £:26,600, H:31,100
fBIIl=R"1iE MBI  [RREGIHE)| JAL JAL 44,800 62% | JK7:43,000. H:46,100
AIEH |RWECHH)| JAL JAL 44,000 63% | F:44,800, 7K A:43,600, H:46,600
HIER =/ HIEEHE |ERCHE)| JAL JAL 21,700 71% | A:20,400. H:21,800
AT |EECHHE)| JAL JAL 21,900 71% | A:19,500, H:23,500
HIEE =0 HlEEHE |ERCHE)| JAL JAL 26,800 68% | A:25,500. H:26,900
FEILFE [HFECHHE)| JAL JAL 26,300 69% | A:23,900. H:26,800
=155 HIEEHE |ERCHAE)| JAL JAL 26,700 68% | A:25,100. H:27,200
LEEB% |RHECHH)| JAL JAL 27,800 67% | A:24,200. H:27,600
HIE=HE fIpEFE |ERERCHE)| JAL JAL 34,500 58%  |7K:34,300. K:32,000. H:35,200
HER [HRECGIH)| JAL JAL 34,600 58% | 7K:34,400, A:31,100, H:34,300
HIE =410 HipkFE |EFERCHHAE)| JAL JAL 28,500 67% | A:26,400, H:29,000
ML |[EERCHE)| JAL JAL 29,700 65% K:24,700, H:30,400
HIE=HiE fIpEFE |[ERERCHEA)| JAL JAL 43,000 63% |7K:42,600. &:41,500, H:44,800
AEH |RWECHH)| JAL JAL 43,900 63% | 7K:43,500, A:41,100, H:45,900
HBLE=/ HHEHE |[RFERCAH)| JAL JAL 22,100 70% | A:21,400, H:21,800
MRS |ERFECHE)|[ JAL JAL 22,300 70% | HB:22,200, 7K:22,800, A&:22,000, H:26,200
HE=RL HhE [EFRCEH)]| JAL JAL 27,200 67% | A:26,500. H:26,900
FELFE [HFECHHE)| JAL JAL 26,000 69% | A:25,400, H:29,500
Hh=tHE HhFE [EFRCHEH)]| JAL JAL 34,900 57% | 7:33,000. H:35,400
HER [HRECGIH)| JAL JAL 34,500 58% | 7K:34,100., A&:33,000, H:35,900
HHE=m0 HHEHE |[RFERCAH)| JAL JAL 30,200 65%  A:28,200, H:30,300
WILE  |EFERCHH)| JAL JAL 29,600 65% :29,400, A:26,600, H:33,100
Hh=hiE WL [RRCHE)| JAL JAL 44,900 61% |7K:44,500, &:43,800. H:45,300
AIEH |RWECHH)| JAL JAL 45,000 61% :44,600, A:44,000, H:48,600
BHEE =/ A BEEF |EHCHE)| JAL JAL 21,600 67% |7K:20,300. A:19,700, H:22,600
RS |ERFECHE)|[ JAL JAL 20,700 69% | H:20,600., 7K:21,200, A&:20,100, H:21,500
EEE=FIL BHEHR [REHE)| JAL JAL 26,000 65% |7K:24,700. AK:23,600. H:27,400
FEILFE [HFECHHE)| JAL JAL 23,800 68% K:21,700, H:24,800
HE=IL5 BEEHR [REHE)| JAL JAL 26,600 65% |7K:25,300, A&:24,400, H:28,000
LEFE [HEFECHH)| JAL JAL 26,400 65% |7K:25,200, A:24,300, H:25,600
HE=HE HEHR [REEGH)| JAL JAL 34,400 53%  |7K:33,100., K:31,300. H:34,800
KRB (FFH | JAL JAL 22,500 68% | 7K:23,700, A:24,700, H:25,100
HEH% [EZCRE)| JAL JAL 31,800 57% _ |7K:31,300. &:30,400. H:32,300
KRB (FFH | JAL JAL 20,900 70% | 7K:23,600, A:24,400, H:23,500
EEE=H0 HEEH [EECHHA)| JAL JAL 28,400 63% |/K:27,100. A:25,700, H:29,800
AR (R JAL JAL 24,300 65% | H:24,200. 7K:25,500, & H:26,500
WILFE  |[ERERCEH)| JAL JAL 26,500 66% | A:23,500. H:28,400
KRB (FFH | JAL JAL 22,700 67% | 7K:25,400, A:26,200, H:25,300
EEE =LA HEER |EFERCHHA)| JAL JAL 28,100 66% | A:26,600
e [ERFECHE)| JAL JAL 24,500 70% | 7K:24,400., A&:22,500, H:28,100
HE=X" WER [REEGH)| JAL JAL 21,900 73% | H:22,500
KRB (FFH | JAL JAL 25,000 65% | 7K:26,200, A&:27,200, H:26,800
Xo%F [EERCHEH)| JAL JAL 21,900 73% | H:22,500
RBR (FFH | JAL JAL 23,400 67% | 7K:26,100, A:26,900, H:25,600
HEE=RIE HERE [ERERCHHA)| JAL JAL 22,400 74% | H:23,000
KRBR (FFH | JAL JAL 28,400 64% | H:27,700, 7K:29,600, A&:30,600, H:32,600
K% [REGEGH)]| JAL JAL 22,400 74% | H:23,000
KRB (FFH | JAL JAL 26,800 66% | F:26,200, 7K:29,500, A&:30,300, H:29,400
HEE=REA HERE [ERERCHA)| JAL JAL 22,400 73% | H:23,000
KRB (FFH | JAL JAL 25,400 67% | 7K:26,600, A&:27,600, H:28,600
RBAFK [HECHH)| JAL JAL 22,400 73% | H:23,000
AR (R JAL JAL 23,800 69% |7K:26,500, A& H:27,300
HE=2% HERE |[ERERCHA)| JAL JAL 22,400 73% | H:23,000
KRB (FFH | JAL JAL 29,200 62% | F:28,600, 7K:30,400, A:31,400, H:31,800
BiEH  [ERCGEHE)| JAL JAL 22,400 73% | H:23,000
KRB (FFH | JAL JAL 27,200 64% | H:26,500, 7K:29,900, A:30,700, H:29,800
HE=ERS HERE |[ERERCHHA)| JAL JAL 22,400 74% | H:23,000
KRB (FFH | JAL JAL 26,100 67% | 7K:27,300, A:28,300, H:29,800
BEREH |[ERERCHHA)| JAL JAL 22,400 74% | H:23,000
KRBR (FFH | JAL JAL 24,100 70% | 7K:26,800, A&:27,600, H:28,100
HE=FR1E BEEF |EHCHE)| JAL JAL 40,100 63% | JK7:39,700. H:42,300
AIEH |RWECHH)| JAL JAL 43,400 60% | 7K:43,000, A&:42,100, H:43,900
EHR=8 EHaE  |[RERHE)| JAL JAL 14,800 77% | H:15,500
RS |ERFECHE)|[ JAL JAL 15,300 76% | H:16,500
EHR=EMRAE EHAE  |RERHE)| JAL JAL 26,400 64%  JK7:29.600. H:26,500
BiCEER |BFERCHE)| JAL JAL 27,300 62% |7k #A:29,600, H:28,100
EHR=HEL EHAE  |[REGHE| JAL JAL 25,500 65% | JKA:25,900. H:24,800
L |[RECHH)| JAL JAL 25,000 66% | 7K:25,400, A&:25,100, H:25,800
EHR=IL5 EHFE |ERRGEHA)| JAL JAL 27,200 64% | A:26,300. H:25,500
LEFE [HEFECHH)| JAL JAL 26,200 65% |7K:26,400, A:25,400, H:27,200
FH=LOFE EAFE |ERRGEHA)| JAL JAL 24,100 69% | JK:24,500, A:22,800. H:28,200
IWAFEF [REGIH)| JAL JAL 24,500 69% |7K:24,900. A:23,200, H:29,600
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EHR=HE EAFE |[EEGEHA)| JAL JAL 29,600 59%
AR (EFD|  JAL JAL 19,500 71% | H:21,900
HEH [ERCEHE)| JAL JAL 29,600 59%
AR (RFD|  JAL JAL 20,200 70% | H:22,200
EHR=FES EHaE  |RRHE)| JAL JAL 20,300 72% | H:21,300
EEFE |EECHHA)| JAL JAL 20,300 72% | H:21,300
EHh=mi EHaE  |[REHE)| JAL JAL 20,200 72% | H:20,500
EHFE  |ERERCHHE)| JAL JAL 20,200 72% | H:20,500
EH=mH EHaE  |[REHE)| JAL JAL 20,300 73% | H:24,100
=A% |EECHHE)| JAL JAL 20,300 73% | H:24,000
FHR=wm1 EFHE  |[RE@HE)]| JAL JAL 20,000 74% | H:20,500
ABRRFD | JAL JAL 21,300 68% | H:21,200, H:23,300
WILFE  [ERERCEA)] JAL JAL 20,000 74% | H:20,500
AR (R JAL JAL 21,300 68% | H:23,300
HFHE=dLAM EHHE  |REHE)| JAL JAL 21,800 73% | H:22,600
e [ERFECHE)| JAL JAL 21,800 73% | H:22,600
EHR=K7 EFHRE  |[RE@HE)]| JAL JAL 21,700 73% | H:22,500
AR (R JAL JAL 22,000 68% | H:23,600
Xo%F [EERCHEH)| JAL JAL 21,700 73% | H:22,500
AR (RFD|  JAL JAL 22,000 68% | H:23,600
EHR=R& EFHRE  |[RE@HE)]| JAL JAL 23,200 72% | H:24,000
ABRRFFD | JAL JAL 25,400 67% | H:24,700, H:29,400
K% [REGH)]| JAL JAL 23,200 72% | H:24,000
ABRRFFD | JAL JAL 25,400 67% | H:24,800, H:27,400
EHR=EX EHRE  |[RE@HE)| JAL JAL 21,800 73% | H:22,600
KRB (FFH | JAL JAL 24,200 67% | H:24,100, 7K K:23,500, H:25,400
RAFK [EERCHH)| JAL JAL 21,800 73% | H:22,600
KBR (D[ JAL JAL 22,400 70% | H:25,300
ER=2& BEHR¥E |[EERGHE)| JAL JAL 21,800 73% | H:22,600
ABRUEFD|  JAL JAL 26,200 64% | H:25,600. H:28,600
FEFE  [EECHHE)| JAL JAL 21,800 73% | H:22,600
ABRUEFD|  JAL JAL 26,100 65% | H:25,100. H:28,500
BEAR-ERE BEHR¥E |EERGHE)| JAL JAL 23,200 72% | H:24,000
AR (B JAL JAL 23,100 70% | H:26,600
EREHX |HECHH)| JAL JAL 23,200 72% | H:24,000
KRR | JAL JAL 22,700 71% | H:26,500
EH=RE BEHR¥E  |ERCGH)| JAL JAL 42,200 61% |7KA:42,000, H:43,400
AiEH [HRCGHH)| JAL JAL 42,500 60% | 7K7K:42,100, H:44,200
ZiR=/ 2 =R%¥ |RWECHH)| JAL JAL 14,800 77% | H:15,500
NREE [RFECHE)|  JAL JAL 15,300 76% | H:16,500
=IR=MEw SR%¥ |RWECHH)| JAL JAL 26,500 64% | H:25,300
FELFE [EFRCHAE)| JAL JAL 24,600 66% | A:23,400. H:24,700
=ZR=L8 SiR%¥ |RWECHH)| JAL JAL 26,400 64% | A:26,100, H:25,700
LE%¥ |ERERCHHA)] JAL JAL 27,300 63% | A:26,100. H:25,300
ZR=ILAFH SR%¥ |HWECHH)| JAL JAL 25,100 68% | A:23,400, H:28,600
WOFHE [ERCEA)| JAL JAL 25,500 67% | A:23,800, H:29,200
ZIR=HZE =R% |[HWECHH)| JAL JAL 29,600 59%
HE RERCHE|  JAL JAL 29,600 59%
AR (R JAL JAL 21,900 68% | H:27,500
SR=1ES =R¥E [EHECEHE)| JAL JAL 19,300 73% | H:20,300
EEFE |EECHH)| JAL JAL 19,300 73% | H:20,300
SiR=ak =R¥E [EHECEHE)| JAL JAL 19,200 74% | H:19,500
EHFE  |EERCHHA)| JAL JAL 19,200 74% _ H:19,500
ZiR=2%0 =R¥E [EHECEHE)| JAL JAL 19,300 74% | H:23,100
=A% |EECHHE)| JAL JAL 19,300 74% | H:23,000
ZiR=#1 =R¥E [EHECEHE)| JAL JAL 19,000 75% | H:19,500
MmILFE  |[EERCHH)| JAL JAL 19,000 75%  H:19,500
AR (B JAL JAL 23,700 65% | H:29,300
ZiR=dt M ZR%¥ |HWECHH)| JAL JAL 19,800 75% | H:20,600
kM [EFRCGIA)] JAL JAL 19,800 75% | H:20,600
ZiR=X% SR%¥ |[RWECHH)| JAL JAL 19,700 75% | H:20,500
Xo%F [EERCHEH)| JAL JAL 19,700 75% | H:20,500
AR (R JAL JAL 24,400 65% | H:29,600
ZR=F =R¥E [EHECEHE)| JAL JAL 21,200 75% | H:22,000
RIEFE |[EECHH)| JAL JAL 21,200 75% | H:22,000
ABRUEFD|  JAL JAL 27,400 65% | H:27,200. H:33,000
ZR=8EX =R%¥ |HWECHH)| JAL JAL 19,800 75% | H:20,600
RAFK [HECHH)| JAL JAL 19,800 75% | H:20,600
AR (R JAL JAL 26,400 65% | A 7/KA:25,900, H:31,300
ZR=2% =R%¥E  [EECEHE)| JAL JAL 19,800 75% | H:22,600
ABRRFD | JAL JAL 28,300 62% | H:27,500, H:34,400
EiEH  [ERGIH)| JAL JAL 19,800 75% | H:22,600
ABRRFD | JAL JAL 28,500 62% | H:27,300, H:34,500
=ZR=ERS SR%¥E  [EECEHE)| JAL JAL 21,200 75% | H:22,000
AR (RFD|  JAL JAL 26,200 67%  H:32,900
EREH |[ERERCHHA)| JAL JAL 21,200 75% | H:22,000
AR (REFD|  JAL JAL 25,100 68% | H:32,500
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ZR=F1E =R%E  |[ERGH)| JAL JAL 44,200 58% | /KA H:43,800
AEH |RWECHH)| JAL JAL 44,200 58% | 7K H:43,800
FE=/MR A% [RRGGHE| JAL JAL 17,200 70% | H:18,300
MRS |ERFECHE)|[ JAL JAL 17,100 71% | H:17,500
MH=FELHE IVEF [ERCHA)|[ JAL JAL 26,300 60% | H:22,600
Mt EER [WECHE)| JAL JAL 26,300 60% | H:23,000
FE=MRLL fREFE  |RFECRE)| JAL JAL 26,300 61% | H:21,000
R |[RECHH)| JAL JAL 25,700 62% | 7K:26,100, H:20,700
ME=LES A |EFCHE|[ JAL JAL 28,000 59% | H:21,700
LEE% |[RECHH)| JAL JAL 28,000 59% K:27,600, H:21,900
ME=LOF BEFE  |[ERCEA)] JAL JAL 25,500 65% |7K:25,900. A&:24,200. H:24,300
WOFERFE [RECHE)| JAL JAL 26,600 63% |7K:27,000, A:25,300, H:24,500
MH=HE MEX [ERCEHE)| JAL JAL 26,300 60%
AR RFD | JAL JAL 20,500 68% | H:20,000, H:23,200
HEH [ERZCHHE)| JAL JAL 27,100 59% | /KAK:26,300. H:27,200
ABRRFD | JAL JAL 21,100 67% | H:19,600, H:23,000
HME=75 TEE ([ERGIE|[ JAL JAL 20,200 70% | H:20,700
EEFE |EECHHA)| JAL JAL 20,200 70% | H:20,700
MH=Z% A% [RRGGHE| JAL JAL 20,200 70% | H:20,700
EHFE  |ERERCHHE)| JAL JAL 20,200 70% | H:20,700
ME=5% A% [RRGHE| JAL JAL 20,300 71% | H:20,800
= |EECHHE)| JAL JAL 20,300 71% | H:20,800
FE=#10 MER%E [ERGH]| JAL JAL 20,400 71% | H:20,900
ABRRFFD | JAL JAL 22,200 64% | H:21,700, H:24,600
WILFE  |[ERERCEA)| JAL JAL 20,400 71% | H:20,900
ABRRFFD | JAL JAL 22,200 64% | H:20,700, H:24,100
BE =4t MEFE |[ERCEA)] JAL JAL 29,700 60% |sK:30,100. A:28,500. H:27,300
e [ERFECHE)| JAL JAL 27,500 63% | 7K:27,900, A:26,900, H:26,100
ME=X% MEFE [ERERCEH)| JAL JAL 28,900 61% |sK:29,300. H:25,100
ABRRFD | JAL JAL 22,900 65% | H:22,500, H:24,900
XA% [HERCHH)| JAL JAL 29,000 61% |7K:29,400, A:29,200, H:25,500
ABRRFFD | JAL JAL 23,800 63% | H:22,400, H:25,300
MH=F& MEFE [ERERCGEH)| JAL JAL 28,800 63% |7K:29,300. A:28,900. H:25,500
KIR (R | JAL JAL 26,300 64% | F:25200. H:30,700
RIEH |[EECGH)| JAL JAL 29,000 63% | 7K:29,700, A:29,300, H:24,700
ABRUEFD|  JAL JAL 25,900 64% | F:24,200. H:27,800
FUHE=FEX MEFX |[ERECH)| JAL JAL 28,900 61% | 7K:29,300, H:25,900
ABRUEFD|  JAL JAL 25,200 64% | F:23,500, 7k A:24,500, H:26,700
AR |[HECHH)| JAL JAL 29,300 61% | 7K:29,700, H:25,500
ABRURFD|  JAL JAL 24,900 64% | H:22,900. 7K *:24,400, H:27,000
MHEH=Z=I& AR |[EECHHE)| JAL JAL 28,900 61% |7K:29,300, A:28,100, H:25,100
ABRUEFD|  JAL JAL 27,100 61% | H:26,100. H:29,900
ZIER  |[RECHH)| JAL JAL 29,500 61% | H:29,000, 7K:29,400, A:28,800, H:24,300
ABRUEFD|  JAL JAL 27,000 61% | F:24,300. H:29,300
MH=ERS AR |[EECHHE)| JAL JAL 26,500 66% | H:27,700, /K A:26,900, H:25,100
ABRUEFD| JAL JAL 24,100 67% | H:23,600. H:27,900
EREX |EEGH)| JAL JAL 26,000 66% | H:28,600, 7K:26,400, A:26,600, H:25,500
ABRUEFD| JAL JAL 24,500 67% | H:23,100. H:29,900
ME=RE K |EFECHHE)| JAL JAL 40,600 60% | H:39,500
GiEFE  [EHECHEH)| JAL JAL 40,600 60% | H:39,500
EE=HE EEFE | KRUF| JAL JAL 26,400 60% | H:26,800
HEH | KIRGE|[ JAL JAL 27,700 58% | H:29,100
EE=ml EEFE | KRUF)| JAL JAL 27,400 58% | H:27,300
WILFE [ KRUFF)| JAL JAL 28,500 56%
EE=X% EEFE | KRUF)| JAL JAL 28,900 57%  H:28,500
An%E [KERUWEED| JAL JAL 29,200 57% | H:28,800
EE=RI& EEFK | KRUF)| JAL JAL 31,500 58% | H:30,800, H:33,500
RiE% [ XERUFD| JAL JAL 32,300 57% | H:32,000
TEE=REX EEK | KIRUEFD|[ JAL JAL 30,500 58% |7k #:29,300, H:30,300
A% [ KIRUFFD| JAL JAL 31,200 57% | B KA:30,700, H:31,500
EE=2I& EEF | KRUF)| JAL JAL 32,900 54% | F:32,000
12 JAL JAL 28,100 65% | H:29,700
ZER | KERUEFEFD| JAL JAL 32,900 54% | FH:32,100
12 JAL JAL 28,100 65% | H:28,500
EE=ERE EEHK | KIRUFEFD|[ JAL JAL 30,700 60% | H:31,800
BEREH |[KRUFFD| JAL JAL 29,900 61% | H:34,100
LLtE =/ Wiz %  |ERFECRE)| JAL JAL 17,200 65%  H:16,400
NAFE [EFECEE)| JAL JAL 17,300 65% | H:17,200. 7K:17,800, A< H:17,600
Ltz =REwl 12 HHECHHE)| JAL JAL 20,400 65% | A:19,200
FELFE [EFRCHEE)| JAL JAL 20,400 65% | A:19,200. H:20,900
R =L8 WkF  [RECHHE)| JAL JAL 23,300 61% | A:23,200. H:22,000
LEB%¥ |ERERCHHA)| JAL JAL 23,000 61% | JK7:21,800, H:21,700
Wtz =1L O3 Wiss  [RECHHE)| JAL JAL 20,600 67% K:18,900, H:23,700
WWOFH%E |[RRCHEA)| JAL JAL 20,900 67% | A:19,200. H:25,400
s =HZE IRz % [EFECRE)| JAL JAL 27,900 51%
AR (B JAL JAL 24,000 61% | H:24,400
HER [REGIH)| JAL JAL 27,900 51%
KR (B[ JAL JAL 25,400 59% | H:26,200
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IR =15 Wfz%  |RRECRE)| JAL JAL 21,400 63% | A:19,600. H:21,600
EEF |EFERCHHA)| JAL JAL 21,400 63% | A:20,100. H:21,000
I == WHz%  [EmCRE)|[ JAL JAL 22,000 62% | A:20,100. H:21,900
=% |[ERERCHEA)] JAL JAL 23,100 60% | A:21,600, H:23,500
Ltz =L W% [RECHHE)| JAL JAL 23,200 62% | A:21,600, H:22,800
ABRUEFD|  JAL JAL 25,800 58% | H:25,700
ML |[EERCHH)| JAL JAL 23,100 62% | A:21,000, H:24,500
ABRUEFD|  JAL JAL 26,300 57%
=K% W% [RECHHE)| JAL JAL 24,000 63% | A:23,600, H:24,800
KRR (B JAL JAL 26,500 58% | H:26,100
Ko  |[EECHHA)| JAL JAL 24,000 63% | A:23,600. H:24,800
KRR (B JAL JAL 27,200 57% | H:27,600
iz =Ki& WeH  [REGIH)| JAL JAL 23,900 65% | 7K:24,000, A&:23,600, H:25,600
ABRUEFD|  JAL JAL 29,900 58% | H:29,200, H:31,900
RIEH |[EEGH)| JAL JAL 23,700 65% | H:24,200, 7K:23,300, A:23,100, H:24,800
ABRUEFD|  JAL JAL 30,600 57% | H:30,000, H:31,000
Wiz =8K WkH  [RECHHE)| JAL JAL 24,000 64% | A:23,600. H:25,600
ABRUEFD|  JAL JAL 28,500 58% | F:28,400, K A:27,800, H:27,900
BEAFE [HEECHH)| JAL JAL 24,800 62% | A:23,600. H:26,400
ABRUEFD|  JAL JAL 29,200 57% | H/K’K:28,700. H:29,300
==& WkH  [RECHHE)| JAL JAL 24,000 64% | A:22,800. H:24,300
ABRUEFD|  JAL JAL 30,500 55% | /H:30,100
FEFE  [EECHHE)| JAL JAL 23,300 65% | A:22,300. H:24,800
ABRUEFD|  JAL JAL 30,500 55% | H:30,300
W=ERS i HECHHE)| JAL JAL 21,600 68% | H:21,200
AR (B JAL JAL 27,600 62% | H:29,200
ERER |EECHHA)| JAL JAL 23,500 66% | F1:24,400, A:23,200, H:24,800
KRR (B JAL JAL 27,900 61% | H:30,500
W =x1E W% [RFECHHE)| JAL JAL 40,000 56% | 7K A:39,600
AiEH [HRCGEEH)| JAL JAL 40,000 56% | /KA:39,600
&E=HE & AR (RFD|  JAL JAL 24,000 61%  H:23,900
HE AR (B JAL JAL 23,900 61% | H:26,300
&=l WEH | KERUEEF| JAL JAL 22,100 63% | H:22,000, H:24,100
ALFE | KRG JAL JAL 22,300 63% | H:23,300
i&E=xX% WEF | RKBRUFFD|[ JAL JAL 23,900 62% | H:24,400
An% [ KERUFFD| JAL JAL 22,300 64% | H:21,700
& =R (= AERREFD | JAL JAL 26,200 62% | H:25,800, H:30,200
RiE% [ XRUFD| JAL JAL 27,100 61% | H:26,700. H:30,200
& =8ExX = AERREFD | JAL JAL 25,500 62% | 7KA:24,300, H:26,200
A% [ KIRUFFD| JAL JAL 25,000 63% | A7K7:24,500, H:25,300
& ==& (= AERREFD | JAL JAL 28,300 58% | H:27,100, H:29,700
EiEs [ KERUFFD| JAL JAL 29,200 56% | H:28,000, H:31,700
WE=ERS = AR (RFD|  JAL JAL 25,300 64% | H:28,200
EREH |KRUF)| JAL JAL 26,200 63% | H:31,400
FR=HE s | RKERUFFH|[ JAL JAL 23,800 60% | H:22,200
HE AR (EFD| JAL JAL 22,200 62% | H:23,800
FiR=wml g | KERUFF| JAL JAL 20,900 64% | H:20,800. 7K A:20,400, H:21,700
WILFE [ KRUFF)| JAL JAL 21,100 63%  JK7:20,600. H:20,400
FR=X #Fin% | KERUFFD|[ JAL JAL 23,500 61% | 7K#A:23,400, H:22,000
An% [ KERUFFD| JAL JAL 21,800 64%  JK7:21,300. H:20,700
wR=REB R [AERUEFFD[ JAL JAL 23,600 65% | H:23,200, 7K A:23,100, H:24,500
FiE% [ XERUFFD| JAL JAL 25,400 62% | H:25,000. H:27,600
FR=REX s | RKERUFFD|[ JAL JAL 25,100 61% |7k H:23,800
A% |[KIRUFFD| JAL JAL 22,200 66%  JKA:21,700. H:22,400
wR=E& EH%  [KERUEFFD[ JAL JAL 25,700 60% | F:24,500, 7K A:25,200, H:26,600
EiE% [ KERUFFD| JAL JAL 27,500 58% | H:26,300, H:29,100
FR=ERE s | RKERUFFH|[ JAL JAL 26,100 62% | 7KA:26,000, H:25,500
EREH |KRUF)| JAL JAL 24,100 65% | H:28,800
M= A [RFERCHE)| JAL JAL 21,000 67% | H:20,900. 7K A:21,500, H:21,700
FELFE [EFERCHEE)]| JAL JAL 21,300 67% | JK:21,600, A:21,000. H:20,200
IMR=IEE MAF [REGIE)|] JAL JAL 23,700 64% | JK:24,000, A:23,300, H:22,400
LE%¥ |ERERCHA)] JAL JAL 22,700 65% | JK:23,000, A:21,800. H:22,100
IMA=LOFE MAFE |ERFERCHHA)| JAL JAL 19,600 72% | B:19,500, 7K:20,100, 7:18,200, H:24,600
WWOF8%E |[RRCHEA)| JAL JAL 19,900 71% | A:18,200. H:24,000
IMR=HE A |RFERCHE)| JAL JAL 26,800 57% |7K:26,600. A:25,900, H:26,700
HEH |[ERCRE)| JAL JAL 27,100 57% | 7K:26,800. X:25,900. H:27,200
IMA=TES MRS |ERFECHE)|[ JAL JAL 21,500 66% | H:21,400, 7K:22,000, 7:20,800, H:23,000
EEF |EHERCHHA)| JAL JAL 20,900 67% | JK:21,400. A:21,100. H:19,600
IMNA=TFH MAFE |ERFERCHHA)| JAL JAL 24,400 62% K:22,700
=% |[ERERCHEA)| JAL JAL 24,400 62% | A:22,700. H:24,200
ME=2H MRF  [REGIE)|] JAL JAL 22,100 66% | H:22,000. 7K:22,600, A:20,600, H:23,000
=% |EHERCHEA)] JAL JAL 24,100 63% | JK:24,400. X:22,400. H:23,600
MR= MAF [REGIE)|] JAL JAL 24,900 63% | 7K:25.200, A:23.200, H:25,100
WILFE [ERERCHA)| JAL JAL 25,300 62% | JK:25,800, A:23,200. H:23,100
MR=JEAM MAF [REGIE)|] JAL JAL 24,400 66% | F:24,300. 7K:24,900, A:23,300, H:27,600
dEAME |RFECHAA)| JAL JAL 22,700 68% | JK:23,000, &:21,700. H:25,600
IMR=K5) MRF  [REGIE)|] JAL JAL 23,500 67% | 7K:23,800, A:23,600, H:25,800
An% [ERGH)]| JAL JAL 23,500 67% | H:24,000. 7k:23,800. H:25,000




[E#HE|5128 EER (3A27B~3AINBEED)

=41 Bmitd HERM . 3/27-3/31 ZIJE?Z’? &
N =FIG MK [EFECHE)| JAL JAL 23,500 68% | JK:23,800. A:24,500. H:25,800
RIE% |EFECHEA)| JAL JAL 22,600 70% | F:22,800, A:22,200, H:23,800
INA=RER NnFE  [RFECHE)|  JAL JAL 22,900 68% | H:22,800. 7K:23,400, A:23,600, H:25,400
AR |HECHH)| JAL JAL 23,500 67% | 7K:24,000, A:23,600, H:25,000
INR=Z I MK [EFECHE)| JAL JAL 22,700 68% | H:23,100. 7K:23,000, A:22,000, H:25,400
FWEE [EFECHEH)| JAL JAL 22,000 69% | H:22,400. /K:22,300, A:21,300, H:23,800
INR=EIRE AFE  [EFECHEE)| JAL JAL 17,500 77% | H:19,700
EERERX |HECHHA)| JAL JAL 18,500 75% | H:20,500
INA=EH NAFE PR ERE) | JTA  [JTA/RAC| 32,200 54% | H:32,300, 7k A:32,000, H:32,600
EhE ShfE GIRER) [JTA/RAC|  JTA 34,100 51%  H H:34,300
IMNA=FR1E INAFE [EECEE)| JAL JAL 38,600 61% | H:39,200
SPEE(BRER)|  JTA  [JTA/RAC| 32,600 57% | JKA:32,500, H:33,100
AEF [EECHH)| JAL JAL 38,600 61% | JK7K:38,200, H:39,200
SPEE (BRER) |UTA/RAC|  JTA 34,400 55%
EiL==& FELEE  [P#FEBE) | JTA [JTA/RAC| 30,300 52% | H:30,500, 7K A:30,200. H:30,800
EO%  [PEGE) [JTA/RAC]  JTA 30,300 52% | H:30,500, 7K A:30,200, H:30,800
FITEEE FELEE  [P#FBE) | JTA [JTA/RAC| 30,800 55%  |7K:30,600. &:30,700. H:31,400
hiE% R4 (BE) [JTA/RAC| JTA 30,800 55% | H:31,000, 7K A:30,600, H:31,200
B ==& =A% 12 JAL JAL 21,700 60% | H:23,300
EGEA 1= JAL JAL 21,700 60% | H:22,600
B RER) =FH [RGB FE[EZCIE)| JAL JAL 31,200 64% | F:30,000, 7k A:31,600, H:33,100
AR (RFD|  JAL JAL 20,500 76% | H:23,200
EHE  |[RE@HE)]| JAL JAL 26,700 69% | H:26,600
AR (R JAL JAL 20,500 76%  H:21,900
B (RER) ==iR [fh#E(BRER) F|/FCRE)|  JAL JAL 31,900 63% | H:31,000, H:32,200
=R%¥ |HWECHH)| JAL JAL 27,800 67% | H:23,600
AR (IS =FAE B (BB F|EH(CRE)| JAL JAL 31,300 61% | H:30,100, 7K:31,700, A:32,200, H:28,000
ABRRFD | JAL JAL 22,300 73% | H:20,900, H:24,900
MEFE [ERERCEH)| JAL JAL 29,400 63% | JK7:29,800, H:23,700
ABRRFD | JAL JAL 21,500 74% | H:19,900, H:22,900
AR (IRE) =165 [ (BB F| KR (FEFD|  JAL JAL 27,400 68% | H:29,400
12 JTA JAL 36,400 59% |/K:35,900. A:36,500, H:37,900
EEHR | KRUFD| JAL JAL 26,600 68%
12 JAL JTA 36,400 59% | JKA:35,900, H:37,900
AR (IRER) = LTy [h#B(FRER) | R (CRE)| JAL JAL 27,700 61% | F:26,800. H:28,400
AR (RFD|  JAL JAL 25,700 68% | H:27,200
WWifz%  |[EZECRE)| JAL JAL 24,500 65% | H:24,200
ABRRFD | JAL JAL 24,800 69%
R RE) =Ile [FREEBR | EE JTA JAL 32,800 62% | H:32,400. 7K:32,300, A:32,900. H:36,800
ABR(EFD|  JAL JAL 20,800 74% | H:21,300
& 12 JAL JTA 34,400 60% | F:33,600., 7k A:33,900, H:37,500
AR (RFD|  JAL JAL 22,700 71% | H:23,100
AR (IRER) =/ [h#E (FRER) | R (CRA)|  JAL JAL 27,000 65% | JK7:27,300, H:27,500
MRS |ERFECHE)|[ JAL JAL 23,100 70% | H:22,900
RS =5/ MR | EE JTA JAL 25,900 59%
=R 1= JAL JTA 25,900 59%
AR (RS =L R RER) | EE JTA JAL 24,100 60%
[NIIE: Fei] JAL JTA 24,100 60%
BERCPR) =EZXS|RRCAR K| ERE JAL JAL 28,400 63% | A:28,300. H:31,900
AR (D] JAL JAL 23,800 67%  H:23,300
EEREHR | ERE JAL JAL 28,600 62% | F:30,400, #:28,300, H:31,500
KRB (FFH | JAL JAL 25,400 65% | JKA:26,000, H:24,300
RR(PH) =ERE(RRIEH| ERE JAL JAL 24,100 68% | A:24,000, H:27,200
TEKRE | UAL JAL 26,500 60% | A:24,100. H:27,300
EREH BIRE JAL JAL 23,600 68% | H:26,400, A&:23,500. H:28,000
TEKE | JAL JAL 26,800 60% | A:20,800
BRCAR) =#ZzB|RRZCAR) | BIRE JAL JAL 25,100 69% | A:25,000, H:28,600
TEKE | JAL JAL 28,700 59% | A:26,300
(A% ERE JAL JAL 25,100 69% | H:27,900, A:25,000, H:29,000
HRE(PE) =#XBH[EECHH)%| ERE JAL JAL 25,400 68% | A:25,300, H:28,500
HKBEFE | ERE JAL JAL 25,400 68% | F:28,200, A:25,300, H:29,300
RRCHA)=5%# [RECAE) | ERE JAL JAL 26,300 68% | A:26,200. H:29,400
5m% BERE JAL JAL 26,300 68% | H:29,100, %:26,200, H:30,200
AR (B =BEXB | XR(EMFE| ERE JAL JAL 27,100 56% | H:27,000, H:28,200
BEEAEHR | BES JAL JAL 26,300 58% | H:28,300
KRFF =R | KRFMF| EREE JAL JAL 23,200 62% | H:23,800
BERE | JAL JAL 20,300 63%
EREH EIRE JAL JAL 22,300 63%  H:24,300
1 |#®EXRE| JUAL JAL 21,300 61%
KRFF =25 [ XREFFH| EREES JAL JAL 24,600 63% | H:24,200, H:24,800
EZEH ERE JAL JAL 23,800 64% | H:25,800
BEXRE | JAL JAL 23,500 60%
KR () =k B | KRB | BRE JAL JAL 24,500 63% | H:25,100
HAKBREE | BRE JAL JAL 24,100 64%  H:26,100
KR (R =5 | KER(BFE| ERE JAL JAL 25,800 62% | F:25,400, H:26,000
BEXRE | JAL JAL 27,100 59%
5% BERE JAL JAL 23,500 66% | H:27,000
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P gmp@ | HERH | ¥27731 Zﬁﬁ_ﬁ ez
R EESE PN [k ERE JAL JAL 21,400 59% | H:22,600
| 0 | mxXER| BERE JAL JAL 21,400 59%
BE=E/5 [HRES BEKRE | JAL JAL 23,600 53%
| 0 | =ERE® | ®EXE | JAL JAL 23,600 53%
ER=1Ez5 FFES BIRE JAL JAL 18,900 67% | H:19,300
BEXE | JAL JAL 25,800 53%
EZEH ERE JAL JAL 18,900 67%
BERE | JAL JAL 25,800 53%
ER=5H 5% BERE JAL JAL 20,100 66%
BERE | JAL JAL 29,400 52%
RRCHE) =5ME|ERCAEX| #"iE JAL RAC 38,200 54% | JkK:37,800. H:38,700
SMEH |hEEGRHE)| RAC JAL 26,900 68%
AiE RAC JAL 38,200 54% |k K:37,800. H:38,700
ARUFFD =5E| SPEFK [H#EGERFH)| RAC JAL 23,900 69% | H:25,900
KBx (BET8) =5AE | KR () X| HiE JTA RAC 34,400 51% | JKAK:34,300. H:35,000
SMER B GRHE)| RAC JTA 29,000 62%
AiE RAC JTA 32,600 54% | JkA:31,000. H:33,800
&EE (P =5BE25E(FH %] A\ JTA RAC 38,200 50% | 7KA:37,700, H:39,000
SMEH [HEFEH)| RAC JTA 32,300 60%
fiE RAC JTA 38,200 50% | 7KA:37,700, H:39,000
& =53 E SaEH |48 @ERFH)| RAC JTA 25,800 63%
IR (e = S E T4 (M3 &| Aim  |JTA/RAC| RAC 9,700 76%  |7K:9,100, &:9,200. H:10,200
EREH AiE RAC _[JTA/RAC 9,400 77% | H:9,600, /KK:9,100, H:9,900
RRERCPHE) =AXES[RECHAE) R A#E G| JAL [JTA/RAC| 20,100 68% | H:20,200
AKEHE [HBGRE) |mutarc]  JAL 23,600 62% | H:24,900
KR (FFH =AKE [ KR (FFH R[4 GRER) | JAL [JTA/RAC| 19,900 63% | 7KA:21,900, H:19,200
AXEHE [HBGRE) |murarc]  JAL 19,900 63%  JK7A:22,000. H:25,900
KR (BEFE) = AR5 | KB (BFE) R[4 (BRER) | JTA [JTA/RAC| 26,200 52% | 7K:25,700, A&:24,100, H:23,400
AKEH [HEBEBE) |avarac] JTA 26,200 52% | JKAK:24,100. H:27,300
AEEB (P =AKE|[2EE (P R AEGRE)| JTA [JTA/RAC| 31,100 48% | H:31,800, 7K7:29,000, H:31,700
AKEH [HEBERE) |avarac]  JTA 29,900 50% | H:30,400. %:30,000. H:30,300
BR=AKXE Em%E  [PE@F)| JTA [JTA/RAC] 22,500 52% |7k A:22,400, H:22,900
AKEH [HEBERE) |avarac] JTA 22,300 52% | JKAK:22,200. H:22,600
RRCHA) =R [RECHE) | XREFET)| JAL JAL 20,800 61% | H:20,500, 7K:21,100, A:21,600, H:19,000
HE JAL JAL 25,100 49% | H:25,600
IRl | KERGEFD|  JAL JAL 19,900 63% | 7KA:20,500, H:19,300
HE JAL JAL 26,300 47% | JKA:25,800. H:26,700
PR (RER) =#in PR GRE) | KR (FFD|  JAL JAL 20,300 74% _ 7KA:19,800
FinFE | KRURFD| JAL JAL 20,100 74% | JKZK:19,600, H:20,900
B =R TR | EEFE [HZECHE)| JAL JAL 28,800 66% K:31,300, H:31,900
HIREFFR) [ HFCHE) | JAL JAL 30,100 65% | A:29,700. H:36,600
EH=amal EHE  |ARETE)| JAL JAL 17,800 67% | H:18,600
ZimplF |[HREFH) | JAL JAL 17,800 67% | A/KA:18,800
FE=%E5 FEFE  [ARETHR)| JAL JAL 19,500 66% | H:19,000, H:19,900
ZimplF |[AREFH) | JAL JAL 19,500 66% | H:20,000. H:18,800
BEE (R =%L(85E (P H[ERCHE)|  JAL JAL 21,400 69% | 7K:21,200, A&:21,000
HHEHE |[RFERCAH)| JAL JAL 21,700 69% | A:21,000, H:21,800
BHE(RE) =) [£EE () H[FERCHE)|  JAL JAL 20,500 71% K:20,200
MBI  [RREGIHE)| JAL JAL 17,800 75%  |7K:17,200, AK:17,100, H:19,000
ER=%E5 =M% |EFECHE)| JAL JAL 27,400 68% | A:24,800. H:30,300
ZiEnlFE |RECRAE)| JAL JAL 29,100 66% | H:29,900. 7K:28,000, &:25,700, H:30,500
EmE=%E5 mEH |EFERCHE)| JAL JAL 25,900 70% _ |7K:25,700, A:23,200, H:27,800
ZimnlFE |RECRAE)| JAL JAL 26,900 69% | H:27,700. 7K:25,800, A:23,800, H:28,700
Ko =2 hl Ao  |EFECHHA)| JAL JAL 23,400 75% | H:24,400
ZimBFE |EFERCAA)] JAL JAL 23,400 75% | H:24,400
RI& =25 RIS |EFECHHAE)| JAL JAL 23,900 75% | H:25,000
ZimBFE |EFERCAA)] JAL JAL 23,900 75% | H:25,000
BEAR=%im3 BEAH |HECHH)| JAL JAL 23,900 75% | H:25,000
ZimBFE |EFERCAA)] JAL JAL 23,900 75% | H:25,000
=i =25 3l EIEH  |RECHH)| JAL JAL 23,900 75% | H:25,000
ZimBFE |EFERCAA)] JAL JAL 23,900 75% | H:25,000
ERE=%ximjl EREH [HRFECHHE)| JAL JAL 23,900 75% | H:25,000
ZimBFE |EFERCAA)] JAL JAL 23,900 75% | H:25,000
HIREF TR =EEZXB AR F TR X[ FERCHE) | JAL JAL 34,000 65% | A:31,800, H:32,900
BEREH [FEHRCHAH)| JAL JAL 34,000 65% | A:29,200. H:34,600
EH=EBEKRE EH%E |EFERCGHHA)| JAL JAL 32,900 64% | A:30,500, H:33,400
BEREH [HEHRCHAH)| JAL JAL 33,600 64% | JK:34,000, &:29,200. H:34,200
ME=.%XS A |EFECHHE)| JAL JAL 35,300 59% |/K:35,700, A:33,300, H:29,500
BEREH [FEHRCHAH)| JAL JAL 33,700 61% | JK:34,100, A:29,800. H:29,100
IMA=BEXS AT |EFECHHE)| JAL JAL 29,000 65% | A:26,600. H:28,600
BEREH [HEHRCHAH)| JAL JAL 29,000 65% | A:24,200. H:28,600
WOFE==8IF% | LOFHE |BRCHA)| JAL JAL 26,000 71% | A:21,900. H:31,300
fIpEFE |ERERCHEAE)| JAL JAL 25,400 71% | A:22,400. H:30,200
= =8I =% |EFECHE)| JAL JAL 27,000 68% | A:24,300. H:29,400
fIpEFE |[ERERCHEA)] JAL JAL 29,500 65% | A:25,900. H:30,000
EE =35 HEH |RFCHEA)| JAL JAL 26,100 69% | A:22,400. H:26,900
fipEsE  |[ERERCGEHA)] JAL JAL 27,300 67% | A:24,000, H:28,200
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X ] #ind® 5 3/27-8/31 | gyaim &%
Ko =8I AP%F [EHRCHEH)| JAL JAL 22,400 75% | H:23,400
HIpRFE |[HECHHE)| JAL JAL 22,400 75% | H:23,400
RI&=48I& Eig% |ERCHAE)| JAL JAL 22,900 76% | H:23,900
HIpRFE |BEECHHE)| JAL JAL 22,900 76% | H:23,900
REA =1 BEA% [HFERCAH)| JAL JAL 22,900 75% | H:23,900
HIpRFE |HEECHHE)| JAL JAL 22,900 75% | H:23,900
EEEETS =% [RFERCHAH)| JAL JAL 22,900 75% | H:23,900
HIBRFE |HECHHE)| JAL JAL 22,900 75% | H:23,900
BRE =1k BEREH [HERFECHHE)| JAL JAL 22,900 76% | H:23,900
HIpRFE |BECHHE)| JAL JAL 22,900 76% | H:23,900
LEE=%h LE%¥ |ERERCHA)] JAL JAL 28,000 67% |7K:27,500. A:26,200. H:30,300
wmLhFE  [HECHHE)| JAL JAL 27,100 68% | A:26,100, H:27,200
B =%k =% |EFRCHE)| JAL JAL 28,100 66% | A:26,000. H:32,100
wmLFE  |[HERECHHE)| JAL JAL 29,900 64% | A:26,900. H:30,000
mE=%h EEFH |EHERCHHA)| JAL JAL 26,400 68% | A:24,500. H:29,600
wLFE  [HERECHHE)| JAL JAL 27,700 66% | A:25000, H:28,200
AP =%k An% |[RFERCAH)| JAL JAL 22,000 75% | H:23,000
wLhFE  |[HEFECHHE)| JAL JAL 22,000 75% | H:23,000
RBE=5A EE% [ERRCHA)| JAL JAL 22,500 76% | H:23,500
wmLFE  [HEFECHMHE)| JAL JAL 22,500 76% | H:23,500
RERA=Fh BEAE [EFECEHE)| JAL JAL 22,500 75% | H:23,500
wLhFE  [HEFECHHE)| JAL JAL 22,500 75% | H:23,500
BIE="5 EEFE  [EFRCHEE)| JAL JAL 22,500 75% | H:23,500
wLFE [HEFECHHE)| JAL JAL 22,500 75% | H:23,500
ERE=%k BEREH [HERFECHHE)| JAL JAL 22,500 76% | H:23,500
wLFE  [HRECHHE)| JAL JAL 22,500 76% | H:23,500
B =4 MBI  [RREGIHE)| JAL JAL 26,800 68% | JK:26,200. A:23,800. H:28,000
=%  |EFERCHE)| JAL JAL 27,100 68% | H:27,900. A:26,000, H:30,100
HEE == BEEF |EHCHE)| JAL JAL 29,400 61% JK:28,100, A:25,200. H:30,800
BHFE  |ERERCHHA)| JAL JAL 26,500 64% K:24,100, H:27,400
HE=ES BEEFE |EECHE)| JAL JAL 27,200 64% |7K:25,900, A&:23,300. H:29,000
EEFE |ERECHHA)| JAL JAL 24,800 67% K:22,600, H:24,900
EHEE=ILAFE BHEHR [REHE)| JAL JAL 25,300 68% |7K:24,000. A&:21,700. H:31,000
WOFERFE [RFECHHE)| JAL JAL 24,300 70% K:21,700, H:29,300
RRECHA)=HF [EECAHE) #| XiE JAL JAL 16,400 71% _ |7K:16,300, A:15,700, H:19,300
R E JAL JAL 20,300 64% |JK:19,000, A:18.400. H:23,000
KR () =B8R B % BRER JAL JAL 21,900 66% |7K:23,100, A&:24,100, H:25,400
PRE(RHR) =8 MEGBRR| &E JTA JAL 25,700 59% |/K:25,200, A:25,800, H:27,400
EEF & JAL JTA 25,100 60% | 7K7:24,600, H:27,100
EN=1E5 ABJIE |EHEFECHH)| JAL JAL 26,200 69% | H:26,400, 7K:24,800, A&:23,600, H:27,700
EEFH |EHERCHHA)| JAL JAL 25,400 70% | F:26,200, A&:24,100, H:27,600
HBJII=XK5 BIIZE |ERFECHE)| JAL JAL 21,400 76% | H:22,400
Xo%F [EHRCHEH)| JAL JAL 21,400 76% | H:22,400
AR (EER) =RFR [ALIR(EE) R HEE JAL JAL 17,600 54% | H:14,600
B3 B JAL JAL 17,600 54% | H:14,600
HIEE = EREE R 3 LiR (EEE) [ JAL JAL 19,700 57%
R R LR (EE)|[  JAL JAL 19,700 57%
HE==R =iR% LiR (EZE) [ JAL JAL 23,700 54%
FFR =EKEE FRF LR (EE)[  JAL JAL 23,700 50%
Fil = SI3% FIRF LiR (EEE) [ JAL JAL 23,700 54%
wox&H=meN [ LOFHE [FRRCHEAE)| JAL JAL 25,300 72% | FB:26,100, %:23,600, H:32,000
fBJISE  |EFECHE)| JAL JAL 25,400 72% | 7K:24,000, A&:22,300, H:29,800
ERE=hI BEREH [HEFECHHE)| JAL JAL 21,900 77% | H:22,900
MBI |EFECHE)| JAL JAL 21,900 77% | H:22,900
Ris=HeJIl FE% [RERGIHE)| JAL JAL 21,900 77% | H:22,900
MBI  |EFECHE)| JAL JAL 21,900 77% | H:22,900
BE=7B)Il EiE%  [HRCGHE)| JAL JAL 21,900 76% | H:22,900
fBJISE  |EFECHE)| JAL JAL 21,900 76% | H:22,900
RRERCHEA)=XE [HRCAE | &EX JAL JAL 19,800 64% | A:19,400, H:21,800
KEHX S JAL JAL 19,500 65% | H:20,000, 7K:19,800, A:19,400. H:21,800
ER(HE | & JAL JAL 24,200 60% | H:27,500
KEH 12 JAL JAL 26,500 57% | A:26.600, H:28,900
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HERH _ E—o#
=475 d=20: Q) = 5 3/27-3/31 2= #E
KR (FFH =XE [KEREFDFE| EX JAL JAL 17,000 58% | H:16,900, 7KA:16,300, H:16,100
KEHX S JAL JAL 16,800 58% | H/KA:16,300, H:16,100
AR(EFDE|  EE JAL JAL 18,900 57% | H:20,000
KEHK 1= JAL JAL 18,900 57% | H:20,800
R FFR) =XRE[{LRFTRE|]  EH JAL JAL 26,800 66% | H:32,400
REHK 1= JAL JAL 26,800 66%  H:26,100
BEXE=/HKRE| BEXBE | #EZE JAL JAL 11,900 57%
HKBREK | ErE JAL JAL 11,900 57%
BeE=HRMBHE) | EzE% | FKkBEH | JAL JAL 15,600 56%
B (RER) | OKRER | JAL JAL 15,600 56%
RR(PH) =@FES[REZHE)%| ERE JAL JAL 22,100 64% | A:22,000, H:25200
BEXEH ERE JAL JAL 21,400 65% | H:22,300, A&:21,100, H:24,700
HRCHAR) =BAB|EZCAE)%| EBIRE JAL JAL 22,000 65% | H:25,500
BAEH EIRE JAL JAL 21,200 66%  H:26,000
KR (B =BAS|KR(FEMFE| ERS JAL JAL 21,200 57% | A:20,800, H:21,800
BEAEH EIRE JAL JAL 20,800 58% | H:22,800
BR=EBAS [HRES ERE JAL JAL 16,700 58% | H:16,200
BAEH EIRE JAL JAL 15,000 62%
ER=ET5 [k BERE JAL JAL 15,200 60% | A H:15,600
BFEH ERE JAL JAL 14,200 63%
LEE=1BI LB |ERERCHHA)| JAL JAL 27,000 68% | H:27,800, 7K:26,800, #:25,800, H:28,300
MBI |EFECHE)| JAL JAL 26,600 69% | 7K:25,200, A:24,100, H:28,000
wIL==& [NIIES 12 JAL JAL 19,300 62% | H:18,900
HIGFE 1= JAL JAL 18,500 64% | H:20,100
R B =—EEZXBFREBMHRE| 5% RAC JAL 20,500 48%
EEIN-F.d 5% JAL RAC 20,500 48%
HFR = ERFE |FR(EER)| JAL JAL 18,000 59% | H:15,000
HEER [ALIREZH] JAL JAL 18,000 59% | H:15,000
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XFE E—o8#
) #aih® 5 41-4/13 | el "%
RRCHE) =2 |HRCHA) S| 94 (%) | HNDOKA|OKAMMY| 21,100 68% | A A:21,200, £ 1£:27,000, H:23,300
Eo% | % (%) [MMYOKA| OKAHND| 23,200 65% | H:23700, %:26.100, £:25500, H:27.100
HRE(HE)=FRE |RRCRAE) % F# (FBFH) [HNDOKA| OKAISG | 21,500 71% 27,400, H:23,700
KB (B#E) | HNDKIX | KIXISG 36,600 55% 36,800, H:35,700
FiEF% | F#8(IBF) | ISGOKA [OKAHND| 23,800 67% :24,100, £:26,500, F:25,700. H:27,300
KBR (A =% Bl | KBR (5 % | 3 (E) | ITMHND [HNDMMB| 22,700 69% | H:22500. A:22,300. %:24,600. t:24,800. H:23,200
IR T | [TMSPK [ SPKMMB| 23,000 68% | %:26,900, £:28,500, H:24,200
ZimAlF SR (FH) [MMBHND| HNDITM 22,800 69% [A:23,200., % H:24,600, 1:22,000
#LIR(FF5&) | MMBSPK| SPKITM 24,000 66% . H:26,900
KB (B8TE) = % Bl | ABR (BS#8) % | 3 (FH) | KIXHND [HNDMMB| 19,900 73% |4
#LIRFFm) | KIXSPK | SPKMMB| 20,400 72% |3
ZimAlF | SR (FIH) [MMBHND| HNDKIX 21,800 70% |4
IR (FF5&) | MMBSPK| SPKKIX 20,000 72% |£:22,200. £:19,800. B
KB (FRFH) =heJIl [ KB (7 % | B (M) | ITMHND [ HNDAKJ | 23,500 67% H:23,900, £:24,800, 1:23,400
JBJII% | SR CFIH) | AKJHND [ HNDITM 22,200 69% | A:22,600. %:24,200. + H:23,000
KBy (B87E) =8Il [ KPR (B878) % | 3 (FIMH) | KIXHND | HNDAKJ | 20,800 71% | A A:21,600, £:22,000. £:21,900. H:23,000
JBJII% | SR CFIE) | AKJHND [ HNDKIX 21,200 70% [#:22,000, 1
K () =8IB& | KBk () % | R CFIEA) | ITMHND | HNDKUH| 21,800 69% |4
|| #igE [EZCFME)|KUHHND [ HNDITM 23,000 67% 2
Kz (BE7) =4#IB% | ABx (B7E) 5 | SR CRIEA) | KIXHND | HNDKUH 18,300 EE
$IEE% | sm CFIH) | KUHHND [ HNDKIX 21,400 69%
KM () =5 | KB (1) % | R CRIEA) | ITMHND [HNDOBO| 24,300 65% |-
#[L%¥ | =m(FHE) | OBOHND| HNDITM 24,000 66% 4
KWz (B8TE) = /5 | ABR (B7E) % | R CFIEA) | KIXHND [HNDOBO| 21,200 T E
#L%¥ | =m (FIHE) | OBOHND| HNDKIX 22,400 68% & +:22,800. B:24,500
K (FF}) =B | KBR (1) % | R CFIEA) | ITMHND |HNDHKD | 21,100 66% . 23,100, +:22,700. H:21,200
BifER | (FIH) [ HKDHND | HNDITM 22,300 64% |4 21,400, H:24,400
Kix (BE7E) =B | ABR (B878) & | IR CFIMA) | KIXHND | HNDHKD 19,300 69% |4 H:20,300
BUfESR | (FIH) [ HKDHND | HNDKIX 20,700 66% | H:24,600
KB (fFH) ==iR [XBR(FFH %[ R (FA) | TMHND [HNDMSJ| 23,500 60% B:21,300
=R%¥ |®==(FH)|MSJIHND [ HNDITM 23,200 61% + H:22,400
ABx (B87) ==iR | ABR (B % | R (M) | KIXHND [ HNDMSJ| 20,200 66% %21, 21,100
=R%¥ |®==®CFH) | MSJHND [ HNDKIX 21,600 64% |%:23300. £:22,200. H:22,600
KB (D) =[R2 | KBk (FRFD % ITMIZO | 1ZOOKI 14,400 60% Jk A%+ H:14,800
ETES = OKIIZO | 1zOITM 15,100 58% |/KAK%: H:15500, £:15900
KB () =78 [ ABR(FMHHX] BEE | [TMKOJ [ KOJTNE| 21,700 52% | HKA:21500. £:21,900. F:22500. H:21,600
BYER FE'RE | TNEKOJ [ KOJITM 22,000 51% | FA:21,800. 7K:21,600. £:22200. F:21,200. H:22,600
KR () =28 | KB (R 5| 948 BRF) | [TMOKA |OKAMMY| 24,600 58% | H7:24,700. £:25,500. 1:26,200. H:24,200
Eo % | ## BT [MMYOKA| OKAITM | 24,600 58% | FH:24,700. % +:24,300. H:27.900
ABx (BA7E) ==& | ABR (B % | 7448 (IBF) | KIXOKA [OKAMMY| 27,300 54% |7K:27.700. %:28,800. *:29,900
Eh% |48 (FRE) [MMYOKA[ OKAKIX 26,400 55% | H A:26,500. £:27,100. F:25,300. H:29.000
KBr () =F1E [ KRR | F48 (FBF) [ [TMOKA | OKAISG | 25,000 62% |%:25.800. 1:26,500. H:24.800
AiEFK [ (BF) | ISGOKA | OKAITM 24,800 62% | H:26,000
ABx (B87) =H1E | ABR (BIF) % | 448 (IBF) | KIXOKA | OKAISG | 26,800 59% |7K:28,100. A:26,900. %:29,200. *:30,300. H 26,600
AiEF |48 (RF) | ISGOKA [ OKAKIX 26,600 59% | H A:26,500. %£:27.300. H:29,200
R E (PER) =%l | & & E (i) % [ 4LIR B F#%) | NGOSPK | SPKMMB| 16,400 76% |£:25,200. 1:26,000. H:19,000
R % (¥ F#%) | MMBSPK| SPKNGO| 16,000 76% | H:16,400. 7K:17,000, A:16,800. £:20,100. +:19,500. H:20,300
BHE(FE) == [&&E (P#) %[ 748 (FBFH) [NGOOKA[OKAMMY| 31,800 50%
=@ | ##GB%) [MMYOKA[OKANGO| 31,000 52% | HAA#®+ H:31,500
ZEHE(PE) =FR1E |&HE(PE) 5| 748 (GBF) [ NGOOKA[ OKAISG | 31,100 56% | H:31,300. £:31,800
FiE% | P48 (BF) | ISGOKA [OKANGO| 31,600 55%
AL (FTF#%) = /M2 [#LIR 3 F8) % | S CHH) | SPKHND [HNDKMQ| 21,200 67% | A:21,600, %:24,000, £:21,800, H:24,500
3% | &= (FIH) [KMQHND| HNDSPK | 22,700 64% 4 24,400, £:26,500. H:22,200
IR (FTR) =it EUR | ALIR (B F2&) %[ 5 CFE) | SPKHND [HNDSHM| 26,300 63% 4 £:32,300. B:26,800
FIf2EER |Ss CFE) [ SHMHND| HNDSPK| 26,600 63% | A:27.400, %:32,300, £:31,800.
ALIR (BT F#%) =1L [ 4L0R (¥ F#%) %[ SR CRHE) | SPKHND | HNDOKJ | 26,700 63% |k . £:28,500. F:24,400.
FEL% |S=CGHA) | OKJHND [ HNDSPK| 25,500 65% 4 29,300, 1:28,000.
IR (FFm) =/L8 [HLiIREFF%) %| = CHA) | SPKHND | HNDHIJ 27,000 63% 4 24,800, H:28,300
LE%  |#E=(FIH) [ HIUHND | HNDSPK| 26,200 64% | A:27.000. %:30,800. £:29,000. H:24.800
IR (FTR) =L FH | 4L0R (%) %[ 5 CAE) | SPKHND [ HNDUBJ| 23,500 70% |#:25,600, £:22,800. H:29,600
\IO&3% | @ (BA) | UBJHND | HNDSPK| 25,000 68% | A:25,400, %:26,700, £:28,100, H:25,300
ALIR (BT F#%) = E [4LIE FiF5%) %[ SRR CRE) [ SPKHND | HNDIZO 31,000 56%
HEH [HEFCHME)[ IZOHND [ HNDSPK| 31,000 56%
ALIR (BT F#%) =185 [4LIE FF#%) %[ /= CRHE) | SPKHND | HNDTKS | 25,300 65% |%:27.800. £:23500. H:26,500
fEE% |#m(FIH)| TKSHND | HNDSPK| 24,900 65% | A:25,100, %:27,700, £:26,100.
ALIR (FTF5%) == [fLIRFF8) %[ 5 CHH) | SPKHND [ HNDTAK | 27,200 62% | A:27.500. %:29,300. F:26,700.
=A% | 3= CRHE)| TAKHND [ HNDSPK| 27,100 62% | A:27.900. £:31,700. 1
ALIR (BT F#%) == A0 [AL0R (Fi F#%) %[ S CRHE) | SPKHND | HNDKCZ | 27,600 63% |%:29,500. +:23500. H:31,200
=% | #m (FIH) [ KCZHND | HNDSPK | 26,200 65% k- . £:29,800, £:29,700. H:27,000
AL (B F#%) =#21L [#LIR (37 F#) | S CHE) | SPKHND [ HNDMYJ| 28,500 62% 4 28,300, H:33,200
FALLZE | &= (FIH) [MYJHND | HNDSPK | 28,600 62% A 4:31,200, 1:30,900. B:28,700
ALIR (FF ) =JL A [4L0R (B F ) | 5 CFE) | SPKHND [ HNDKKJ | 28,100 65% |%:29,900. 1 . B:33,100
JE A [FE=R (FIE) [ KKJHND | HNDSPK| 26,100 67% | A:26.900. %&:
ALIR (FTF %) =K% [#LIR G F8) | s CHH) | SPKHND [ HNDOIT | 27,700 65% | /28,000,
B CPIE) | OITHND | HNDSPK| 28,900 63% | A:29,300. %&:
AL (FTF5%) = KI5 [fLIR (3 F8) % | 5 CHH) | SPKHND [HNDNGS| 28,200 66% | F:28,800, K
RIG% | 3= (CHHE)|NGSHND | HNDSPK| 28,900 65% |7K:29,000. A:29.400. %31, , 29,
ALIR (BT F#%) =FE A [ALIR (Wi F#%) %[ SR CRHE) | SPKHND | HNDKMJ| 28,000 65% | F:28,100. 7K:28,300. 7 £:30,400. £:29,800. H:31,800
FEA% |®mCRHE)|KMJHND [ HNDSPK| 29,000 64% | A:29,400, %:33400, £:33,700. H:31,200
ALIR (BT F#%) =S 15 [ 4L0R (Fi F#%) %[ SR CRHE) | SPKHND | HNDKMI | 26,700 67% | FKA:27,000. £:29,800. +:28,200. H:32,800
EIE% |S==CHMA) | KMIHND [ HNDSPK| 28,500 64% | F7K:28,100. A:28,900. £:30,300. *:32,800. H 28,200
HIRFHFH) =ERS 4R FFTH) %[ CAE) | SPKHND [HNDKOJ| 26,100 68% | F:28,000. %:29,800. +:29,900. H:33,700
BEREH [E=(FIH)|[KOJHND|HNDSPK| 26,600 68% | H:28900. A:27.200. %:29,900. £:33,000. H:30,600
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#UIR (i F8) =4 (I 8) | #LIR (FF F#%) %[ 3= (M) | SPKHND [ HNDOKA | 25,600 70% % +:34,000, H:31,700
KER (£ | SPKITM | ITMOKA 15,400 82% | F:16,600, %:17,800, £:19,300, H:18,500
£ 2 (P4 | SPKNGO [NGOOKA| 29,100 66% | F1:29,800, %:32,700, £:32,100, H:36,000
B[ | SPKFUK | FUKOKA| 29,400 67% | F1:33,600, %:31,800, £:34,000, H:37,800
%8 (ABF) % | R CAE) | OKAHND | HNDSPK | 26,200 69% | F:29,700, A:27,000, £:35,700, £:29,900, H:34,300
XER (F#F1) | OKAITM | ITMSPK 18,200 79% 0,000, H:21,000
KBR (BHTE) | OKAKIX | KIXSPK 30,200 65% | 4::34,000, £:34,300, H:29,700
%2 (P4 | OKANGO| NGOSPK| 30,000 65% | A%+ H:30,500, K:30,100
OKAFUK [ FUKSPK | 29,400 67% |7/:30,000, %:35,200, +:36,400. H:35000
IR (FTFR) =RE [LREFFH R R SPKHND | HNDISG 41,900 60% | ::42,600, £:42,800, H:44,300
FiEH [EZE(FIHE) [ ISGHND | HNDSPK| 42,100 60% | /:42,400, %:43,800, 1 :44,200, H:44,700
£ 2 (P4 | ISGNGO [ NGOSPK| 36,800 64% | £::38,300, £:39,000, H:42,100
ALIR (BT %) =& e | 4LOR (Hi T %) | & S 2 (9 #6) | SPKNGO [NGOMMY| 41,500 59% | A:41,900. %:45,000, + H:45,500
& = % Al 8% |[HEZ (M) | FUKHND [HNDMMB| 28,800 68% :28,700, 7%:28,400, %:30,700, £:33,100, H:32,300
#LIR (#F®) | FUKSPK [ SPKMMB| 22,200 73%  |%:27,000, +:27,800, H:27,900
ZimBl% 3= (FE) [MMBHND| HNDFUK | 28,300 68% :34,000, £:28,900, H:31,100
MMBSPK| SPKFUK | 21,900 74% :22,900, £:23,200, £:23,700, H:26,000
&R =) 12 F FUKHND | HNDAKJ 29,100 67% | F:29,600, %:30,900, £:31,500, H:32,800
JENES AKJHND | HNDFUK | 25,600 71% | F:26,400, £:31,300 28,400
12 = B 12 F FUKHND | HNDKUH | 27,900 68% | F:28,000, £:29,200, 1:29,800, H:31,000
FEES KUHHND | HNDFUK | 28,500 67% | F:28,600, %:33,800, £:27,900, H:30,600
[N 12 E F FUKHND [HNDOBO| 29,900 65% | F:30,000, %:31,500, £:32,100, H:33,400
HILFE OBOHND| HNDFUK | 29,500 66% | F:29,600, %:35,200, +:28,600, H:30,900
[T FEEES FUKHND [ HNDHKD | 25,600 67% |%:29,200, £:29,400, H:30,300
FUKITM | ITMHKD 24,100 65% |4 +:27,800. H:24,000
HEER HKDHND | HNDFUK | 27,200 65% 127,300, %:29,500, £:27,900, H:30,200
HKDITM | ITMFUK 22,900 67% |/:25000, %:27,600, £:27,000, H:28,600
BE=F% [EEES FUKHND | HNDAOJ| 23,000 70% |$+ H:23,800
FUKITM | ITMAOJ 19,200 71% | A:19,600, £:21,400, £:22,000, H:20,200
EHR AOJHND [ HNDFUK | 23,000 70% |$+ H:23,800
AOJITM | ITMFUK 19,200 71% | A:21,300. £:23,000, £:22,000, H:24,000
mE==iR [ FUKHND [HNDMSJ| 21,000 72% |+ H:21,800
=R MSJHND [ HNDFUK | 21,000 72% &+ H:21,800
MSJITM | ITMFUK 21,500 69% :25,200, 7X:23,600, £ H:29,000, 1:24,900
&R =% E 12 F FUKHND | HNDAXT | 30,000 57% |A:30,200, %:31,300, £:26,000, H:25,100
MER AXTHND [ HNDFUK | 29,500 58% |/:29,900, %:34,700, £:27,600, H:24,800
AXTITM [ ITMFUK 20,400 68% | A:225500, %:24,200, £:23,200, H:25,100
&= 12E 5 FUKHND [ HNDGAJ| 22,700 63% | £:25500, £:22,500, H:26,400
FUKITM | ITMGAJ 21,900 64% | F:23,700, 7k A:20,100, %:22,600, H:20,800
GAJHND | HNDFUK | 24,700 59% |4::26,600, £:27,200, H:22,000
GAJITM | ITMFUK 21,900 64% | F7K:21,300. :23400. £:29,500. +:26.400. H:28,700
&=/ FUKHND [HNDKMQ| 25,600 62% | ::26,700, £:26,100, H:24,700
KMQHND[ HNDFUK | 26,100 61% | A% 1.26,700. H:24,200
EE==5 FUKOKA [OKAMMY| 25,000 51% 3 AK#£:25,100, + H:25,400
MMYOKA[ OKAFUK| 24,900 52% | A A%:25000, £ H:25,100
wmEA=FE FUKOKA [ OKAISG | 25,400 56% | £:25,500, £ H:25,800
ISGOKA | OKAFUK| 25,300 56% | H A= 125400, H:25500
Ziihl =75 MMBSPK| SPKHNA | 22,400 58% | F A:20,600. 7K:20,400. %:22,500, F:21,100. H:24,600
HNASPK [ SPKMMB| 22,100 58% | A JKA:20,400, £:24,100, £:24,500, H:21,100
iRl =& MMBSPK | SPKSDJ 20,100 65% | F A:20,600. /K:21,100, %:21,600. F:19,900. H:21,800
SDJSPK [ SPKMMB| 19,800 65% | ::20,700, £:21,600. H:18,500
SR ) MMBSPK| SPKKIJ 21,400 63% 1,800, H:22,200
KIJSPK [SPKMMB| 22,200 62% :22,700
ESTENIN N MMBHND|HNDKMQ| 21,200 71% :21,700, £:22,000, H:23,500
AN FE KMQHND [HNDMMB| 20,500 72% :20,300, £:23,000, 1:24,200, H:23,500
iRl = R L ESREA MMBHND| HNDOKJ | 25,200 69% | H:25100, A:25,300, %:25,700, £:23,600, H:26,500
[iE] LLI 56 OKJHND |HNDMMB| 24,800 69% | F:24,600, A:24,400, £:25,000, £:26,500, H:25,300
S RN ESTRE MMBHND| HNDHIJ 24,900 70% | F:24,800, £:25,700, 1:24,000, H:26,900
L5% HIJHND |[HNDMMB| 25,100 69% | A 7A:24,900, £:27,000, £:26,200, H:25,300
HIUSPK | SPKMMB| 19,800 74% % +:22,900. H:23,200
iRl =HE SRR MMBHND| HNDIZO 31,900 60% :33,300, £:32,600, H:35,500
IZOHND [HNDMMB| 31,600 60% :31,400, 7K:31,200, %:33,200, £:35,900, H:33,800
iRl =l MMBHND| HNDMYJ | 27,000 68% | F1:26,900, £:28,500, £:25,400, H:30,200
MYJHND [HNDMMB| 25,600 69% | H:25.400, A:25,200, £:26,600, £:28,800, H:28,300
iR =H1E MMBHND| HNDISG 43,600 62% | 4::44,100, £:44,000, H:46,900
ISGHND [HNDMMB| 42,700 63% | 4::44,800, £:44,700, H:45,700
TBII=11Mi AKJHND [HNDKMQ| 20,600 71% :21,400, £:23,000, H:21,900
KMQHND[ HNDAKJ [ 21,300 70% 7K:22,100, £:23,000, 1:22,800, H:24,200
B =rmtHE AKJHND |HNDSHM| 20,300 74% | R:21,100, £:22,600, £:21,000, H:23,300
SHMHND [ HNDAKJ | 27,900 64% | F A:28,700, %£:33,500, £:33,300, H:30,500
B =Rl AKJHND | HNDOKJ | 23,300 71% | F:24,100, £:25,100, £:24,600, H:24,900
OKJHND | HNDAKJ | 23,200 71% | A AK:24,000, £:25,000, £:24,800, H:26,000
BII=HE AKJHND | HNDIZO 31,300 60% | F:31,700, %:33,000, +:33,600, H:33,900
IZOHND | HNDAKJ| 31,800 59% | F:32,400, A:32,200, £:33,200, £:34,100, H:33,800
JETTEEANIT AKJHND [ HNDMYJ | 25,000 69% |£:25,800, £:26,400. H:26,800
MYJHND [ HNDAKJ | 25,800 68% | F:26,200, %::26,800, £:27,000. H:29,000
BII=F1E AKJHND | HNDISG 43,000 62% | £::43,800, £:45,000, H:45,300
ISGHND | HNDAKJ | 43,600 61% | F A:44,400, £:44,800, £:45,200, H:46,400
BTSN KUHHND |HNDKMQ| 20,400 71% | +:21,500, B:21,800
KMQHND [ HNDKUH| 19,600 72% |%:20,800, 1:20,900, H:22,400
g ="FL KUHHND | HNDOKJ | 25,400 68% | A%:25500, 1:24,100, H:25,100
OKJHND [ HNDKUH | 23,900 70% |3 t:23,200, H:24,200
HR=1L58 KUHHND | HNDHIJ 25,100 68% |4 24,500, H:24,900
HIJHND |HNDKUH| 24,200 70% % 22,900
HR=H=E KUHHND | HNDIZO 31,600 59% & 32,200, H:33,900
B CFIE) [ [ZOHND [HNDKUH| 30,700 60% |::31,800, £:32,600. H:32,000
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g =#x1L #IpEF | HZ(FAHE) | KUHHND [ HNDMYJ| 27,200 66% | £:25,900, H:29,700
g3 MYJHND [ HNDKUH| 24,700 69% |4 25,500, H:27,200
HIE=F1E KUHHND | HNDISG 41,500 63% |4 44,500, H:43,600
ISGHND [HNDKUH| 41,100 63% |4 +:41,700, H:44,600
HL=/\ OBOHND[HNDKMQ| 21,400 69% % £:23,200, H:22,100
KMQHND[HNDOBO| 21,600 69% |4 22,600, H:24,600
HR=MRW OBOHND| HNDOKJ| 26,400 66% 4 £:26,900, 1:25,400, H:25,700
OKJHND [HNDOBO| 25,400 68% |4 t:25,200, H:26,400
wh=HE OBOHND| HNDIZO 32,900 57% |4 1:33,800, H:34,200
IZOHND [HNDOBO| 32,600 58% |4 34,700, H:34,900
iR =Hl OBOHND[ HNDMYJ| 28,200 65% |4 +:27,100, H:30,000
MYJHND [HNDOBO| 26,600 67% |4 27,600, H:29,400
Hh=R1E OBOHND|[ HNDISG 43,800 61% |4 45,200, H:44,800
ISGHND [HNDOBO| 44,000 61% |4 44,400, H:46,800
EEIRA HKDHND [HNDKMQ| 19,700 68% |4 21,300, H:22,200
KMQHND [ HNDHKD [ 20,000 67% 119,700, £ H:21,500, £:22,100
AR = Ll HKDHND | HNDOKJ | 23,600 66% 23,900, H:25,800
OKJHND | HNDHKD | 24,300 65% £:23,500, 1:24,400, H:23,300
HE=LS HKDHND | HNDHIJ 24,400 66% 23,400, H:25,300
HIJHND | HNDHKD | 24,600 65% 24,000, 1:24,100. H:23,800
HE=HE HKDHND | HNDIZO 31,200 55% 32,300, H:34,200
HKDITM | ITMIZO 23,100 65% 25,400, H:26,700
IZOHND |HNDHKD| 30,500 56% 31,700, £:33,800. H:31,800
IZOITM | ITMHKD 24,300 63% 27,100, H:24,200
AR =421l HKDHND [ HNDMYJ | 25,700 65% 25,600, H:29,500
HKDITM [ ITMMYJ 23,800 63% +:26,100, H:26,500
MYJHND [HNDHKD | 25,100 65% 26,700, H:26,300
MYJITM | ITMHKD 25,000 61% 27,300, H:24,900
EEE=db A HKDHND | HNDKKJ 26,600 66% +:25,300, H:28,100
KKJHND [ HNDHKD | 25,400 67% 122,500, %:23,800, +:26,500, H:22,300
HEE=X% HKDHND | HNDOIT 21,900 71% &+ H:22,500
HKDITM | ITMOIT 23,600 64% | £::24,900, £:25,900, H:29,900
OITHND |HNDHKD| 21,900 71%
OITITM | ITMHKD 24,800 63%
HE=RIE HKDHND | HNDNGS | 22,400 72% 5]
HKDITM [ ITMNGS | 26,700 64% |::28,000, £:29,000. H:30,800
NGSHND [ HNDHKD | 22,400 72% %+ H:23,000
NGSITM | ITMHKD 27,900 62% |::29,800, £:30,200, H:27,800
HEE=RX HKDHND | HNDKMJ | 22,400 71% |#&+ H:23,000
HKDITM | ITMKMJ 24,000 66% | 4::28,200, £:26,300, H:29,300
KMJHND [ HNDHKD | 22,400 71% %+ H:23,000
KMJITM | ITMHKD 25,200 65% |4::27,100, £:30,100, H:25,100
HE==IK HKDHND | HNDKMI 22,400 71% |#&+ H:23,000
HKDITM | ITMKMI 27,500 61% |4::29,100, £:29,800. H:30,800
KMIHND [HNDHKD | 22,400 71% %+ H:23,000
KMITM | ITMHKD 28,300 60% |4::30,200, £:30,600, H:28,200
HE=ERS HKDHND | HNDKOJ | 22,400 72% |&+ H:23,000
HKDITM | ITMKOJ 26,200 65% | 4::27,600, £ H:28,600
KOJHND [HNDHKD | 22,400 72% %+ H:23,000
KOJITM | ITMHKD 26,600 65% | 4::28,500, £:28,700, H:26,700
HEE=F1E HKDHND | HNDISG 39,900 61% A%:39,800, £:43,000, H:41,000
ISGHND [HNDHKD| 42,100 59% |4::43,300, £:40,900, H:43,700
BHR=/MR AOJHND [HNDKMQ| 14,800 75% H:15,500
KMQHND [ HNDAOJ| 15,300 74% &+ H:16,500
EHR=EitBE AOJHND [HNDSHM| 25,900 62% |7k A:26,000, £ 1:29,600, H:26,500
SHMHND [ HNDAOJ| 26,900 60% |7k A:27,000, £ +:29,600, H:28,900
BHR=RL AOJHND [ HNDOKJ| 24,700 64% |7K:25,800, A:25,900, £:26,500, £:24,000, H:23,000
OKJHND | HNDAOJ| 23,900 65% |7k 7K:25,100, %:26,100, £:23,200, H:23,600
BEHR=L5 AOJHND | HNDHIJ 25,700 63% |7K:25,900, A:26,300, %:26,900, £:23,800, H:23,200
HIJHND | HNDAOJ| 24,900 64% |7k A:25,400, £:27,400, £:23,400, H:24,100
BEHA=WLOFH AOJHND [ HNDUBJ| 21,700 71% KA £:22,800, £:23,600, H:24,100
UBJHND [HNDAOJ| 22500 70% |7k K:23,200. £:24,400, £:23,000, H:24,900
BEHR=HE AOJHND | HNDIZO 29,600 56%
AOJITM | ITMIZO 19,400 70%  |%:19,800, £:20,400, H:22,100
IZOHND [HNDAOJ| 29,600 56%
1IZOITM | ITMAOJ 19,400 70% 119,800, £ H:21,300
EHR=ES AOJHND [ HNDTKS | 20,300 70% H:21,300
TKSHND [HNDAOJ| 20,300 70% H:21,300
EHR=an AOJHND [ HNDTAK| 20,200 70% £ B:20,500
TAKHND | HNDAOJ| 20,200 70% t H:20,500
BHR=m AOJHND [ HNDKCZ | 20,300 71% 1,300, £ H:24,100
KCZHND [ HNDAOJ| 20,300 71% t H:24,000
BHR=L AOJHND [ HNDMYJ| 20,000 72% t H:20,500
AOJITM | ITMMYJ 20,100 67% 0,500, £:21,100, B:21,900
MYJHND [ HNDAOJ| 20,000 72% H:20,500
MYJITM | ITMAOJ 20,100 67% 20,500, £:21,500. B:21,100
BRa=dtam ) [ AOJHND | HNDKKJ 21,800 71% t H:22,600
) | KKUJHND [HNDAOJ| 21,800 71% H:22,600
BEHR=X% ) | AOJHND | HNDOIT 21,700 71% H:22,500
) [ AoJIT™ [ ITMOIT 19,900 69% |4::20,300, £:20,900, H:25,300
)| OITHND [HNDAOJ| 21,700 71% &+ H:22,500
)| oITIT™ [ ITMAOJ 19,900 69% | 7/:20,300, %:24,000, 1 :24,600, H:25500
EHR=RIK ) [ AOJHND | HNDNGS | 23,200 71% |#&+ H:24,000
) [ AOJITM [ ITMNGS | 23,000 68% | ::23,400, £:24,000, H:26,200
K% [3E& (3IHE) [NGSHND | HNDAOJ| 23,200 71% %+ H:24,000
XER () [ NGSITM | ITMAOJ 23,000 68% | A%:23,400, £:24,400, H:24,100
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R RO A a1-an13 | EIH s
A SHEES
BEHR=EX BHFF [EF(JIHE) | AOJHND [HNDKMJ| 21,800 71% |#&+ H:22,600
XER () [ AOJITM | ITMKMJ 20,300 70% |%:23,600, +:21,300, H:24,700
BEA% |[EZE(FHE)|[KMJIHND [HNDAOJ| 21,800 71% &+ H:22,600
ABR () | KMJITM | ITMAOJ 20,300 70% | A#:20,700, £:24,300, H:22,200
EHR=EK BHAFE [EZE(HHE) | AOJHND | HNDKMI 21,800 71% |#&+ H:22,600
KR () [ AOJITM | ITMKMI 23,900 65% | 4::24,500, £:25,500, H:26,200
BEH |EHECHA) | KMIHND [HNDAOJ| 21,800 71% &+ H:22,600
KR (FFH) | KMITM | ITMAOJ 24,200 65% | 4::24,600, £:25,300, H:26,600
EH=ERS BHFAF [EZF(IIHE) | AOJHND [HNDKOJ| 23,200 71% &+ H:24,000
XER () | AOJITM | ITMKOJ 22,500 69% |£::23,000, £:23,600, H:24,000
BERB% |EFCHHA)|KOJHND |HNDAOJ| 23,200 71% &+ H:24,000
)| KOJITM | ITMAOJ 21,700 70% | AR#:22,100, £:22,900, H:23,800
AOJHND | HNDISG 42,000 59% |4 H:43,200, 1:43,800
ISGHND [ HNDAOJ| 42,000 59% |/KA%:42,100, +:42,700. H:44,000
MSJHND [HNDKMQ| 14,800 75% &+ H:15,500
KMQHND[HNDMSJ| 15,300 74% %+ H:16,500
MSJHND | HNDOKJ | 25,600 62% | /:25700, %:26,500, +£:24,000, H:23,500
OKJHND | HNDMSJ| 22,600 67% |%:24000, +:24,200. H:23,200
MSJHND | HNDHIJ 25,300 63% | ::26,500, £:24,400, H:23,600
HIJHND | HNDMSJ| 24,000 65% | 4::24,800, £:24,700, H:23,800
MSJHND | HNDUBJ | 22,600 69% |::23,600, £:23,400, H:24,500
UBJHND [HNDMSJ| 23,000 69% | £::24,400, £:23,800, H:24,500
MSJHND | HNDIZO 29,600 55%
%% CHE)| IZOHND | HNDMSJ| 29,600 55%
XER () | 1ZOITM | ITMMSJ 21,700 67% :25,900, K€+ H:25,800
ZR=%ES IR (B MSJHND | HNDTKS 19,300 71% |#+ H:20,300
TKSHND [HNDMSJ| 19,300 71% %+ H:20,300
MSJHND [ HNDTAK | 19,200 71% &+ H:19,500
TAKHND [ HNDMSJ| 19,200 71% &+ H:19,500
MSJHND | HNDKCZ | 19,300 72% |%:20,300, + H:23,100
KCZHND [HNDMSJ| 19,300 72% %+ H:23,000
E3 B MSJHND [ HNDMYJ| 19,000 73% &+ H:19,500
ENITES im(ﬂﬂﬂ) MYJHND [HNDMSJ| 19,000 73% &+ H:19,500
XILEH?F}) MYJITM | ITMMSJ 22,400 64% 126,600, A% H:26,500, £:26,900
ZR=dc M ZR% |HER MSJHND | HNDKKJ | 19,800 74% %+ H:20,600
EZES KKJHND [ HNDMSJ| 19,800 74% %+ H:20,600
ZIR=X% ZiR% MSJHND | HNDOIT 19,700 73% |#&+ H:20,500
Ko 5 EE OITHND | HNDMSJ 19,700 73% |#+ H:20,500
XILEH?F}) OITITM | ITMMSJ 22,200 66% :26,400, A H:26,300, % 1:30,000
ZR=FI& 5 (F1H) [ MSJHND [ HNDNGS | 21,200 73% &+ H:22,000
(M) [NGSHND | HNDMSJ| 21,200 73% &+ H:22,000
XER () | NGSITM | ITMMSJ 24,500 66% :28,700, K£ + H:28,600
ZIR=8X 5 (F1H) [ MSJHND | HNDKMJ | 19,800 74% %+ H:20,600
FR CFIE) [ KMJHND [ HNDMSJ| 19,800 74% %+ H:20,600
) | KMJITM | ITMMSJ 22,600 68% 126,800, A% H:26,700, £:29,700
1) | MSJHND [ HNDKMI 19,800 74% &+ H:22,600
H [ MSJITM | ITMKMI 25,700 63% | F:29.400, %:30,200, +£:27,300, H:30,600
) | KMIHND |HNDMSJ| 19,800 74% &+ H:22,600
)| KMITM | ITMMSJ 26,500 62% | F:30,700, 730,600, % £:31,000, H:31,100
ZR=ERS 1) [ MSUHND | HNDKOJ | 21,200 73% &+ H:22,000
H [ MSJITM | ITMKOJ 25,100 66% | A:28,800, % H:29,200, +:26,200
) [ KOJHND [ HNDMSJ| 21,200 73% &+ H:22,000
) | KOJITM | ITMMSJ 24,000 67% 128,200, A %:28,100, + H:28,300
MSJHND | HNDISG 43,000 58% | 4::43,800, £:44,400, H:43,600
ISGHND | HNDMSJ| 43,000 58% | 4::43,800, £:44,400. H:43,600
A=/ FEF |[HF(FAHE) | AXTHND [HNDKMQ| 17,200 68% &+ H:18,300
IMAFE i;(mﬂ) KMQHND[ HNDAXT | 17,100 68% |&+ H:17,500
MHE=FiaE AXTHND |HNDSHM| 26,300 57% | H:22,600
=F 3 SHMHND | HNDAXT | 26,300 57% | H:23,000
FE=MRL FUEF |[HF(FAHE) | AXTHND [ HNDOKJ | 26,200 58% | A%:26,300, £:20,200, H:19,200
FELL%E |5z (FIM) | OKJHND [ HNDAXT| 24,500 61% |%::26,300, £:20,400, H:18,900
ME=L% FE% | R (FHE) | AXTHND | HNDHIJ 27,600 56% | A<:28,000, 1:20,600, H:19,300
5% |EZF(HE)| HIUHND [ HNDAXT| 24,900 61% |A:25,200, %:27,800, £:20,900, H:19,500
ME=LOFEH FEF | (FAHE) | AXTHND [ HNDUBJ | 23,300 66% | A:23,700, £:25,200, £:19,600, H:20,200
OFE5% [ HHECAMA) | UBJHND | HNDAXT [ 23,900 65% | A:24,200, £:25,700, £:20,000, H:19,800
ME=HZE #EA% |[EZE(FHE) | AXTHND | HNDIZO 26,300 57%
KR (FFH) | AXTITM | ITMIZO 20,600 65% |£::21,000, £:21,600, H:23,200
HEH# |[EFCHEA)| IZOHND | HNDAXT| 26,300 57%
KR (F#FH) | 1ZOITM | ITMAXT 19,400 67% |%+ H:20,100
ME=ES FUEF |[HEF(FAHE) | AXTHND [ HNDTKS | 20,200 67% &+ H:20,700
5% |HF(FAME)| TKSHND [ HNDAXT | 20,200 67% &+ H:20,700
A= FUEF | (FAHE) | AXTHND [ HNDTAK | 20,200 67% &+ H:20,700
=% | EZ (FE) | TAKHND | HNDAXT [ 20,200 67% |% =+ H:20,700
ME=" FUEF | (FAHE) | AXTHND [ HNDKCZ | 20,300 68% |+ H:20,800
=%0% |BEZ(FAHE) | KCZHND [ HNDAXT | 20,300 68% |+ H:20,800
FE=#L #EF [EF(JIHE) | AXTHND [ HNDMYJ| 20,400 68% &+ H:20,900
KR (FFH) [ AXTITM | ITMMYJ 21,300 63% |:21,700, £:22,300, H:23,000
FAIL%  [ERECRE) [ MYJHND [ HNDAXT [ 20,400 68% |4+ H:20,900
KR (£ [ MYJITM | ITMAXT | 20,100 65% |4 H:20,800, £:21,200
=L FE% | R (FHE) | AXTHND | HNDKKJ 28,100 60%  |%::29,300, £:22,900, H:24,800
dhiNF [EF (M) | KKJHND [ HNDAXT | 25,700 63%  |%:29,500, +:22,600, H:22,800
ME=X% FHEF [EZ(JIHE) | AXTHND | HNDOIT 28,000 59% | A:28,400, £:29,900, £:24,400, H:24,300
KR (FFH) | AXTITM | ITMOIT 21,100 65% | 4::21,500, £:22,100. H:26,400
K% [EZF(FIHE)| OITHND [ HNDAXT| 27,800 60% | A:28,100, £:29,600, £:24,700, H:23,400
AR ([ orTiTM | ITMAXT | 20,800 65% |4 +:24,300, H:28,000
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R RO A a-ans E09 s
(RED | SHEES
ME=RIE FEF [EF(FIHE) | AXTHND [HNDNGS| 28,000 61% | F:28,300, A:28,400, %:29,800, £:24,400, H:23,800
AR (5 | AXTITM | ITMNGS | 24,200 64% | $:24,600, £:25,200, H:27,300
RIG% [EZCHE) | NGSHND | HNDAXT| 27,800 62% |7K:27,900, A:28,200, £:30,000, £:25,100, H:23,800
AR (51 [ NGSITM | ITMAXT | 22,200 67% |%+ H:22,900
ME=FEX FEF [EF(JIHE) | AXTHND [HNDKMJ| 28,800 59% |A:29,200, £:31,000, £:25,600, H:24,300
KR () | AXTITM | ITMKMJ 21,500 67% |4::24,800, £:22,500, H:25,800
BEA% [EZE(3H)|[KMJIHND | HNDAXT | 27,900 60% 4 30,300, £:25,600. H:24,700
KR (FFH) | KMJITM | ITMAXT | 21,200 67% | % 24,000, H:24,700
ME==I FEF [HEZ(JIHE) | AXTHND | HNDKMI 27,200 61% |A: 129,000, £:23,600, H:23,400
KER (FFH) | AXTITM | ITMKMI 25,000 61% |£:25700, £:26,000, H:27,300
EWEF |EFECHEA) | KMIHND | HNDAXT| 27,400 61% 3 7K:27,000, ZK:27,700, %:28,800, +:24,700, H:21,900
AR () | KMITM | ITMAXT | 25,100 61% |£:26,600, £:26,500, H:29,100
MHE=ERS #EF [EF(JIHE) | AXTHND [ HNDKOJ| 26,000 64% | FH:27,500, A:26,400, %:28,400, £:22,000, H:24,300
KER (£ | AXTITM | ITMKOJ 23,700 65% | 4::24,200, £:24,800, H:25,100
= ) | KOJHND [ HNDAXT | 25,400 65% | F:27.900, %:29,400, £:24,900, H:24,300
) | KOJITM | ITMAXT | 22,800 67% % 1:23.800. H:28,000
MHE=R1E ) | AXTHND | HNDISG 40,600 58% | H:39,300
ISGHND | HNDAXT| 40,600 58% | H:39,300
EE=HE HNAITM | ITMIZO 24,300 61% |% H:29,100
IZOITM | ITMHNA [ 30,200 51% | HJKA® H:29,100, :25800
TEB =1L HNAITM [ ITMMYJ 24,300 59% | H:29,500
MYJITM [ ITMHNA | 26,900 55% | A H:29.900. KK %£:25,000, £:25.400
EE=X% HNAITM | ITMOIT 25,400 59% |+:30,600, H:31,700
OITITM | ITMHNA [ 31,700 49% | FJK7K:30,600, £:29,100
EB=RE HNAITM [ ITMNGS | 27,200 61% |£:27,300, £:32,900, H:33,800
NGSITM | ITMHNA | 29,000 58% | F H:32,000, /K A% +:27,100
TEE=FEX HNAITM | ITMKMJ 25,800 61% | H:32,900, 1:31,000
KMJITM [ ITMHNA | 32,700 51% | FJKA:31,000, % +:31,800, H:32.900
EE=2Ik HNAITM | ITMKMI 29,800 56% &+ H:32,900
HNAFUK | FUKKMI 26,000 65% | A A+:27,300, 7K:24,100, £:28,200, H:29,400
KMIITM | ITMHNA | 32,900 51%
KMIFUK | FUKHNA | 26,800 64% | F A:27,300. 7K:24,500. £:29.400. +:28,200. H:28,100
EE=ERS HNAITM | ITMKOJ 28,100 60% | A /KA:28,500, £ 1:34,100, H:32,600
KOJITM [ ITMHNA | 34,100 52% | FK7:32,400, % +:33,400
Lt = /v GAJHND [HNDKMQ| 16,800 62% |::18,600, £:18,200, H:16,400
KMQHND[ HNDGAJ| 16,800 62% |:17,800, £:17,200, H:17,600
Lz =Pl GAJHND [ HNDOKJ | 18,800 65% |4 9,800, H:19,400
OKJHND [ HNDGAJ| 18,800 65% |&Tt: H:19,400
W =L5 GAJHND | HNDHIJ 22,800 58% |- £:19,800, H:19.400
HIJHND |HNDGAJ| 21,400 61% |&: 9,800, H:19,400
I A=ES GAJHND [ HNDUBJ | 18,500 68% |4 9,200, H:19,000
UBJHND [ HNDGAJ| 18,800 68% % t:19,400, H:20,700
IWi=HZE GAJHND | HNDIZO 27,500 47% i
GAJITM | ITMIZO 22,100 62% . A:23,900, £:24,700, £:25,500, H:25,200
IZOHND [HNDGAJ| 27,200 48% |+ H:27,900
1IZOITM | ITMGAJ 22,100 62% A:21,000, £ +:24,700. H:26,300
=185 GAJHND [ HNDTKS | 19,200 64% t:18,000, H:17,600
TKSHND [ HNDGAJ| 19,700 63% £:18,900, H:18,500
Ik =2 ( GAJHND [ HNDTAK| 19,700 63%
= CH TAKHND | HNDGAJ| 21,200 60% 2,000, + H:21,900
Wi =10 = CH GAJHND [ HNDMYJ | 21,200 62% I
( GAJITM [ ITMMYJ 22,800 50% 7k £:21,000, AR#£:24,600, H:25,000
= G MYJHND [ HNDGAJ| 20,600 63% | % +:21,400. H:22,400
( MYJITM | ITMGAJ 22,800 59% | F:24,600, 7kAK:21,000. % B:21,700, £:21,400
s =K% = CH GAJHND | HNDOIT | 23,200 61% |4 +:24,000
( GAJITM | ITMOIT 22,600 61% | FAsK+:20.800, A %:24,400, H:28,400
= G OITHND | HNDGAJ| 23,200 61% |% +:23,600. H:23,900
( OITITM | ITMGAJ 22,600 61% | FH:24,400, 7K AK:21,500. % +:25,200, H:29,600
Ik =RI& = (H GAJHND [HNDNGS| 23,200 63% |%&+ H:24,000
( GAJITM [ ITMNGS | 25,700 61% | F7K:23900, A%:27,500, £:28,300. H:29,300
= G NGSHND | HNDGAJ| 23,100 64% | H A:23600. 7K:22,700. % +:24,000. H:24,300
( NGSITM | ITMGAJ 25,700 61% | A% +:27,500, /KA&:23,900, H:29,100
Wi =ReA = (H GAJHND [ HNDKMJ | 24,000 61% |% +:25200. H:22,800
( GAJITM [ ITMKMJ 23,000 64% | A7K:21,900. &:24,800, %£:27,700. F:26,400. H:27,800
= G KMJHND | HNDGAJ| 23,200 62% | %:24,900, £:23,600, H:25,600
( KMJITM | ITMGAJ 23,000 64% | F:24,800, 7kAK:21,900. % +:25,600, B:27,200
1L =2 = (H GAJHND | HNDKMI | 22,400 63% | % +:23,200. H:22,700
( GAJITM | ITMKMI 27,000 57% | A7K:25,900. &:28,300, £:29,800. £:30,500. H:29,300
= G KMIHND | HNDGAJ| 21,900 64% | %:22,400, £ H:22,300
( KMITM | ITMGAJ 26,900 58% | H:27,900, 7k AK:25,800. % +:29,900. H:30,500
Wk =ERS R (P GAJHND [ HNDKOJ| 21,200 67% |&
( GAJITM | ITMKOJ 25,500 62% A K:27,000. £:29,700. £:28,700. H:28,900
= G KOJHND [ HNDGAJ| 22,800 64% A 23,200, H:24,800
( KOJITM | ITMGAJ 24,600 63% | A kA&:23,500, % +:27,200. B:30,500
\LF=A"1E = G GAJHND | HNDISG 39,200 55% | 4::39,600, £:40,200, H:39,800
= G ISGHND [ HNDGAJ| 39,200 55% :39,600, F:40,200. H:39,800
e=HE () | SDJITM | ITMIZO 25,800 55% 7K:25,300, %+ :26,300, H:24,500
(D | 1Z0IT™ | ITMSDJ 25,800 55% | F1:25,000, 7K:26,200, A% H:26,300, £:23500
e =#0 (F#f1) | SDJITM | ITMMYJ 22,000 60% | H/K:21,700. H:22.400
(D | MYJITM | ITMSDJ 21,100 61% 1,500, H:21,400
a=X% (f#F1) | SDJITM | ITMOIT 22,100 61% 2,500, % £:22,600, H:25,800
(D | OITIT™ | ITMSDJ 21,500 62% 24,600, B:24,000
e =R (f#F1) | SDJITM | ITMNGS | 25,200 61% 25,700, B:26,700
(£ | NGSITM | ITMSDJ 24,600 62% | A:25000. %:25,100. F:24,400. H 26,200
B =%X (27D | SDJITM | ITMKMJ 22,500 64% | A:22,900, %:25,100, £:23,000, H:25200
(D | KMJITM | ITMSDJ 22,200 64% | +:25,200, H:20,700
& =2k (f#F1) | SDJITM | ITMKMI 26,500 57% |4 +:27,400. H:26,900
=E%E [ KXRUFFD| KMITM [ ITMSDJ 27,100 56% | A:27.500. %:28,000. H:28,700
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R RO A a1-an13 | EIH s
> SHEES
WE=ERS iE% | KBR(FFD | SDJITM | ITMKOJ 25,200 62% | A:25,600, £:26,100, £:26,500, H:25,400
BEREH |AKRUREMD | KOJTM | ITMSDJ 26,300 60% | F:26,500, A:26,900, %:27,400, £:24,400, H:28,200
FR=HE FBFE | KERUFFD| KUITM | ITMIZO 23,800 57% | F7K:23500, H:21,400
HE XBR FFD | 1ZOITM | ITMKIJ 23,600 57% | H:22,800, kA% H:23,800, 1:21,600
Fim=Hl FiBE [ XERUEFMD| KUITM [ ITMMYJ 18,900 64% |£:19,500, H:19,900
L% [ KIREFFD [ MYJITM | ITMKIJ 19,100 64% | %:20,500, £:20,200. H:18,500
FR=X% #FimFE [ KRUEFFD| KIJITM | ITMOIT 20,300 63% | H:23,300
AH% | KBRUFFD| OITITM | ITMKIJ 18,900 66% |%:20,500, £:21,400, H:22,000
FiR=RIK FimFE [ KRUFFD| KIJITM | [TMNGS 20,500 67% & H:21,300, 1:21,000
EIB% | KIRUFFD | NGSITM | ITMKIJ 22,600 64% |£:23,200, £:21,900, H:23,900
FiR=REX #FimFE [ KRUEFFD| KIJITM | ITMKMJ 20,700 65%  |%:22,600, H:22,700
REAFE | KBR(GFFD | KMJITM | ITMKIJ 21,200 65%  |4:21,700, £:21,100, H:22,000
FR== #FiRFE [ KRUEFFD| KIJITM | ITMKMI 23,100 61%  |%:24,000, £:23,300, H:24,200
EIEE | RKRUFFD | KMITM | ITMKIJ 25,100 58% |%:26,100, 1:24,300, H:26,400
FR=ERS FBFE | KBRUFFD| KIJITM | ITMKOJ 23,000 64% 7K K:23,400, £:23,800, 1:24,000, H:22,500
BEREHX | XBRUREFD| KOJTM | ITMKIJ 22,800 64%  |%:23,300, £:21,600, H:25,300
A= % | EH (FIHE) [KMQHND| HNDOKJ | 20,800 65% | /:20,900, %:22,300, £:19,200, H:19,900
fiE] LLI 58 B OKJHND [HNDKMQ| 20,700 65% | A =£:21,000, £:22,200, H:18,000
IMNA=IRE KMQHND| HNDHIJ 22,400 63% |A:22,800, %:22,900, £:19,400, H:19,600
HIJHND |HNDKMQ| 21,500 64% | A:21,800, £:23,200, H:18,600
MR=ILOFER KMQHND | HNDUBJ 17,800 72% |%:18,600, H:20,500
UBJHND [HNDKMQ| 18,200 72% |%:18,800, 1:19,200, H:19,300
INA=HE KMQHND| HNDIZO 25,900 55%
HEX |S=ZCHMA) | [ZOHND [HNDKMQ| 25,900 55%
IMNA=TES MAFE | BF(FIHE) |[KMQHND | HNDTKS | 20,300 65% | +:18,300, H:17,400
5% TKSHND [HNDKMQ| 21,000 64% | & +:19,100, B:17,100
INR=F KMQHND| HNDTAK [ 22,100 62% | +:22,700, H:23,700
TAKHND [HNDKMQ| 22,400 62% |A: £:24,100, 1:23,400, H:21,900
IMA=TF A% |®=5 CHMMA) [KMQHND| HNDKCZ| 20,200 67% |&: £:20,600, H:21,200
=% | E& (FH) [ KCZHND [HNDKMQ| 22,300 63% |& +:22,700, H:20,200
A=HAL NAZE | EECRE) [KMQHND| HNDMYJ| 22,100 64% % 23,100, H:23,500
MYJHND [HNDKMQ| 23,100 63% |4::23,600, £:23,400, H:21,900
MR =FE T KMQHND | HNDKKJ 22,700 66% |%:24,500, £:21,700, H:25,100
KKJHND [HNDKMQ| 21,400 68% | A:21,700, %:24,100, £:22,700, H:22,300
INR=K5 KMQHND | HNDOIT 23,100 65%  |%:25,100, £:24,300, H:25,000
OITHND [HNDKMQ| 23,100 65% | F:23,600, A:23,400, £:25,300, £:24,100, H:23,800
M= RIB KMQHND[HNDNGS| 23,100 67% | A:24,000, £ +:25300, H:24,100
NGSHND [HNDKMQ| 22,200 68% 7K:22,600, £:24,000, 1:24,200, H:22,900
IMA=FEX KMQHND| HNDKMJ [ 23,100 66%  |%:24,400, 1:24,600, H:24,300
KMJHND [HNDKMQ| 23,500 65% 125,800, 1:26,200, H:24,400
M= IR KMQHND| HNDKMI | 21,700 68% :21,900, 7K:21,500, %:22,800, £:22,600, H:23,300
KMIHND [HNDKMQ| 21,000 69% | A H:21,400, A&:21,300, %:22,700, £:22,300
IME=ERS KMQHND | HNDKOJ 17,500 75% H:19,700
KOJHND [HNDKMQ| 18,500 73% 1 H:20,500
IME=ETH KMQOKA|OKAMMY|[ 27,300 59% A H:27.400, £:30,500, 1:30,400
MMYOKA[OKAKMQ| 28,200 58% | H A% H:28500, £:31,600
IMA=F1E KMQHND [ HNDISG 38,300 59% |4::38,600, £ H:39,000
KMQOKA[ OKAISG | 27,800 62% |4 +:30,900
ISGHND [HNDKMQ| 38,200 59% H:39,000
ISGOKA [OKAKMQ| 28,600 61% 31,000
==& OKJOKA [OKAMMY| 24,800 58% :32,400, £:32,900
MMYOKA[ OKAOKJ| 26,900 54% | A A%:27,000, £ H:33,000
fEIL=FR1E OKJOKA | OKAISG | 27,300 58% | A:33400. £:33,800, £ H:27.400
ISGOKA | OKAOKJ| 27,300 58% | H A%:27,400, 1:33,300, H:33,400
BAH== KCZFUK | FUKKMI 21,800 56% |sk:21,400, %:22,300, £:21,400, H:23,500
KMIFUK | FUKKGZ | 21,800 56% | F:21,400, % +:22,300
iR (R =F ) | OKAHND | HNDAOJ | 24,700 70% _ H:28,100, /KA:25,800, %:32,500, £:31,200, H:32,900
) | OKAITM [ ITMAOJ 14,800 82% |+:15,600. H:17.100
) [ AOJUHND [ HNDOKA| 23,800 71% |7k K:24,600., £:31,200, £:32,600, H:26,500
) [ AOJITM [ ITMOKA 19,300 76% |%:19,700, £:20,700, H:20,300
s (RE) ==IR ) | OKAHND | HNDMSJ | 25,600 68% :28,800, #:31,900, 1:31,400, H:32,200
R%E ) [ MSUHND [ HNDOKA| 24,400 70%  |%:28,100, +:29,100, H:26,600
PR (RER) =TAE | GRE) R ) | OKAHND | HNDAXT | 25,200 66% | F:28,700, £:33,700, £:27,600, H:28,000
) | OKAITM [ ITMAXT 15,900 79% [£+:17.100, H:20,200
TE% [EZE(3HE) [ AXTHND | HNDOKA| 26,200 65% | /:26,600, %::34,800, 1 :29,400, H:23,600
KER (£ | AXTITM | ITMOKA 19,800 74% 1 H:20,400
PR (BRER) =1E% | iR (RER) 5| KBR (R F}) | OKAITM | ITMHNA 24,000 70% 7K AK:22,400, € +:29,100, H:32,800
f2f | OKAFUK|FUKHNA| 34,700 58% | F A:35,600. 7K:32,400. £:37.400. £:37.000. H:37.800
TE&% | KBR(FFD | HNAITM | ITMOKA 23,900 70% | H:28,700
f@f | HNAFUK | FUKOKA| 34,300 59% | /:35,600. 7K:32,400, %:36,600. £ H:37,000
B (IRER) = LR |48 (F88) % | 3 (FIM) | OKAHND | HNDGAJ | 21,800 67% | F:25,000, £:27,700, £:27,200, H:28,400
BR (F#F1) | OKAITM | ITMGAJ 18,100 76% | A7k A:16,700. % +:21.400. H:23400
\WRs% |E=ECHEA) | GAJHND [HNDOKA| 21,400 67% |%+:29,000, H:24,100
KR (F#F1) | GAJITM | ITMOKA | 22,400 70% | B sKAH:21,300, £:25,000, 1:25,800
B GRE) =lE | HREB E|__EM OKAFUK | FUKSDJ 28,700 65% | A:29,300, £:30,500, £:31,000, H:32,100
OKAITM | ITMSDJ 21,300 71%  [+:21,700, H:21,500
SDJFUK | FUKOKA | 30,000 63% |::33,500, £:31,700, H:33,700
SDJITM | ITMOKA | 21,900 71%  |#+:22,400. H:21,800
SRR GIE) =/ [ OKAHND [HNDKMQ| 21,300 70% :24,600, 7:21,600, %:28,300, £:26,900, H:27,500
KMQHND [ HNDOKA| 20,500 71% | #::28,200, 1:28,400, H:23,000
B (GRE) ==& OKAFUK | FUKKCZ 25,900 56%
KCZFUK | FUKOKA | 25,900 56%
s (GIRE) =l OKAFUK | FUKMYJ 24,100 56%
MYJFUK [ FUKOKA| 24,100 56%
RR(CAE) =EEXE|RR(PE)X| _ERE |HNDKOJ| KOJASJ | 25300 64% | A H:25,700, £:26,400, 1:28,200
XER (F#F1) | HNDITM | ITMASJ 29,500 56% | ::30,100, £:30,800. H:29,600
EEKREH | BRE | ASIKOJ|KOJHND| 26,500 63% | F:28,200, :26,900, £:29,000, H:28,900
AR (51 [ ASJITM [ ITMHND | 31,300 53% |4::32,500, £:30,800. H:30,600
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FRCHE)=ERE|[RFZ(PHE)F| ERS |HNDKOJ| KOJKKX 26,500 63% |t
ERER BEIEE | KKXKOJ[KOJHND| 26,500 63% |&: +:29,200, H:30,100
HEROCHE) =828 R (PE)%| ERE |HNDKOJ|KOJTKN 28,200 62% | 31,100
B% RS | TKNKOJ|KOJHND [ 29,000 61% : :31,100, H:31,400
R CHE) =Xk R RF(PA)%| ERE |HNDKOJ|KOJOKE| 28600 63% | KA: 30,100, £:31,500
KR (P =BERB| XR(FFDOE| ERS | [TMKOJ [ KOJASJ| 22900 60% | A%:23000, +:23200. H:24,100
EEXREE | BREE | ASIKOJ | KOJITM 24,300 57% 124,500, 7K:24,900, %:26,500, £:23,900, H:25,300
KR(FFH=ERE [ KRFFDFE| ERS | [TMKOJ | KOJKKX 25,300 57% | HIKAB:25700. £:26,100, +:26,300
ERER BERE | KKXKOJ | KOJITM 25,500 56% | 7:25,700, £:26,100, 1:25,100, H:26,500
KR () =28 [ KARPEF S| ERS | ITMKOJ | KOJTKN | 26,600 57% | FIKAH:26,400, £:26,800, £:27,400
BeER BERE | TKNKOJ | KOJITM 26,800 56% | 7K:27,000, £:27,400, 1:26,400, H:27,800
KRR (R =k B | KIR(FFD%| ERE | [TMKOJ [ KOJOKE| 26,600 59% | A H:27,000, K A:27,400, £:27,800, 1:27,600
[ SEPNE] 138 7 BERES | FUKKOJ | KOJASJ 18,500 61% | H:18,900, +:16,900, H:18,600
BEEAEXE | BRE | ASIKOJ | KOJFUK 20,600 57% | A:21,000, %:22,200, £ H:19,000
BE="ERS 12 BERES | FUKKOJ | KOJKKX 22,200 55% |+ H:20,600
BE=1Ec8 [ BERES | FUKKOJ | KOJTKN 23,100 55% | +:21,500, H:21,900
BeER BEIEE | TKNKOJ [ KOJFUK 23,100 55% |+ H:21,500
RRCHE)=5RE R (PBE)F| HIE HNDISG | ISGOGN 37,800 53% |+ H:38,500
EFEH |48 (B [ OGNOKA| OKAHND| 28,000 65% | F:31,200, %:33500, +£:33,000, H:34,600
A1 | OGNISG | ISGHND 37,800 53% |+ H:38,500
KERRFD=5E | SHMEFH |+ GHBH) | OGNOKA| OKAITM 22,200 69% | H:25900
KR (B8%8) =53E [ KR (FAF) | FHiE KIXISG | ISGOGN | 34,300 49%
EMEH |48 BT [ OGNOKA| OKAKIX 34,500 52% |4:35,100, £:33,300, H:37,000
A1 | OGNISG | ISGKIX 31,000 54% | +:31,900. H:33,200
ZHE(PE)=5ME|LHR(P&)F| HIiE | NGOISG | ISGOGN | 36,300 50% |4::37,700. £ H:38,600
EES [448BH) | OGNOKA|OKANGO| 38,300 50% 3 A&+ H:38,700
A1 | OGNISG [ ISGNGO | 36,300 50% |4::37,700, £ H:38,600
12 = 5 AE SHBES |48 (FBH) | OGNOKA| OKAFUK | 29,200 55% | A:29,800, £:30,900, £ H:31,400
ShiB (| =5 IE | FIE | OKAISG | ISGOGN 9,100 76% | A%+ H:9,200
E3EH | FHIE | OGNISG [ ISGOKA 9,100 76% | A% H:9,200
HRCHE)=AKRE [RR | 48 (AREE) | HNDOKA | OKAUEO| 21,100 64% | H:23,000
| %8 (FBF) | UEOOKA [ OKAHND| 19,800 66% |H: . %:25,600, 1:24,900, H:26,100
KB (FFH) = Ak E S5%8 (3BF) | [TMOKA | OKAUEO| 24,100 53% |- 25,700, H:22,200
| %48 (IBF) | UEOOKA [ OKAITM | 24,200 53% |- 22,600, H:27,400
KB (BHEE) =AKEB | h#8 (BREE) | KIXOKA | OKAUEO| 27,200 47% K. 29,500, 1:30,600, H:26,500
|48 (FBFH) | UEOOKA [ OKAKIX 25,100 51% . 24,100, H:27,800
ZEE (D) = Ak 8| £EE (P& 5| 948 (FBFH) [ NGOOKA| OKAUEO| 31,100 45% :31,700, % H:31,400, 1:32,100
AKES |48 (JBH) | UEOOKA|[OKANGO| 30,500 46% | A 7k:30,900. £+ H:31,000
BE=AXE % |48 (FBFR) | FUKOKA [ OKAUEO| 24,500 44%  |%:24,600, £ H:24,900
AKES |48 (BH) | UEOOKA | OKAFUK | 24,400 44%  |%::24,500, + H:24,600
RE(HHE) =[R2 |RRCRA) % | KB (FFD) | HNDITM | ITMOKI 20,100 61% |A:20,900, £:21,300, £:19,500, H:19,200
HE HNDIZO | 1ZOOKI 25,100 47% | FJKAK:25,500, %:26,200, +:24,600, H :26,000
[R5 | KBR(FFFD | OKITM | ITMHND 19,800 61% |A:20,300, £:20,700, £:19,200, H:19,500
] OKIIZO | IZOHND 25,500 46% |7k AK:25,900, %:26,300, £:27,500, H:26,600
PR (BRER) =R IR GRER) 5| KBR (R F) | OKAITM | ITMKIJ 15,900 78% |%:16,500, 1:14,400, H:16,900
ek | KXRUEFF| KUITM | [TMOKA 18,500 74% % H:19,200
12 = #LIR G F %) f@fE% |HF(FAHE) | FUKHND [ HNDSPK | 31,100 61% |A:31,400, %:32,700, £:34,700, H:29,300
#LIE (i Fa%) 5| 3 (M) | SPKHND | HNDFUK | 29,300 63% | F:29.400, %:35800, +£:32,200, H:33,000
EHR=%m5 BRHE I% (# F#) | AOJSPK | SPKMMB| 16,400 66% | +:16,800, H:17,900
i Bl R 1% (¥ F %) | MMBSPK | SPKAOJ 16,400 66% | HKkA#:17,400, £:17,900, H:17,600
T =% 5 FUEF 7 AXTSPK [ SPKMMB| 18,100 66%
SR b MMBSPK| SPKAXT | 18,200 65% A%:19,100, £:19,600, H:18,600
B HCGEIEE N T IGEDES ER NGOHND|HNDOBO| 20,200 69% |::20,600, £:21,200, H:21,000
HILFE OBOHND[HNDNGO| 20,200 69% +:20,600, B:21,300
2EE () =8Il |2 & E (PR NGOHND [ HNDAKJ| 19,400 71% 119,800, %:20,000, £:20,600, H:19,700
ENIE:S AKJHND |HNDNGO| 16,300 75% | A:16,400, £ +:16,700, H:18,100
B =25 ERF TAKHND [HNDMMB| 25,200 69% | H:25000, A:24,800, %:27,200, £:29,100, H:27,800
Sk MMBHND| HNDTAK | 25,700 68% | F:25,600, %:26,500, £:25,300, H :28,600
mE=%m5 BEHX TKSHND [HNDMMB| 23,300 71% | A 7A:23,200, £:25,300, +:24,500, H:24,400
SR MMBHND| HNDTKS | 23,800 71% | F:23,700, £:25,600, £:21,800, H:24,700
Ko =% 5 N OITHND [HNDMMB| 23,400 73% |&+ H:24,400
ESTRES MMBHND| HNDOIT 23,400 73% |&+ H:24,400
R =2% 5 KI5 NGSHND [HNDMMB| 23,900 74% |$&+ H:25,000
SRR MMBHND| HNDNGS | 23,900 74% |$&+ H:25,000
RAR=%E5 REARF KMJHND [HNDMMB| 23,900 73% |&+ H:25,000
ESTREA MMBHND| HNDKMJ | 23,900 73% |&+ H:25,000
BB =2 Rl ELE KMIHND [HNDMMB| 23,900 73% |&+ H:25,000
ESTHIES MMBHND| HNDKMI 23,900 73% |&+ H:25,000
BRE=%i5 BRER KOJHND [HNDMMB| 23,900 74% |$&+ H:25000
SRR MMBHND| HNDKOJ | 23,900 74% |$&+ H:25000
ARFFR) =BEXB | FFTR)E SPKHND [ HNDASJ| 28,400 69% |/:30,800, %:31,700, £:31,600. H:30,500
[ EIN-F. ASJHND | HNDSPK | 29,600 67% 3:32,000, A:30,400, % H:33,000, 1:27,800
BEHR=EEKXE BRR AOJHND | HNDASJ 28,000 68%  |7k:28,100, A:30,500, £ +:31,600, H:30,200
BEAEHR ASJHND | HNDAOJ| 28,000 68% | H:30,400, 7k AR 1:29,200, £:29,800, H:31,800
ME=FEXXE FUERF AXTHND | HNDASJ 30,000 63% | A:32,800, £:33,800, £:28,400, H:26,300
[EIN-F. ASJHND | HNDAXT | 28,600 65% | H#:31,000, 1:25500, H:26,700
IMA=TBEKRE MR KMQHND | HNDASJ 24,200 69% | A% +£:26,600, H:25,400
[EIN-F. ASJHND |HNDKMQ| 24,200 69% :26,600, +:24,800, H:26,200
wWA=FMR=43I | WOFHE UBJHND [ HNDKUH| 21,900 74% | #:23,000, 1:22,700, H:25,500
FEES KUHHND | HNDUBJ | 22,400 73%  |%:22,600, 1:22,700, H:26,100
B =8I BINFE TAKHND | HNDKUH | 24,300 69% | £:25700, £:25,800, H:26,700
FEES KUHHND | HNDTAK | 25,900 67% | :26,300, £:25,600, H:28,100
EE=9% BEHX TKSHND | HNDKUH | 22,400 71%  |#:23,100, 1:21,200, H:23,300
I E% 5 KUHHND | HNDTKS | 24,000 69%  |%:24,800, £:22,300, H:23,000
K5 =4 N OITHND [ HNDKUH| 22,400 74% |$&+ H:23,400
FES KUHHND | HNDOIT 22,400 74% |$&+ H:23,400
RIE=$IE% RIS NGSHND | HNDKUH | 22,900 74% |$&+ H:23,900
ETFES KUHHND | HNDNGS | 22,900 74% |+ H:23,900
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A= BEA% | HZ (FM) [ KMJIHND [ HNDKUH| 22,900 73% &+ H:23,900
#IpEF |HF(FAHE) | KUHHND [ HNDKMJ| 22,900 73% |&+ H:23,900
ECEET] EGE ) | KMIHND | HNDKUH | 22,900 73% &+ H:23,900
FEES 5 ) | KUHHND | HNDKMI 22,900 73% &+ H:23,900
BER&=3I% EEEH [=mCHE)|KOJHND [HNDKUH| 22,900 74% |$&+ H:23,900
#Ip8F | HZ(FAHE) | KUHHND [ HNDKOJ| 22,900 74% |$&+ H:23,900
LE=%k LRE% |EZF(FHE)| HIUHND [HNDOBO| 26,200 67% |%:26,500, £:25,000, H:26,400
L% | 3m (CFE) [ OBOHND| HNDHIJ 26,100 67% |£:26,900, £ H:25,200
BIR=TIk =tA% |HEF(FAHE) | TAKHND [HNDOBO| 26,200 66% |%:27,300, £:27,900, H:28,900
#L% |®mCFME)|OBOHND| HNDTAK| 26,900 65% | 4:27,700, £:27,200, H:28,400
BEE=Fk BEHE S CFH) | TKSHND [HNDOBO| 24,500 68%  |%::24,800, 1:23,300, H:25,500
L% | #& (FIM) [OBOHND| HNDTKS | 25,000 68% | 4::26,200, £:23,000, H:23,300
Ko =%IEa A#% |HEZF(FAHE)| OITHND [HNDOBO| 22,000 74% &+ H:23,000
HIh% | #& (FIME) [OBOHND| HNDOIT | 22,000 74% %+ H:23,000
RIE="%IA RIBH S CFH) | NGSHND [HNDOBO| 22,500 75% |&+ H:23,500
HILFE (F1M) |OBOHND | HNDNGS| 22,500 75% %+ H:23,500
RA=%E AEARF |HZ(JIHE) | KMJIHND [HNDOBO| 22,500 74% |$&+ H:23,500
#L% |®mCFME)|OBOHND|HNDKMJ| 22500 74% %+ H:23,500
B =15 =A% | EFCHMA) | KMIHND [HNDOBO| 22,500 74% |$&+ H:23,500
L% |5 (FIME) [OBOHND| HNDKMI | 22,500 74% %+ H:23,500
BR&E=%F5 ERE% |H=RCAMA)|KOJHND |[HNDOBO| 22,500 75% |&+ H:23,500
#L% |HZ(FIHE) | OBOHND|HNDKOJ| 22,500 75% + H:23,500
BII==h JBJII% |35 CRE) | AKUHND [ HNDTAK| 24,900 68% 125,700, %:27,100, £:25,600, H:27,200
=%  |[HEF(FH) | TAKHND [ HNDAKJ 26,000 67% | A 7K:26,800, £:27,900, +:27,700, H:28,500
HE=E0 BRAEH | BZ (JIH) | HKDHND [ HNDTAK | 25,200 64% | 4::26,200, £:26,100, H:28,500
=A% |HF(FAHE) | TAKHND [HNDHKD | 24,700 65% | F:24,100, £:25,700, £:27,000, H:25,800
HE=ES BRAEH | S5 (JIH) | HKDHND [ HNDTKS | 23,300 67% |%:24,700, £:21,500, H:23,400
5% |HZ(FAME)| TKSHND [HNDHKD | 22,800 67% | FA:22,600, £:23,800, £ H:22,400
EfE=LOFE BRAEH | SZ(3IH) | HKDHND [ HNDUBJ| 21,700 71%  |%:22,500, 1:22,000, H:26,500
WO FER% | FH CFE) | UBJHND | HNDHKD [ 22,300 70% | H:21,700, £ 1:23,900, H:24,600
HRCHE)=2RK [HFCAMA)$| B | HNDHKD | HKDOIR 17,700 66% | H:15,700, £:16,700, £:22,300, H:17,000
R F BAE | OIRHKD [HKDHND| 18,400 65% | ::19,000, £:20,700, H:22,600
AR (FFH) =BR BRF e OIRHKD | HKDITM 21,800 64% |%:23,100, £ H:25,400
RS =8 [MR@B XK EM OKAFUK | FUKTKS 25,100 58% | A:25700, %:26,700, £ H:27,200
BEFR 1= TKSFUK | FUKOKA | 24,500 59% 125,500, + H:25,900
RBIN=ES JBJIF |BF(FAHE) | AKJHND [ HNDTKS | 23,600 70% :24,400, %:25,600, +:22,800, H:23,100
5% |®mCRME)| TKSHND | HNDAKJ| 24,100 69% 24,900, £:25,300, 1:23,900, H:25,100
BINI=X% JENE I ESS AKJHND | HNDOIT 21,400 75% + H:22,400
A#% |HEZF(FH) | OITHND [ HNDAKJ 21,400 75%
LR (E3F) =R [ALR(E¥)%| BfE | OKDHKD | HKDOIR 17,600 50%
HERHE BEE | OIRHKD [HKDOKD| 17,600 50% |+:17.100. H:14.600
EIEEES SR F L% (L Ef) | KUHOKD | OKDHKD 19,700 53% | H:19,500
HEEH L% (FE2) | HKDOKD | OKDKUH| 19,700 53%
HlEE==iR SR F L% (FEE) | KUHOKD | OKDMSJ| 23,700 49% | F:18,800, H:21,000
=R L% (FEE) | MSJOKD | OKDKUH| 20,200 57% |+:21,000. H:23,700
IR = FRHE L% (E2) | RISOKD | OKDHKD | 23,700 46% | +:22,900
HEEH L% (L E) | HKDOKD | OKDRIS 22,200 49% | F:18,000, £:23,700, H:21,700
FIR =4 FIFR T L% (FEE) | RISOKD | OKDKUH| 23,700 50% |+ H:22,600
1% 5 L% (F-¥) | KUHOKD | OKDRIS 19,400 59% | H:18,000, K%:23,000. 1:23,700, H:20,000
=FR =IR% L% (FEE) | MSJOKD | OKDRIS 19,000 61% |[tH:
BR&=mE EREH |HCFMA) | KOJHND [ HNDAKJ 21,900 76% |3
JBJIF |HZ(FAHE) | AKJHND [ HNDKOJ| 21,900 76% |3
RIBE=1HEJIl RIGF 5 CFH) | NGSHND | HNDAKJ 21,900 76% |3
JBJIF |BZ(FAHE) | AKJHND [HNDNGS| 21,900 76% |3
REAR=1E)I AEA% | HFE(FIH) | KMIHND | HNDAKJ 21,900 75% |3
JBII% |35 (FIE) [ AKJHND | HNDKMJ | 21,900 75% |4
EiE=1H8)Il EGE S CRH) | KMIHND | HNDAKJ 21,900 75% |3
JBJIZE  |HF (FIH) | AKJHND | HNDKMI 21,900 75% |3
BERS=PKRE | BEXEE | #25 | ASJTKN | TKNOKE 11,900 57%
kB | 2B | OKETKN | TKNASJ 11,900 57%
BrE=HRGRH) | BxEFE | HKEA | TKNOKE | OKEOKA 15,600 54%
ihiB(FBER) 5| KB ED | OKAOKE | OKETKN 15,600 54%
HERCHE)=BFE R (PHE)%| ERE |HNDKOJ|KOJTNE 23,300 60%  |%:24,400, 1:26,200
EFER RS | TNEKOJ|KOJHND [ 23,400 60% | F:24,600, £:25,900, £:25,200, H:26,200
FRCHE)=EBAE|[RRE(HHE) | ERS |HNDKOJ|KOJKUM| 24,000 60%  |%:25,100, £:26,900
BAER BERES |KUMKOJ|KOJHND| 23,600 61% | F:24,400, %:25,700, £:25,500, H:26,000
KR (FFH =BAE [ ABR(FFMH| ERE | [TMKOJ [KOJKUM| 21,600 54% |A:21,700, %:22,000, £:22,400, H:21,400
BAER BERE |KUMKOJ| KOJITM 21,400 54% | A 7K:21,600, £:22,000, 1:21,000, H:22,400
BERE=h(H) KOJASJ | ASJOKA | 23,800 55% | F:24,300, H:25500
OKAASJ [ ASUKOJ | 25500 52% |/:25900, %:27,100
BE=EAS FUKKOJ | KOUKUM 17,700 52% |+ H:16,100
BAER BEIEE |KUMKOJ[ KOJFUK 17,700 52% |+ H:16,100
BE=EF5 [ RS | FUKKOJ | KOJTNE 17,900 50% 318,300, 1:16,300, H:16,700
EFER EIEE | TNEKOJ [ KOJFUK 17,000 52% |+ H:15,400
LB=1BJI 5% |HZE(FH) | HIJHND | HNDAKJ 25,800 68% | 7K:26,600, £:27,000, 1:25,300, H:26,500
JBJIIZ |3 M) | AKJHND [ HNDHIJ 24,100 70% | F:24,900. £:26,300, £:25,000, H:25,300
wil==x [N e MYJFUK | FUKKMI 18,500 60% | A:18,000, £ H:18,400
EGE 1= KMIFUK | FUKMYJ | 17,200 63% |£:17,600, £ H:18,400
PR (RER) =TEXE | PEGBBHFK| 553 | OKARNJ [ RNJASJ 16,000 59%
[EIN-F. 5 ASJRNJ [ RNJOKA 16,000 59%
BR =k BR% |4L0E(E¥) | OIROKD | OKDHKD 18,000 55% |+ H:15,000
BHAEXK  [#LIR (B¥) | HKDOKD | OKDOIR 18,000 55% |+ H:15,000




TEMEI5I128 1 EER (AA14B~4A27BB RS
oA S
R mm® | BERH | 44y 08 e
RR(CHB)=2d [HRERCHHE) S| M@ G#H) | JAL [JTA/RAC| 21,400 68% | A H:21,500, &:21,100, £ 1:24,800
Eos | P8 (FRER) [JTA/RAC]  JAL 21,800 67% |H:22,600, H:24,900
HR(CPE) =RE |[RRCEE) #[AMEH) | JAL [JTA/RAC] 21,800 70% | A H:21,600, &:21,500, % +:25,300
| AR (BA7E) | JAL JTA 36,600 55% | +:36,800, H:35700
FiE% R GRE) [JTA/RAC|  JAL 22,700 69% | F:22,800. H:25,300
KR (D) =% &5 | KB (A % [ /R CRE) | JAL JAL 21,300 71% | H:22,700. £.23,100, & . 1:22,900. H:23,200
ARFTR)|  JAL JAL 23,000 68% |7K:26,000. & 6,000, H:22,200
ZimAl% [RRGEE)| JAL JAL 22,500 69% | A:23,000., * H:23,300
ARFTR)|  JAL JAL 24,000 66% |7K:27.000. %: B:24,400
KW (B87E) =% 5 | KRR (R8F8) 5 [ RR CRE) | JAL JAL 19,900 73% | A:21,300, £:22,000, £: B:22,300
ARFTR)|  JAL JAL 20,400 72%  |7K:23,400. £ +:22,300. H:18,100
il |[RECAE)| JAL JAL 21,500 70% | A:21,600, £:22,100. +:21,300. H:22,800
ARFTR)|  JAL JAL 20,000 72% |7K:23,000, £:20,300, +:18,200. H:19,500
KB (RFH) =heJIl [ KBR (RFDF[RREE) | JAL JAL 22,700 68% £:23,400, A H:23,900. %:24,600
JBINEE  |[HERGE)| JAL JAL 22,200 69% | F:24,300, &:22,600, %:23,400, £:23,800, H:23,600
KBx (B878) =heJIl | ABx (B %[ Rm (HE) | JAL JAL 20,800 71% | H:21,800, A:21,600, % H:23,000. £:21,900
JBJIFE |[EECRE)| JAL JAL 21,200 70% | F:23,300, £:22,500,
KB (771 =8IE% | KBk (A E | /R CHHE) | JAL JAL 21,800 69% [ F:24,000, %:21,700, f
SllEE% |[HECRE)| JAL JAL 23,200 67% | F:24,100. A:23000. %:23,800. £ :21,700. H:24,800
KBx (BA78) =88 | ABx (BIF) %[ Rm (HHE) | JAL JAL 18,300 74% | F:20,000, £:19,000, £:19,400, H:20,900
fllpR% |[HECRE)| JAL JAL 21,600 69% | H%:22500. 1:21,800. H:24.200
KB () =I5 | RIR(FFDE|RRCHE) | JAL JAL 23,500 66% | 23,200, £:22,200, H:24,300
HLEE |[EREGHE)| JAL JAL 23,400 66% |- . £:24,600. 1:22,200. H:24,800
KBy (B#E) =I5 | KBk (B & | /R CHHE) | JAL JAL 21,200 70% % 1,100, H:23,400
HLEE |[EREGHE)| JAL JAL 21,800 69% |& £:22,200. B:24,200
KB (71 =B08E | KR (BFD E | /R CHHE) | JAL JAL 21,100 66% | A H:21,200, £:21,900, 1:21,800
BEEHR  |[EECRE)| JAL JAL 22,300 64% | A:23,400, %:23,100, £:21,900, H:25200
Kz (BE7E) =B | ABR (BS7E) & | R CFIEA) | JAL JAL 19,300 69%  |4:20,500., £:17,600, H:20,300
BEEHX |[HFECRE)| JAL JAL 20,700 66% | A+:22000. £:21,800. H:24.600
KBR () ==iR [KIRFDRE[RR R | JAL JAL 23,500 60% |%:22,700. *:21,400
=R%E |[ERGEHE)| JAL JAL 23,200 61% | A:23000. %:24,600. 22,400
KBx (B87) ==iR [ KB (BIFE) % [Rm (FHE) | JAL JAL 20,200 66% | +:20,300
=R%E |ERERGE)| JAL JAL 21,600 64% | %:23,300, £:21,400, H:22,600
KB (7 =2 | KBk (FH) % JAL JAL 14,400 60% | AsK&+ H:14,800
[EE3 JAL JAL 15,100 58% | JKA% H:15500, :15,900
KR () =18F & | AR P JAL JAL 21,700 52% | HKA:21500. £:21,900. F:22500. H:21,600
BEYEX JAL JAL 22,000 51% | HAH:21,800. 7K:21,600. £:22,200. £:21,200
KR (R =2 | KIRFFEHE @) [ JAL [JTA/RAC| 25,000 58%  |7K:24,900. :24,600, £:25,800, 1:26,500. H:24,200
BE% |58 RE) [JTA/RAC]  JAL 24,600 58% | F:24,700, % +:24,300. H:25,200
KBx (B87) ==& | KBk (BIF) % [#4# BT | JTA [JTA/RAC]  27.300 54% |7K:27,800, %:29,100, £:30,200
=a%E 9@ 8 [JTA/RAC]  JTA 26,800 55% |7K:26,500, A:26,400, %:27,100, £:25,600, H:29,300
KB (FF) =FR1E [ KRG R [HEET | JAL [JTA/RAC] 25,000 62% | 4:25,800, +:26,500, H:25,100
FiE% | (R%) [JTA/RAC| JAL 24,800 62%
KBx (B878) =H1E | KRR (BIF) % [AH# T | JTA [JTA/RAC]  27.200 58% |7K:28,500, &K H:26,900. %£:29,700. £:30,800
FiE% | [JTA/RAC]  JTA 26,900 50% |%:27,100. H:29.200
ZHE(PE) =%iBA | BHE (PE) F[AMFTFR | JAL JAL 16,400 76% |7k:19,400. £:21,100. £:23,700. H:17,900
iR ROHTFR | JAL JAL 16,000 76% | H:16,400. 7K:19,900, A:16,800, £:17,000, +:18,300. H:18,900
BHE(FEH) =24 [A&EP#) % FMGBH | JTA [JTA/RAC| 31,800 50%
Eo% | A#ORE) [JTA/RAC]  JTA 31,900 50% | H + H:31,800. 7K:31,600. A:31,100. %:31,500
ZHE(FE) =FE |&25E & S F@ T | JTA [JTA/RAC| 31,100 56% | FH:31,300. %:31,200. £:31,800
FiE% @ GRE) [JTA/RAC]  JTA 31,900 55%
ALIR BT F#%) =/ [ALIR (B F i) %[ SRR CRE) | JAL JAL 21,200 67% | H:21,300. A:21,600. %:23,500. H:23,100
NAFE [ERECAE)| JAL JAL 22,700 64% | HA:23,100. £ +:23,900. H:22,200
URFTFR —mLEEEARFFR % RR CAE) | JAL JAL 26,300 63% | F1:26,600, %:27,200, £:28,300. H:27,100
FIfCEER [RECRE) | JAL JAL 26,600 63% | F:28,200. A:27.400. %:31.400. £ :27.600. H:29,000
ALIR (BT F#%) =Rl [4LIR B F i) %[ Rm CRE) | JAL JAL 26,700 63% | F:26,900. A:26,800. %:28,500. t:24,800. H:27,100
L% [SEECHE| JAL JAL 25,500 65% | F A:26,300. %£:29,300. F:26.600. H:24.600
HIREFTFR) =R8 AR @FHFR [ /RRCAHE) | JAL JAL 27,000 63% | F:27.900, %::28,900, +:25,800. H:26,900
LEE% |[ERCAE)| JAL JAL 26,200 64% | F:26,700. A:27.000. %:30,800. £ :27.500. H 25,800
URFFR) =LOFH[ARFFR % RRCHAE) | JAL JAL 23,500 70% | F:23,900. £:25,600, £:23,200, H:28,200
A% [RRGIHE) | JAL JAL 25,000 68% | H A:25400. % +:26,700. H:25,300
IR EFTFR) =HE [AE@FHFR [ R/RRCAHE) | JAL JAL 31,000 56%
S RRCAE) | JAL JAL 31,000 56%
R G T8 —E8 ARG E AR CRR)| JAL JAL 25,300 65% | F:25500. %:27.800. £:23,800. H:25,100
EEH% |[HEECAE)| JAL JAL 24,900 65% | F A:25,100. %£:27,700. F:24.700. H:23,300
IR FTFR) =& AR FF ) [ /R CRE) | JAL JAL 27,200 62% | H A:27.500. %29, £:26,900. B:30,200
=% [EECAE)| JAL JAL 27,100 62% | F:27.600. 27,900, %:31.700. £:29.300. H:28.700
IR FTFR) == (LR F T [ /R CRE) | JAL JAL 27,600 63% | F:28,000, %:29,500, £:23,500, H:29,800
=M% |[EECAE)| JAL JAL 26,200 65% | F A:26,800. £:29,800. F:28,200. H:27.000
ALIR BT FA%) =#A1L [4LIR FiF i) %[ R CRE) | JAL JAL 28,500 62% | F +:28,700. %£:31,300. H:31,800
MWL [ERGE)| JAL JAL 28,600 62% | F A:29,000. £:31,200. F:29,500. H:28,700
IR FTFR) =AM ARG FR % RR CAE) | JAL JAL 28,500 64% | A /K7:28,100, £:29,900. £:25,100, B:31,700
dEAME |[EREGE| JAL JAL 27,500 66% | F:26.600. 7K:26.100. A:26,900. %:31,700. £ :28,300. H:29,100
IR EFTFR) =KH AR FHFR) [ /R CAE) | JAL JAL 27,700 65% | F:28,200. A:28,000. %:30,500. £:29,900. H:31,500
RRCAE) | JAL JAL 28,900 63% | F A:29,300. £:32,900. *:31.400. H:30,600
ALIR BT =RIG (LR FiFm) %[ /R CRE) | JAL JAL 28,200 66% | F:29,000. A:28,300. £:31,100. +:30,900. H:30,800
RIG% |[EECAE)| JAL JAL 28,900 65% | F:29,300. JK: 9,000, :29,400, £:31,600, 1:31,800
ALIR (BT F#%) =FE A [ALIR FiF a0 %[ SRR CRE) | JAL JAL 28,000 65% | F7K:28,300. %:30,400. F:30,200. H:30,300
A% |[ER(CEE)| JAL JAL 29,000 64% | F A:29,400. %£:33,400. *:32,300. H:31,200
IR FTFR) =S5 (LR F T [ /R CAE) | JAL JAL 26,700 67% | H:27.500. 7<7< 27,000 9,800, 1:29,200, B:31,400
BE%  [ERRGEHE]|] JAL JAL 28,500 64% |7k:28,100, A:28,900, %:30,300, £:31,400, H:28,200
AIRFFR)=ERB[ARFFR % RRCAE) | JAL JAL 26,100 68% | F1:28,200, %::29,800, +:30,300. H:32,300
BERER [Em@HE)[ JAL JAL 26,600 68% | H:29,700. A:27.200. %:29,900. £ :31,600. H:30,600




TEMEISI128 1 EER (4F14B~4R27TABED)

£ Py -
R ga® | BERH | 44y 08 e
#
AR (BT 8 =504 BB | #LIR (T F %) % Ram CHE) | JAL JAL 25,600 70% | F:26,500. 3 £:32,500, H:29,700
RBR(FFD | JAL JAL 15,400 82% | F:16,500, %:17,400. 117,900
AEE(PE)|  JAL JTA 29,100 66% | F1:29,800, %:30,400, £:31,800, H:33,300
=] JAL JTA 29,400 67% | F1:33,600, %:30,400, +£:30,800, H:36,400
PR GBRER) [ RECRE) | JAL JAL 26,200 69% | F:29,300, A:27,000, £:29,600, £:25.400, H:31,600
KIR(FFD]  JAL JAL 18,200 79% |+ H:19,600
KR (FEF) | JTA JAL 30,200 65% |%+:32,100. H:28,300
AEE(PE)| JTA JAL 30,500 65% |7k:30,300, A:30,100
JTA JAL 29,400 67% |/:30,000, %:35,200, +:36,400, H:35000
IR (FTFR) =RE [LIREFFH R JAL JAL 51,400 51% :51,100, 7K:54,400, 7:41,900
RiEH = CP JAL JAL 51,400 51% | F H:51,300, A&:42,400
& = % Al BEF [RRCHHE)| JAL JAL 27,200 69% | H:27,600, A:29,200, %:30,700, £:31,800, H:32,200
HIRFFR) | JAL JAL 22,200 73% |7K:25,200., £:27,000, £:27,800, H:27,900
ZimplF |[ERRCHE)| JAL JAL 27,900 69% |A:28,000, £:34,400, £:28,600, H:28,100
HIRFFR) | JAL JAL 21,900 74% | A A:22,900. 7k:24,900. £:23,200, £:23,700. H:22,800
&R =) EEFE  [RHRCHE)| JAL JAL 28,300 67% |A:29,500, %:31,700, £:31,100, H:32,900
BIN%E  |[HERERCHHE)| JAL JAL 25,600 71% | F:27,600, £:32,100, £:29,400, H:28,800
12 = B EEFE [RHRCHE)| JAL JAL 27,900 68% | F:30,100, £:29,200, 30,800
SRR [HERCEHE)| JAL JAL 28,700 67% | F:29,600, £:34,800, £:27,400, H:30,500
1B =55 fEEFE  [RRCHE)| JAL JAL 29,100 66% |%:30,700, + H:33,300
HIEFE | ERERGHE)| JAL JAL 28,900 66% | £:35,600, £:27,800, H:30,500
12 =i BEF [RRCHHE)| JAL JAL 25,600 67% |%:29,200, £:29,400, H:30,200
KIR(FFD]  JAL JAL 24,100 65% |4 +:27,100, H:23,200
BHEEH [EERGEHE)| JAL JAL 27,200 65% | /:28500, %:28,700, £:27,500, H:30,200
KIR(FFD]  JAL JAL 22,900 67% | A:25,000, % H:26,400, £:24,700
BE=F% BEF [RRCHHE)| JAL JAL 23,000 70% |#&+ H:23,800
KIR(FFD]  JAL JAL 19,200 71% | A:19,600., £:21,400, £:22,000, H:20,200
BA¥E [ERCHH)| JAL JAL 23,000 70% |#&+ H:23,800
[ JAL JAL 19,200 71% | A:21,300, £:23,100, £:22,000, H:24,100
mE==iR [ [ JAL JAL 21,000 72% &+ H:21,800
=R )| JAL JAL 21,000 72% &+ H:21,800
[ JAL JAL 21,500 69% 125,200, 7K:23,600, %:29,100, £:24,900, H:29,000
&R =FE [ )| JAL JAL 30,000 57% |A:30,300. £:30,200, £:24,600, H:27,100
MERX [ JAL JAL 29,300 58% |/:29,700, %:35,000, £ :26,100, H:24,500
[ JAL JAL 20,900 67% | F7K:20,400, &:22,500, % H:25200, +:23500
&=L 12E 5 )| JAL JAL 22,700 63% | £::25,100, £:22,100. H:26,300
[ JAL JAL 23,700 62% |7k 7K:20,100, %:22,600, £:21,900, H:20,800
i Z3 [ JAL JAL 24,500 60% | ::26,200, £:26,600. H:22,000
[ JAL JAL 21,900 64% | F7K:21,300. &:23400. £:29,600. 1:26.400. H:28,700
&R =Mk [ JAL JAL 25,600 62% |%::26,700, 1:24,900, H:24,600
JAL JAL 26,100 61% | A% 1:26,700, H:24,200
EE==5 JTA [JTA/RAC| 25,400 51% | A:25000, £ H:25,700
JTA/RAC| JTA 25,000 51% 125,100, 7K:24,900, £ H:25,400
wE=H1E JTA _|[JTA/RAC| 253800 55% | F%:25,500, A:25,400
JTA/RAC| JTA 25,500 56% | F%:25400, A:25,300
iRl =75 JAL JAL 22,400 58% | F A:20,600. /K:23,400, %:22,500, +:21,100. H:24,600
JAL JAL 22,100 58% | F A:20,400. 7K:23400. £:24,100. +:24,500. H:23,100
Ziwhl =& JAL JAL 20,100 65% | H:20,600, 7k:22,300, %:21,600, £:20,500, H:22,000
JAL JAL 20,000 65% | F 7:19,800. 7K:21,800. £:20,800. +:21,600. H:18,700
SR ) JAL JAL 21,400 63%  |7k:24,400, £:21,800, H:22,200
JAL JAL 22,200 62%  |7k:25,200, £ H:22,700
ESTENN N JAL JAL 20,900 71% | A:21,000, £:21,400, £:20,700, H:22,200
JAL JAL 20,300 72% | A:21,700, A:20,900, £:22,500, £:21,900, H:23,500
B =& JAL JAL 24,800 69% | /:25000, %:25,300, +£:23,300, H:25,200
JAL JAL 23,200 71% | FA:23,700, A:25,200, £:25000, £:25,100, H:25,300
S RN ji = (H JAL JAL 24,500 70% | A:24,600, £:25,300, 1:23,600, H:25,500
L% [ER(CHEHE)| JAL JAL 24,900 70% | F:26,300, A:25,500, £:27,000, H:25,300
HIRFFR) | JAL JAL 19,800 74%  |7k:22,800. B:21,100
iRl =HE S JAL JAL 32,500 59% | F:32,600. 7k:33,100, A:31,300. £:33,100, H:34,300
= (H JAL JAL 31,900 60% | F:33,300, A:31,400, %:34,000, +:34,400. H:34,300
iRl =l JAL JAL 26,600 68% | /:26,700, %:28,100, £:25,100, H:27,300
JAL JAL 24,100 71% | H:25500, A:26,000, £:26,600, 1:27,500, H:28,300
ZiGR=H1E JAL JAL 53,700 53% | FH:52,200, 7K:56,200, /43,400, %:52,700, £:52,600. H:53,900
JAL JAL 53,100 54% | F:53,000, 7k:52,700, A:42,700, %:53,700, £:53,600, H :54,000
JETTEN JAL JAL 20,600 71% | F:22,700, £:21,900, £:23,000, B:22,500
JAL JAL 21,300 70% | H:22,300, A:22,100, £:23,500, 1:21,800, H:24,200
BI=mtHE JAL JAL 20,300 74% | H:21,000, £ H:22,100, £:20,600
JAL JAL 27,900 64% | A +:28,900, A:28,700, %:30,100, H:30,500
B =Rl JAL JAL 23,300 71% | F:24,700, £:24,600, £:25,600, H:25,500
JAL JAL 23,200 71% | F:24,200, A:24,000, % H:26,000, £:24,800
BII=HE JAL JAL 32,200 59% | F1:34,400, 7K:32,800, /:30,900, %:33,600, 1 :34,800. H:34,600
JAL JAL 32,800 58% | F + H:33,800, A:32,400, £:35,000
BN =211 JAL JAL 25,000 69% | F:27,100, %:26,300, +£:27,400, H:27,300
JAL JAL 25,000 69% | F:26,000, A:26,200, %:27,800, £:26,600, H:29,000
BI=HE JAL JAL 53,400 53% | A+ H:53,700, 7K:54,400, A:43,000, £:53,200
JAL JAL 53,700 52% | F H:53500. 7K:53,600. 744,400
BTSN JAL JAL 20,600 70% | H:21,500, £:21,000, H:21,800
JAL JAL 19,600 72% | F:21,800, £:20,300, £:20,900, H:22,100
g ="F1L JAL JAL 25,600 67% | F:26,500, & %:25,700, £:23,600, H:25,000
JAL JAL 23,900 70% [ F:26,100, £:23,100, £:24,100
HR=158 JAL JAL 25,300 68% | F1:26,200, %:25,700, £:23,900, H:24,900
JAL JAL 24,200 70% | F:26,400, £:24,900, 23,900
HR=H=E JAL JAL 32,200 58% | F:33,100, A:31,200, £:32,800, H:33,900
JAL JAL 31,100 60% | F:33,300, A:30,100, %:31,800, £:33,400, H:32,900




TEMEISI128 1 EER (4F14B~4R27TABED)

R ga® | BERH | 44y 08 e
g =#x1L HIpRFE [RWRCHEH)| JAL JAL 27,400 66% | F:28,300, £:28,500, £:25,400, H:29,700
L% [ERRERGHE) | JAL JAL 24,700 69% | F H:26.900. £:25400. 1:26,500
fHR="h1E HIpRFE [RWRCHEH)| JAL JAL 52,100 53% | F:50,900. 7k:54,600, A:41,700., £:51,400, £:52,900, H:52,300
AiEH |HERERH)| JAL JAL 51,500 54% | H:51,700, 7K:51,100, A:41,100, %:50,700, £:51,600, H:52,600
IR =M whFE |[ERCHE)| JAL JAL 20,800 70% € +:21,400, H:21,800
% |ERFERGHE) | JAL JAL 21,600 69% |£:22,000, £:21,200, H:24,600
L =FEW whFE |[ERCHHE)| JAL JAL 25,800 67% | A:25,900, £:26,500, 1:24,500, H:25,300
FELFE  [EFCHA) | JAL JAL 25,000 68% | 4::24,500, £:24,400, H:26,400
wh=HE whFE |[RERCHHE)| JAL JAL 32,400 58% 3:32,500, 7K:33,000, A:31,600, £:33,100, 1:33,200, H:33,900
HEX |[HERCEA)| JAL JAL 33,200 57% |/:32,000, %:33500, +£:33,700, H:35400
wIL=Hl wmhFE |[ERCHE)| JAL JAL 27,600 66% | £:29,300, £:26,300, H:29,700
L% [ERERGHE)| JAL JAL 25,800 68% 126,300, £:26,800, H:29,400
HLh=Rh1 whFE  |[ERCHE)| JAL JAL 53,600 52% :52,100, 7K:56,100, &:43,200, £:52,700, 1:53,300, H:53,100
AIEH |HREREH)| JAL JAL 54,400 51% | FH:52,900, 7K:54,000, 744,000, %:53,200, 53,300, H:55,100
=M BEfEFK [WRCHHE)| JAL JAL 19,700 68% |A:21,000, & 0,800, H:22,200
% [ERFERHE) | JAL JAL 20,000 67% |A:20,100, & 1,100, H:21,500
EEE=RL BEER |EE(HEE)| JAL JAL 23,600 66% | A:24,900, & 4,300, H:25,700
fELFE [EFCHA) | JAL JAL 24,300 65% | /:24,400, & H:23,300
HE=LS BEfEF [WRCHHE)| JAL JAL 24,400 66% | A:25700, & :23,900, H:25,300
LES% |[R®ZRCHHE)| JAL JAL 24,600 65% |A:24,700, & 4,100, H:23,800
HE=HE HEEFK [RZECHHE)| JAL JAL 31,300 55% | A:31,800, &: 1:32,800, H:34,200
KIR(FFD]  JAL JAL 23,100 65% | H:24,400
HER |HEECHH)| JAL JAL 31,500 54% |A:30,600, £:32,500, £:33,600, H:32,300
KIR(FFD]  JAL JAL 24,300 63% | £:25,500, £:26,400, H:23,400
=L HEEFK [ERECHHE)| JAL JAL 25,700 65% | A:27,000, £:26,800, £:26,100, H:29,500
KIR(FFD]  JAL JAL 23,800 63% | H:24,200
WilF  [EREREGHE)| JAL JAL 25,100 65% | A:25,200, £:26,700. H:26,300
KIR(FFD] JAL JAL 25,000 61% 126,200, £:26,600, H:24,100
EEE=db A BEEER [WRCHHE)| JAL JAL 27,000 65% 7k:26,600, A&:27,900, %:27,200, +:25,700, H:28,100
dEAMFE |ERCHE)| JAL JAL 25,700 67% | FJK:25400. A:25500, £:23600. +:26,500. H:24,800
HEE=X% EEEFK [RZECHHE)| JAL JAL 21,900 71% |#&+ H:22,500
KIR(FFD]  JAL JAL 23,600 64% | H:27,600
Ko [ERCHE)| JAL JAL 21,900 EEES=F
KR (D[ JAL JAL 24,800 63% |&
HE=RIE BHEEH [EEREHE)| JAL JAL 22,400 ES
KER(FFD | JAL JAL 26,700 64% |H
RIAFE [EZRCHH)| JAL JAL 22,400 72% |&+ H:23,000
KIR(FFD]  JAL JAL 27,900 62% |::29,100, £:29,500, H:27,000
HEE=RX HEEFR [ERECHHE)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 24,000 66% |::26,900, H:27,600
REARF [ERCHH)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 25,200 65% | 4::26,400, £:29,700, H:24,300
HE==IK HEEFR [ERECHHE)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 27,500 61% |4::27,800, H:28,500
EER | HEECHHA)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 28,300 60% |::29,500, £:29,900, H:27,400
HE=ERS BHEEH [EERGEHE)| JAL JAL 22,400 ES
KR (D[ JAL JAL 26,200 65% |&
BREHX |[EZECHH)| JAL JAL 22,400 ES
KR (D[ JAL JAL 26,600 65% :27,800, £:28,000, H:25,900
HEE=F1E BEESR |[HEE(HE)| JAL JAL 51,300 50% > H:49,400, 7K:54,400, K:41,300, 1£:49,800
AIEF [ERCHHE)| JAL JAL 51,300 50% | A<+ H:49,800. 7k:50,800, A:42,100
BHR=/MR BA¥E  |[ERCHHE)| JAL JAL 14,800 75% |&+ H:15,500
NRFE  [ERFERGHE) | JAL JAL 15,300 74% %+ H:16,500
EHR=EitBE BA¥E |[ERCHHE)| JAL JAL 25,900 62% |A:26,000, %:27,100, £:27,300, H:26,500
FaftEES |RECHA) | JAL JAL 26,900 60% | A:27,000, £:29,600, H:28,900
BEH=MEL BA¥E |[ERCHHE)| JAL JAL 25,500 63% | A:25900, & 1:22,800, H:24,100
FELFE [EECHA) | JAL JAL 24,500 64% | A:25100, &
BEHR=L5 BA¥E  |[ERCHHE)| JAL JAL 25,700 63% |A:26,300, &
LE% |[®ZRCHHE)| JAL JAL 24,900 64% | A:25400, &
BEHA=WLOFH BA¥E |[ERCHHE)| JAL JAL 22,500 70% | A:22,800, & £:22,200, H:25,200
WOFEHE | WRCHHE) | JAL JAL 23,300 68% | £:24,400, t: . H:24,900
BEHR=HE BA¥E [EZRCHH)| JAL JAL 29,600 56%
KIR(FFD]  JAL JAL 19,400 70%  |%:19,800, 1:20,400, H:22,100
HEX |[ERCEBR)| JAL JAL 29,600 56%
KIR(FFD|  JAL JAL 19,400 70% | A%:19,800. £ H:21,300
EHR=ES A% |[EREGH)| JAL JAL 20,300 70% |3
BmER |[ERCHEHE)| JAL JAL 20,300 70% |3
EHx=mk A% |[HEREGH)| JAL JAL 20,200 70% |3
B [ERCHE)| JAL JAL 20,200 70% |4 ,
AR=m4 BA¥E |[ERCHHE)| JAL JAL 20,300 71% |%:21,300, + H:24,100
BEFE |[ERCHHE)| JAL JAL 20,300 71% |#&+ H:24,000
BEHx=l BA¥E [ERCHH)| JAL JAL 20,000 72% |&+ H:20,500
KIR(FFD] JAL JAL 20,100 67% |:20,500, £:21,100, H:21,900
WIF ["ERCHH)| JAL JAL 20,000 72% |#&+ H:20,500
KIR(FFD] JAL JAL 20,100 67% | A£:20,500, +:21,500, H:21,100
BRa=dtam EHR%E  |[EREGH)| JAL JAL 21,800 VEE
AT |[RRCHE)| JAL JAL 21,800 VEE
BEHR=X% BA¥E [ERCHH)| JAL JAL 21,700 T ,
KIR(FFD]  JAL JAL 19,900 69% |4::20,300, £:20,900, H:25,300
KaF [RZRCHH)| JAL JAL 21,700 71% &+ H:22,500
KIR(FFD]  JAL JAL 19,900 69% | 7/:20,300, %:24,000, 1 :24,600, H:25500
EHR=RIK BA¥E [ERCHH)| JAL JAL 23,200 71% &+ H:24,000
KIR(FFD]  JAL JAL 23,000 68% | 4::23,400, £:24,000, H:26,200
RIAFK [ERCHH)| JAL JAL 23,200 71% &+ H:24,000
KiR(FFD] JAL JAL 23,000 68% | A%:23,400, £:24,400, H:24,100
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BEHR=EX BA¥E [ERCHH)| JAL JAL 21,800 71% |#&+ H:22,600
KIR(FFD]  JAL JAL 20,300 70% |%:23,600, +:21,300, H:25,300
REARF [ERECHH)| JAL JAL 21,800 71% &+ H:22,600
KB (FFD | JAL JAL 20,300 70% | A#:20,700, £:24,600, H:22,200
EHR=EK BA¥E [ERCHH)| JAL JAL 21,800 71% &+ H:22,600
KIR(FFD]  JAL JAL 23,900 65% | 4::24,500, £:25,500, H:26,200
EEH | HEECHHA)| JAL JAL 21,800 71% &+ H:22,600
KIR(FFD]  JAL JAL 24,200 65% | 4::24,600, £:25,300, H:26,600
EH=ERS BA¥E [ERCHH)| JAL JAL 23,200 71% &+ H:24,000
KIR(FFD|  JAL JAL 22,500 69% |£::23,000, £:23,600. H:24,000
BRSH |EECHH)| JAL JAL 23,200 71% &+ H:24,000
KBR(FFD | JAL JAL 21,700 70% 22,100, £:22,900, H:23,800
EH=HE EHRE  |[FERGEHE)| JAL JAL 51,300 50% | A% H8:49,400, 7K:54,400, A:42,000, 1:50,100
AiEH |HEREREGH)| JAL JAL 51,300 50% | A% H:49,400, 7K:50,800, A:42,100, £:50,100
ZIR=/ SR% |EERGHE)| JAL JAL 14,800 75% &+ H:15,500
MAFE [ERERCEE)| JAL JAL 15,300 74% %+ H:16,500
ZR=FW SR% |EERGHE)| JAL JAL 25,600 62% | /:25700, %:26,500, £:23,200, H:23,400
FELFE [EECHA) | JAL JAL 22,600 67% |4 H:23,200, £:23,400
ZR=L5 SR% |EEREGHE)| JAL JAL 25,300 63% |%:26,500, £ H:23,500
LEE% |[R®ZRCHHE)| JAL JAL 24,000 65% |+ H:23,800
ZR=1LAFA SR |[HRCHHE)| JAL JAL 22,600 69%  |%:23,600, H:24,500
WOFEHE | WRCHE) | JAL JAL 23,000 69%  |%£:23,600, H:24,500
ZR=HZE ZRFE |ERCHEHE)| JAL JAL 29,600 55%
HE HRECHE) | JAL JAL 29,600 55%
RBR(FFD | JAL JAL 21,700 67% :25,900, K€+ H:25,800
ZR=&% HRECHE) | JAL JAL 19,300 VEE
= (H JAL JAL 19,300 VEE
ZiR=@/ JAL JAL 19,200 T
JAL JAL 19,200 VEE
ZR==H JAL JAL 19,300 72% |3
JAL JAL 19,300 72% |3
ZIR=#l JAL JAL 19,000 73% |4
JAL JAL 19,000 73% |3
JAL JAL 22,400 64%
ZR=dc M =IR% JAL JAL 19,800 74% |4
EIZRIES JAL JAL 19,800 E
ZIR=X% ZiR% R JAL JAL 19,700 73% |3
HEECRE) | JAL JAL 19,700 73% &+ H:20,500
RBR(FFD | JAL JAL 22,200 66% :26,400, K H:26,300, % 1:30,000
ZR=FI& HRECHE) | JAL JAL 21,200 73% &+ H:22,000
HECRE) | JAL JAL 21,200 73% &+ H:22,000
RBR(FFD | JAL JAL 24,500 66% :28,700, K€ + H:28,600
ZIR=REX HRECHE) | JAL JAL 19,800 74% %+ H:20,600
HECRE) | JAL JAL 19,800 74% %+ H:20,600
KR (D[ JAL JAL 22,600 68% 126,800, A% H:26,700, £:29,700
ZR=El& HRECHE) | JAL JAL 19,800 74% &+ H:22,600
KER(FFD | JAL JAL 25,700 63% | F:29,400, %:30,200, +£:27,300, H:30,600
HECRE) | JAL JAL 19,800 74% &+ H:22,600
KER(FFD | JAL JAL 26,500 62% | F:30,700, 730,600, % £:31,000, H:31,100
ZR=ERS HRECHE) | JAL JAL 21,200 73% &+ H:22,000
KER(FFD | JAL JAL 25,100 66% | A:28,800, % H:29,200, +:26,200
HECRE) | JAL JAL 21,200 73% &+ H:22,000
KER(FFD | JAL JAL 24,000 67% | H:28,200, A£:28,100, & H:28,300
ZR=RiE HECRE) | JAL JAL 51,300 49% | A% H:49,400, 7K:54,400, A:43,000, 1:50,100
HECRE) | JAL JAL 51,300 49% | A% H:49,400, 7K:50,800, A:43,000, 1:50,100
A=/ HRECHE) | JAL JAL 17,200 68% 1
HRECHE) | JAL JAL 17,100 68% H:17,500
MHE=FiaE HRECHE) | JAL JAL 26,300 57% 23,400, H:22,600
HERECHE)| JAL JAL 26,300 57% |+:22,600, H:23,000
FE =R HECRE) | JAL JAL 26,200 58% | A%:26,300, £:18,900, H:19,100
HECRE) | JAL JAL 24,500 61% |::25800, £:19,100, H:23,500
ME=L% HRECHE) | JAL JAL 27,600 56% | A%:28,000, + H:19,200
HECRE) | JAL JAL 24,900 61% |7/:25200, %:26,300, £:19,500, H:24,700
ME=LOFEH FRCHE) | JAL JAL 23,300 66% | A:23,700, %:24,700, £:18,300, H:20,200
HEECRE) | JAL JAL 23,900 65% | /:24,200, %:24,600, £:18,700, H:22,700
ME=HZE HRECHE) | JAL JAL 26,300 57%
KRR | JAL JAL 21,100 65% | H7KA:20,600, £ 1:21,900, H:23,200
HEXRX |[ERCEBE)| JAL JAL 26,300 57%
KIR(FFD|  JAL JAL 19,400 67% |% =+ H:20,100
ME=ES FUEF [RERCHHE)| JAL JAL 20,200 67% &+ H:20,700
mER = JAL JAL 20,200 67% &+ H:20,700
A= FUEF JAL JAL 20,200 67% &+ H:20,700
BT JAL JAL 20,200 67% &+ H:20,700
MHE=8 FREF JAL JAL 20,300 68% |+ H:20,800
EEFE JAL JAL 20,300 68% |+ H:20,800
FE=#L PREES JAL JAL 20,400 68% &+ H:20,900
) JAL JAL 21,800 62% JKA:21,300, & +:22,600. H:23,000
ENITES )| JAL JAL 20,400 68% &+ H:20,900
) JAL JAL 20,100 65% | H:20,800. +:21,200
=L FUEF )| JAL JAL 28,100 60%  |%:28,500, £:21,600, H:24,800
EIZRIES )| JAL JAL 27,100 61% 7K 7K:25,700, £:28,000, +:21,300, H:24,300
ME=X% PREES )| JAL JAL 28,000 59% |A:28,400, £:29,300, £:23,100, H:24,300
) JAL JAL 21,600 64% | AKA:21,100, £ 1£:22400, H:26.400
Ko 5 )| JAL JAL 27,800 60% | A:28,100, %:28,500, £:23,400, H:27,400
KR (D[ JAL JAL 20,800 65% | F:21,100. % +:24,300. H:28,000
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ME=RIE BEFE [EZRCHH)| JAL JAL 28,000 61% | F:28,300, A:28,400, %:29,300, £:23,100, H:22,800
ARG | JAL JAL 24,200 64% | % +:25500, H:27,300
KRR [ERERCEE)| JAL JAL 27,800 62% |7k:27,900, K:28,200. £:28,900, £:23,800
KIR(FFD]  JAL JAL 22,200 67% |&+ H:22,900
ME=FEX BHEFE [RZRCHH)| JAL JAL 28,800 59% |A:29,200., £:30,500, £:24,300, H:23,400
KER(FFD | JAL JAL 22,000 66% | A KA:21,500, £:25,100, +:22,800, H:26,400
RBAR [ERCEE)| JAL JAL 27,900 60% | A:28,200, £:28,800, 1:24,300
KIR(FFD|  JAL JAL 21,200 67% | H:21,500, %:22,200, +£:24,300, H:24,700
ME==I BHEFE [ERRCHH)| JAL JAL 27,200 61% |A:27,600, £:28,500, £:22,300, H:23,400
KIR(FFD]  JAL JAL 25,100 61% | F :25,000. 7K:25300. £:26,600. £:26,300. H:27.300
BEE |ERCHR)| JAL JAL 27,400 61% | A 7K:27,000, &K%:27,700, 1:23,400, H:26,600
KER(FFD | JAL JAL 25,100 61% | F:25400, %:26,600, £:26,500, H:29,100
MHE=ERS BHEFE [BRRCHH)| JAL JAL 26,000 64% | F:27,500, A:26,400, %:27,600, £:20,700, H:24,300
KER(FFD | JAL JAL 24,200 65% | FKA:23700. %+ H:25,100
BREH |[EZECHH)| JAL JAL 25,400 65% | F:27,900., %:28,300, £:23,600, H:25,000
KR (D[ JAL JAL 22,800 67% | F:23,100, % £:23800. H:28,000
MA=F1E = [ JAL JAL 51,300 46% | A% H:49,400, 7K:54,400, A:40,600, 1:50,100
[ JAL JAL 51,300 46% | A% H:49,400, 7K:50,800, A:40,600, 1:50,100
EE=HE )| JAL JAL 24,300 61% |% H:29,100
[ JAL JAL 30,200 51% | HJKA#® H:29,100, :25800
e =l )| JAL JAL 24,300 59% | H:29,500
[ JAL JAL 26,900 55% | A H:29,900. KK %£:25,000, £:25.400
EE=X% )| JAL JAL 25,400 59% |+:30,600, H:31,700
[ JAL JAL 31,700 49% | A KA:30,600, £:29,100
EE=RIF )| JAL JAL 27,200 61% |%:27,300, £:32,900, H:33,800
[ JAL JAL 29,000 58% | F H:32,000, kA% +:27,100
TEE=FEX )| JAL JAL 25,800 61% | H:32,900, 1:31,000
[ JAL JAL 32,700 51% | FJKA:31,000, % +:31,800, H:32,900
EE=2Ik )| JAL JAL 29,800 56% &+ H:32,900
JAL JAL 26,000 65% | A A+:27,300, 7K:24,100, £:28,200, H:29,400
JAL JAL 32,900 51%
JAL JAL 27,700 63% | F:27.300. 7k A:24,500. £:29.400. +:28,200. H:28,100
EE=ERS JAL JAL 28,300 60% | A /KA:28,500, £ 1:34,100, H:32,600
JAL JAL 34,100 52% | A KA:32,400, £ +:33,400
(L =/ B JAL JAL 16,800 62% | H:16,400
B JAL JAL 16,800 62% |::16,900, £:16,400. H:17,600
Lz =Pl B JAL JAL 18,800 65% |4+ H:19,400
B JAL JAL 18,800 65% |4+ H:19,400
W =I55 B JAL JAL 22,800 58% |%:22,900, £ H:19,400
B JAL JAL 21,400 61% |+ H:19,400
Wiz =LAFER B JAL JAL 18,500 68% | H:19,000, 1:18,800
WOFE% "R | JAL JAL 18,800 68% |::19,800, £:19,000, H:20,700
IWi=HZE W% | EECHH)| JAL JAL 27,900 46% | A:27,100
KR (D[ JAL JAL 22,100 62% | F7K:21,000. A:23900. £:24,700. +:25500. H:25,600
HER |[ERCEHR)| JAL JAL 27,900 46% | A:27,200
KRR | JAL JAL 24,700 58% | F:23,900, 7k AK:21,000. H:26,300
Wk =#5 W% |WECHA)| JAL JAL 19,200 64% |%:20,700, £ H:17,600
EE% |HEECAE)| JAL JAL 19,700 63% |+ H:18,400
Ik =2 W% |HFECHHE) | JAL JAL 19,700 63%
S |[ERCHH)| JAL JAL 21,200 60% |#::21,600, £:21,500, H:21,900
Wi =10 W% [EEGE| JAL JAL 21,200 62%
KBR(FFD [ JAL JAL 22,800 59% | A sK+:21,000, A%:24,600, H:25,000
WL [ERCEHE)| JAL JAL 20,600 63% & +:21,000. H:22,400
KBR(FFD [ JAL JAL 24,600 56% |7K7K:21,000. % B:21,700. £:21,400
Wik =K5 W% [EEGE| JAL JAL 23,200 61% +:23,600
KBR (FFD [ JAL JAL 22,600 61% 7k £:20,800, A%:24,400. H:28,400
AH%E  |[EECEE)| JAL JAL 23,200 61% | H:23900
KBR (FFD [ JAL JAL 25,200 57% | F:24,400. JKA:21,500. H:29,600
Ik =RI& W% |[EECHH) | JAL JAL 23,200 63% & +:23.600
KBR(FFD | JAL JAL 25,700 61% | F7K:23900, A%:27,500, £:28,300. H:29,300
RB%E [ERCGEH)| JAL JAL 23,100 64% | A%+ H:23,600. /kA:22,700
KBR(FFD | JAL JAL 27,500 58% 7:23,900. B:29,100
Wi =8EAR W% |[EEECHRH) | JAL JAL 24,000 61% £:24,800. H:22,800
KBR(FFD | JAL JAL 23,000 64% | F7K:21,900. A:24,800. %:27.700. *:26.400. H:27.800
BA%R [EzRGHE| JAL JAL 23,200 62% | %:24,500, H:25,600
KBR(FFD | JAL JAL 25,600 60% | F:24,800. 7K A:21,900. H:27.200
Ik ==1% W% |[EEECHRH) | JAL JAL 22,400 63% & +:22,.800. H:22,700
KBR(FFD | JAL JAL 27,000 57% | A7K:25,900. A&:28,300. % H:29,800. 1:30,500
EE%E [EERGHE| JAL JAL 21,900 64% | %:22,000, H:22,300
KBR(FFD | JAL JAL 28,700 55% | FH:27,900. 7K A:25,800. % +:29.900. H:30,500
Wk =ERS W% |[EEECHRH) | JAL JAL 21,200 67%
KBR(FFD | JAL JAL 25,500 62% | F7K:24,900. A:27.000. %:29,700. *:28,700. H:28.900
BRER [ERCHHE)| JAL JAL 22,800 64% | F:23,600, H:24,800
KBR(FFD | JAL JAL 27,200 59% | F1:26,200. 7k A:23500. H:30,500
Ik =H1E W% [EECGHE) | JAL JAL 51,300 41% | A% B:49,400, 7K:54,400, A:39,200, 1:50,100
AiEH  |[ERGHE)| JAL JAL 51,300 41% | A% H8:49,400, 7K:50,800, #:39,200. 1:50,100
E=H=E = KBR(FFD [ JAL JAL 25,800 55% | F7K:25,300. % 1:26,300, B:24,500
HEE [ KRUERFD| JAL JAL 25,800 55% | F:25,000, 7K:26,200, K £:26,300, +:23,500. H:25,900
e =#L & KBR(FFD [ JAL JAL 22,000 60% |sk:21,700, H:22,400
MLFE [ XBR(FFD | JAL JAL 21,100 61% |+:21,500, H:21,400
E=x% WEHE [ KERUEFFD] JAL JAL 22,100 61% | A:22,500. % +:22,600. H:25800
An%E | KXBRGEFFD| JAL JAL 21,500 62% | +:24,600. H:24,000
e =R = ABRURFD | JAL JAL 25,200 61% 25,700, H:26,700
RIG%E | KKRUEFFD| JAL JAL 25,000 61% |7K:24,600, %:25,100, £:24,700, H:26,200
s =g.K = KBR(FFD [ JAL JAL 22,500 64% | A:22,900. £:25,100. £:23,000. H:25,800
BAE | KKRUEFFD] JAL JAL 22,200 64% | +:25500, H:20,700
&E==k = KBR(FFD [ JAL JAL 26,500 57% % +:27.400. H:26.900
BEHE  [KREED] JAL JAL 27,100 56% | HA+:27,500, £:28,000, H:28,700
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WE=ERS iEF [ KERUEFFD| JAL JAL 25,200 62% | A:25,600, £:26,100, £:26,500, H:25,400
BREH¥ | KRURF)| JAL JAL 26,300 60% | F:26,500, A:26,900, %:27,400, £:24,800, H:27,600
FR=HE #FiRFE [ KRUFFD| JAL JAL 23,800 57% | H:23,600, 7k:23,500, H:21,400
HE RBR(FFD | JAL JAL 23,600 57% | H:22,800, 7k AK£:23,800, £:21,600
Fim=Hl #FimFE [ KRUFFD| JAL JAL 18,900 64% |7K:19,300, £:19,500, H:19,900
Mg [ KBRFFD | JAL JAL 19,100 64% |7k:19,500. £:20,500, £:20,200, H:18,500
FR=X% #FinFE [ KRUFFD| JAL JAL 20,400 63% |7k K%£:20,300, H:23,300
A% | KBREFFD| JAL JAL 18,900 66% |sk:19,300, £:20,500, £:21,400, H:22,000
FiR=RIK FiRFE [ KRUFFD| JAL JAL 20,500 67% |7k:20,900. £:21,300, £:21,000, H:21,400
RIBE [ XRUFFD| JAL JAL 22,600 64%  |%:23,200, £:21,900, H:23,900
FiR=REX #FiRFE [ KRUFFD| JAL JAL 20,800 65% |7k K:20,700, £:22,600, H:23,300
REARFE [ KRUFFD| JAL JAL 21,200 65% | 1,400, H:22,000
FR== #FiRFE [ KRUFFD| JAL JAL 23,100 61% |Jk: 4,000, 1:23,300, H:24,200
) JAL JAL 25,100 58% | 4::26,100, £:24,300, H:26,400
FR=ERS )| JAL JAL 23,300 63% 3:23,500, 7k AX:23,400, %:23,800, +:24,100, H:22,500
| JAL JAL 22,800 64% |£::23,300, £:21,600, H:25,300
A= CRE) [ JAL JAL 20,800 65% |/:20,900, %:21,800, £:18,500, H:19,800
FOHE) [ JAL JAL 20,700 65% |A: £:21,700, 1:19,800, H:18,000
IMNA=IRE FCRME) | JAL JAL 22,400 63% |- 8,300, H:19,600
FHE) [ JAL JAL 21,500 64% |A: 2,700, £:20,200, H:18,600
MR=ILOFER FHE) | JAL JAL 17,800 72% |% £:17,400, H:20,500
FOHE) [ JAL JAL 18,200 72% _|£:18,800, H:19,300
INA=HE FHE) | JAL JAL 25,900 55%
FHE) [ JAL JAL 25,900 55%
IMNA=TES FCRA) | JAL JAL 20,300 65% |+:17,000, H:17,400
FHE) [ JAL JAL 21,000 64% 17,900, H:17,000
INR=F FH) | JAL JAL 22,100 62%  |%:23,400, H:23,700
FOHE) [ JAL JAL 22,400 62% | /:22,700, %:23,600, £:22,200, H:21,900
IMA=TF FE) | JAL JAL 20,200 67% |::20,300, £:19,400, H:21,200
FHE) [ JAL JAL 22,300 63% |+:21,400. H:20,200
MR=HL FCHE) [ JAL JAL 22,100 64% |£:22,900, £:21,900, H:23,500
FHE) [ JAL JAL 23,100 63% | 1:22,200, H:21,900
MR =FE T 7 FHE) | JAL JAL 23,100 66% 3 7k AK:22,700, %:24,000, £:20,700, H:25,100
FOHE) [ JAL JAL 22,800 66% | FJK:21,400. &:21,700. £:23600. £:21,500. H:22,300
INR=K5 FHE) | JAL JAL 23,100 65% | 4::24,600, H:25,000
FHE) [ JAL JAL 23,100 65% | F:23,600, A& £:23400, %:24,800, H:23,800
M= RIB FCRME) | JAL JAL 23,100 67% . %:24,800, 1:24,100, H:23,000
FHE) [ JAL JAL 22,200 68% 3,500, 1:23,200
IMA=FEX FH) | JAL JAL 23,100 66% 3,400, H:24,300
FCHE) [ JAL JAL 23,500 65% 125,300, £:25,000, H:24,400
M= IR FH) | JAL JAL 21,700 68% :21,900, JKAK:21,500, %:22,300, £:21,400, H:22,500
FHE) [ JAL JAL 21,000 69% | A H:21,400, &A+:21,300, £:22,200
IME=ERS IMRF FCRME) | JAL JAL 17,500 75% |&+ H:19,700
BRSH¥ |HECHH)| JAL JAL 18,500 73% + H:20,500
IME=ETH MAZE [RERE) | JTA |[JTA/RAC| 27,300 59% :27,400, %:30,800, +:30,500, H:27,700
Em | P (FRER) [JTA/RAC|  JTA 28,200 58% | H < H:28,500, 1:31,600
INA=F1E NRFE [RERGHE) | JAL JAL 51,300 45% | A% H:49,400, 7K:54,400, £:38,300, 1:50,100
SR (RE) | JTA [JTA/RAC| 27,800 62% |4 +:30,900. H:28,000
RiEH [HREREGH)| JAL JAL 51,300 45% | A% H:49,400, 7K:50,800, £:38,200, 1:50,100
048 (RF) [JTA/RAC]  JTA 28,600 61% | £:31,100
=21 FELZE  |P#B(ERER) | JTA [JTA/RAC| 26,600 55% | 7K1:26,500, A:32,400. £:32,500, H:26,800
EoF | PR (BRER) [JTA/RAC|  JTA 27,400 54% | [H:27,300, 7K:27.200, A:26,900, £:27,000, + H:33,300
[ITEE=E FELZE  |h#B(ERER) | JTA [JTA/RAC| 29,200 55% | A+ H:28,200, 7K:29,100, A:33,400. £:34,200
AiEH [ FEGRH) [JTA/RAC]  JTA 27,700 58% | %:27.400, 7K:27,600. 27,300, £ H:33,400
BAH== EEF [T JAL JAL 21,800 56% |sk:21,400, %:22,300, £:21,400, H:23,500
| =’® | EE JAL JAL 21,800 56% |2 1:22,300
R RE) =FF [ EEB) | ZRECHAA) | JAL JAL 24,700 70% 7:26,600, A:25,800, £:26,800, H:30,400
KER(FFD | JAL JAL 14,800 82% |+:15,600, H:17.100
BA¥E [ERCHH)| JAL JAL 24,300 70% | A:24,600, £:28,700, 1:28,500, H:26,700
KIR(FFD]  JAL JAL 19,300 76% |%:19,700, £:20,700, H:20,300
PR (ERER) = =R [ GRE) R | R CRHA) | JAL JAL 25,600 68% 7:27,400, H:29,800
=R% |[ERCEE)| JAL JAL 24,400 70%  |%:26,700, 1:27,400, H:26,000
PR (BRER) =FTNE | GRB) R KR CRA) | JAL JAL 25,200 66% | F:27,500, %:26,100, £:20,900, H:25,300
KER(FFD | JAL JAL 15,900 79% [A:16,200, £ +:17.100, H:20,200
BHEF [EZRCHH)| JAL JAL 26,200 65% | A:26,600, %:31,800, £:25,600, H:21,700
KER(FFD | JAL JAL 19,800 74% _[7k:20,700, £+ H:20,400
PR (RER) =1E% | B | KR(EFD | JAL JAL 24,000 70% 3 /K AK:22,400, £ +:29,100, H:32,800
=] JTA JAL 35,600 57% |7K:32,400, A:33,000, %:37,400, £:37,000, H:37,800
EEFK [ KRUFFD| JAL JAL 23,900 70% | H:28,700
=] JAL JTA 34,300 59% | /:35,600. 7K:32,400, %::36,600. £ H:37,000
PR (BRER) =1L | GIRER) R | R CRIE) | JAL JAL 21,800 67% | H:23,600, H:26,000
KER(FFD | JAL JAL 21,400 72% | A KK:16,700, H:23,400
W% |[ERCEA)| JAL JAL 21,400 67% % +:26,100
KER(FFD | JAL JAL 22,400 70% | AskA:21,300. % H:25,000. +:25,800
PR ERE) =& |PEEE) R EE JTA JAL 28,700 65% | A:29,300, £:30,500, £:31,000, H:32,100
KIR(FFD] JAL JAL 21,300 71% |H:20,100
[IE=E3 [T JAL JTA 30,000 63%  |%:33,500, £:31,700, H:33,700
KIR(FFD]  JAL JAL 21,900 71%  |#+:22,400. H:21,800
PR (BRER) =/ P GIRER) | R CRIEA) | JAL JAL 21,300 70% 123,200, K:21,600, %:22,100, £:20,800, H:25,000
RFE  [ERFERHE) | JAL JAL 20,500 71%  |%:25200, +:24,700, H:22,400
R RE) == CMEEB) %] EE JTA JAL 25,900 56%
EEF [T JAL JTA 25,900 56%
PR (ERER) =L P RB) K| EE JTA JAL 24,100 56%
[NTIES 12 JAL JTA 24,100 56%
RRPAE) =BTZXE|RRCHE | BES JAL JAL 25,300 64% | A H:25,700. %#:26,400, 1:28,200
RBR(FFD | JAL JAL 29,500 56% | +:30,400. H:29.600
BEXER | ERE JAL JAL 26,500 63% | F:28,200, :26,900, £:29,000, H:28,900
RER(FFD | JAL JAL 31,300 53% | +:30,500. H:30.600
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ERCHE)=ERE [ZRR(PHE)%| BRES JAL JAL 26,500 63% | 1+:28,400
ERER BRS JAL JAL 26,500 63%  |%:29,800, £:29,200, H:30,100
HROHE) =28 [ZRR(PHE)%| BRES JAL JAL 28,200 62%  |£:29,300, £:31,100
RPA=E BRES JAL JAL 29,000 61% :29,800, %:31,100, H:31,400
R CHE) =K RE| HRCHR %] BRS JAL JAL 28,600 63% |/K7%:29.000. £:30,100. +:31,500
KIR (R =EERB| KIR(FFDX| ERE JAL JAL 22,900 60% | A%:23000, +:23200. H:24,100
BEEAER | BERE JAL JAL 24,300 57% 124,500, 7K:24,900, %:26,500, £:23,900, H:24,700
KR(FFH=BERE [ XRFDE| BRES JAL JAL 25,500 56% | A KA B:25700. £:26,100, 1:26,300
ERER BRS JAL JAL 25,500 56% | HAH:25700, £:26,100, £:25,100
KRR =828 [ XKRFDE| BRS JAL JAL 26,600 57% | HIKAKH:26,400. £:26,800, +:27,400
BeER BRS JAL JAL 26,800 56% | 7K:27,000, £:27,400, 1:26,400, H:27,200
KIR (R =k BE | KIR(FFD%| ERES JAL JAL 26,800 58% | A H:27,000, K A:27,400, £:27,800, 1:27,600
[ SEPNE] 12 7 BRS JAL JAL 18,500 61% |H:18,900, £:16,900, H:18,600
BEEAER | BERE JAL JAL 20,600 57% | A:21,000, %:22,200, £ H:19,000
BE="ERS 12 BREE JAL JAL 22,200 55% H:20,600
BE=1E28 [ BRS JAL JAL 23,100 55% 21,500, H:21,900
BeER BRS JAL JAL 23,100 55% |+ H:21,500
RRCHE)=5E R (PHE)F| HIE JAL RAC 43,000 46% | A:37,800
5MEFR [ AHEGEH)| RAC JAL 28,000 65% 7:29,800, H:32,200
RiE RAC JAL 43,000 46% | A:37,800
AR =5HE| ESHPEHK |H#EEH)| RAC JAL 22,100 69% | & +:22.200. H:22,700
KR (B8%) =53E | KR () %] FHiE JTA RAC 34,300 49%
5MEFR [ AHEGEH)| RAC JTA 34,500 52% |%:35,100, £:33,300, H:37,000
RiE RAC JTA 32,400 52% | A%:31,000, £:33,500, H:34,600
ZEECHEN=5BE| SHPEF [AEGH)| RAC JTA 38,700 50% |7k:38,600, A:38,400
12 = 5 AE S5MEFR | A#EGEH) | RAC JTA 29,200 55% | A:29,800, £:30,900, £ H:31,400
ShEE (| =5 ME B FF | FIE |[ITA/RAC| RAC 11,500 70% | A%+ H:10,200, 7K:11,400, £:9,200
| _&iE RAC [JTA/RAC| 10,600 73% | A H:10,000. 7k:10,400, AK:9,100, £ +£:9,300
HRCHE)=AXKE |48 (BF | JAL [JTA/RAC| 21,100 64% % 1:25.200
| 348 (RFR) [aurarrac]  JAL 19,800 66% | H:21,700, % +:19,900, H:24,100
KBR (RFH =AKEB | R4 (BREE) | JAL [JTA/RAC| 24,100 53% |%:25000, £:25,700, H:22,200
| 348 (RFR) [aurarrac]  JAL 24,200 53% |4::23,300, £:22,600, H:24,800
KB (BHEE) =AKEB | R4 (BRFE) | JTA [JTA/RAC| 27,200 47% _|7K:28,500, %:29,500, £:30,600, H:26,500
| 348 (RFR) A urarac]  JTA 25,100 51% |£:25900, £:24,100, H:27,800
ZHE(PE)=AXE|EHECPH X AEEH) | JTA [JTA/RAC| 31,100 45% | A:31,700, % H:31,400, £:32,100
AKEFE |8 GBI) [aorarac]  JTA 30,900 45% _|7k:30,800, 30,600, £ + H:31,000
BE=AXE | R4 (BRFE) | JTA [JTA/RAC| 24,800 43% | A 7:24,500, 7K:24,600, £:24,600. + H:24,900
AXEH [(HEGRH) [avtarac]  JTA 24,500 44% | FJK7K:24,400, £ H:24,600
RRECHA) =R |R’RCIA) | XREEF) | JAL JAL 20,100 61% |A:20,900., £:20,400, £:20,300, H:19,200
HE JAL JAL 26,700 43% | F7K:25500, A:25,100, £:26,300, +:24,600. H:25,900
fRlkF [ KBRURFD| JAL JAL 19,800 61% | A H:20,300, £:19,700, 1:18,900
HE JAL JAL 26,700 43% |7K:27,100, &:25,900, %:27,100, £:27,500
PR (RER) =R I GRE) | KBR (BFH | JAL JAL 15,900 78%  |%:16,500, 1:14,400, H:16,900
#FiRFE [ KRUFFD| JAL JAL 18,500 74% _|7K:18,900, £:19,200, H:19,300
12 = #LIR G F %) EEF  |[RERCHE)| JAL JAL 31,100 61% 3 A:31,500, £:32,600, £:33,500, H:29,300
HIRF TR R R CHE) | JAL JAL 29,300 63% | F:29,600, %:36,600, +£:33,000, H:31,500
EHR=%m5 HEHRFHE IR TR | JAL JAL 16,400 66% |7k:19,400, £:16,800, H:17,900
ZERIF [ARGEFTH | JAL JAL 16,400 66% | A A%:17,400, 7k:20,300, £:17,900, H:17,600
T =% R TR 5 IR TR | JAL JAL 18,100 66% |7k:21,100
Zmpl % [ARETR | JAL JAL 18,200 65% | A A%:19,100, 7k:21,200, £:19,600, H:18,600
2EE () =%5L [25E (P E|RFCAA) | JAL JAL 19,400 70% |%:19,900, £:20,400, H:20,300
whFE  |[ERCHHE)| JAL JAL 19,600 70% | £ +£:20,200, H:21,000
HEE(HE) =Bl [&&R (h#h) | RmR CHE) | JAL JAL 18,600 72% | A:19,800, £:19,200, £:20,200, H:18,500
JBINFE |[HRERCHHE)| JAL JAL 16,300 75% |%:16,700, +:16,600, H:17,800
B =25 HRECHE) | JAL JAL 24,700 69% 3:26,100, A:25,600, £:27,200, + H:27,800
HEECRE) | JAL JAL 25,300 69% | /:25400, %:26,100, £:25500, H:25,700
mE=%m5 HRECHE) | JAL JAL 23,200 71% | H:24,600. A:23,700, £:25,300, 1:23,300, H:24,300
HEECRE) | JAL JAL 23,400 71% | 7A:23,500, £:25,300, 1:21,500
Ko =% 5 FRCHE)|  JAL JAL 23,400 73% |&+ H:24,400
HERECHE)| JAL JAL 23,400 73% |4
R =2 5 HRECHE) | JAL JAL 23,900 74% |3
HERECHE)| JAL JAL 23,900 74% |3
RAR=%E5 HRECHE) | JAL JAL 23,900 73% |3
HERECHE)| JAL JAL 23,900 73% |4
BB =2 Rl HRECHE) | JAL JAL 23,900 73% |3
HERECHE)| JAL JAL 23,900 73% |4
BRE=%i5 BREH |HECHHA)| JAL JAL 23,900 74% |3
ZimplFE |WRCHE)| JAL JAL 23,900 74% + H:25,000
AR EHFR) —CEAB ARG FR) % HRCAE) | JAL JAL 28,400 69% 128,700, < H:30,800, £:31,700, £:32,000
BEAEE [RRCHE)| JAL JAL 29,600 67% | H:32,800., A:30,400. £ H:33,000, 1:28,600
BEHR=EEKXE BA¥E |[ERCHHE)| JAL JAL 28,000 68% | A:30,500, £:31,600, £:31,000, H:30,200
BEAEE [RRCHE)| JAL JAL 28,000 68% | F:30,400, A:29,200. £:29,800, H:31,800
ME=FXXE FUEF [RERCHHE)| JAL JAL 30,000 63% | A:32,800, %:33,300, £:27,100, H:26,300
BEAEE [RRCHE)| JAL JAL 28,600 65% | F:31,000, £:29,500, £:24,300, H:26,700
IMA=TEKRE MAFE  [RRCHE) | JAL JAL 24,200 69% | A%:26,600, 1:26,200, H:25,400
BEAEE [RRCHE)| JAL JAL 24,200 69% | H:26,600, 1:23,800, H:26,200
WAFM=3I% | WOFHE [BRRCAHE)| JAL JAL 21,900 74% | R:24,100, £:23,000, £:23,700, H:25,200
SRR [HERCEHE)| JAL JAL 22,600 73% | F:23,500, £:22,800, 1:22,200, H:26,100
B =3I B [ERCHHE)| JAL JAL 24,300 69% | F:26,500, %:25,700, £:26,800, H:26,400
HIpRFE [HRCHHEH)| JAL JAL 26,100 67% | F:27,000, %:26,500, £:26,900, H:28,100
EE=9% BEFE |[ERCHH)| JAL JAL 22,400 71% | F:24,600, £:23,100, £:22,200, H:22,900
SR [HERCEHE)| JAL JAL 24,200 69% | F:25,100, £:25,000, £:21,800, H:23,000
K5 =4 AnF |[HRCHH)| JAL JAL 22,400 74% |$&+ H:23,400
SRR [HERCEHE)| JAL JAL 22,400 74% |3
RIE =8B R |[HRERGHE)| JAL JAL 22,900 74% |3
SR [HERCEHE)| JAL JAL 22,900 74% |3
A= REAF |[HREREGH)| JAL JAL 22,900 73% |3
flExRE  [ERCEE)| JAL JAL 22,900 3% &
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R ®ed = 4/14-4/27 |E 73 e
HEIES
IR =SB RECHE) | JAL JAL 22,900 73% |3
H JAL JAL 22,900 73% &+ H:23,900
BR&=3I% JAL JAL 22,900 74% |$&+ H:23,900
JAL JAL 22,900 74% %+ H:23,900
LE=%k JAL JAL 26,200 67% | :26,500, £:24,200, H:26,400
JAL JAL 25,500 68% |4:26,500, +:24,300. H:24,900
BR="TFIk JAL JAL 26,000 66% |%:26,700, £:27,100, H:28,900
JAL JAL 26,300 66% |4 +:27,300, H:28,100
LN JAL JAL 24,500 68%  |%::24,800, £:23,000, H:25,400
JAL JAL 24,400 69% | 425,800, t:22,200. H:23,000
Ko =%Ia JAL JAL 22,000 74% |#&+ H:23,000
JAL JAL 22,000 74% %+ H:23,000
RIE="%IA JAL JAL 22,500 75% |&+ H:23,500
JAL JAL 22,500 75% %+ H:23,500
RA=%E JAL JAL 22,500 74% |#&+ H:23,500
JAL JAL 22,500 74% %+ H:23,500
B =15 JAL JAL 22,500 74% |$&+ H:23,500
JAL JAL 22,500 74% %+ H:23,500
BRE=%F5 JAL JAL 22,500 75% |&+ H:23,500
JAL JAL 22,500 75% H:23,500
BII==h JAL JAL 24,900 68% 25,600, £:26.600. T.25,900. F:26,000
JAL JAL 26,000 67% | F:27.000, 726,800, %:28,900, £ :27,700. H:28,500
HE=E0 JAL JAL 25,200 64% | AK:26,500, £:25,800, £:27,100, H:28,500
JAL JAL 24,700 65% | A:24,800, %:25,700, £:27,000, H:25,800
HE=1E5 JAL JAL 23,300 67% | A:24,600, %:24,300, £:22,000, H:23,400
JAL JAL 22,800 67% |A:22,900, %:23,800, £:22,400, H:22,300
EEE=LOFE JAL JAL 21,700 71%  |7k:23,000, :22,100, 1:22,400, H:26,500
JAL JAL 22,300 70% | A:22,400, % +£:23,900, H:24,600
RRECHA)=RFR [RFECHA)H JAL JAL 17,700 66% 9:18,100, #:16,500, 1:21,000, H:19,300
HRHE JAL JAL 18,400 65% |/:19,700, %:18,600, £:21,200, H:22,600
AR (FFH) =BR B 5 JAL JAL 21,800 64% |+ H:23,100
hEEGRE) =B85 R EH) % JTA JAL 25,100 58% | A:25,700, £:26,700, £ H:27,200
BEH JAL JTA 24,500 59% 125,500, + H:25,900
BIN=1E5 FENIES JAL JAL 23,600 70% £:25,800, 1:23,800, H:23,700
BEFR JAL JAL 24,100 69% K:24,900, £:26,300, 1:23,800, H:25,000
BINI=X% JENIES JAL JAL 21,400 75%
nFE JAL JAL 21,400 75%
IR (B2 =R [4LIR(EE) % JAL JAL 17,600 50%
B 5 JAL JAL 17,600 50% |+:17,100, H:14,600
EIEEES FES JAL JAL 19,700 53% | H:19,500
BEE R JAL JAL 19,700 53%
HlEE==iR 1% 5 JAL JAL 23,700 49% | F:18,800, H:21,000
=IR% JAL JAL 22,400 52% | HKA%:20,200, £:21,000, H:23,700
IR = FRHE JAL JAL 23,700 46% | £:22,900
AR R JAL JAL 22,200 49% |A:18,000, £:23,700, H:21,700
FR =82 FIFR T JAL JAL 23,700 50% |+ H:22,600
1% 5 JAL JAL 21,400 55% | F:18,000, 7k:19,400, A :23,000, +:23,700. H:20,000
ZR=FMR ZR% JAL JAL 23,200 53% JKA£:19,000
BR&=mE BRER JAL JAL 21,900 76% |&+ H:22,900
FEIES JAL JAL 21,900 76% |4
RIBE=1HEJIl RIG % JAL JAL 21,900 76% |3
FENIES JAL JAL 21,900 76% |4
REAR=1E)I REAR JAL JAL 21,900 75% |3
FEIES JAL JAL 21,900 75% |4
EEEE EGE JAL JAL 21,900 75% |3
JEIIES im(qaﬂa) JAL JAL 21,900 75% |4
BERG=PKRE | EBEXEE | 25 JAL JAL 11,900 57%
HABREE | BB JAL JAL 11,900 57%
BrE=HRH) | BxEFE | MKEA | JAL JAL 15,600 54%
ShiE (RER) | AUKERER | JAL JAL 15,600 54%
HRCHE)=BFE [ZRR(PHE)%| BREES JAL JAL 23,300 60%  |%:24,400, 1:26,200
EFER BRS JAL JAL 23,400 60% | H:24,600, £:25,900, 1:25,200, H:26,200
HRCHE)=EAE [RR(PHE)%| BEREE JAL JAL 24,000 60%  |%:25,100, £:26,900
BAER BRS JAL JAL 23,600 61% | F:24,400, %:25,700, £:25,500, H:26,000
KR(FRFH=BAE [ XKRFDFE| BRES JAL JAL 21,600 54% 21, £:22,000, +:22,400, H:21,400
BAER BRS JAL JAL 21,400 54% | A 7K:21,600, £:22,000, +:21,000, H:21,800
ERE=/"18@H) | BERER | EEXS | JAL RAC 23,800 55% | F:24,300, H:25,500
B (FE | BEKXS | RAC JAL 25,500 52% |A:25,900, £:27,100
BE=EAS [ BREE JAL JAL 17,700 52% |+ H:16,100
BAER BRS JAL JAL 17,700 52% |+ H:16,100
BE=EFS [ BRS JAL JAL 17,900 50% 318,300, 1:16,300, H:16,700
EFER BRS JAL JAL 17,000 52% |+ H:15,400
LE=1BJI LE% |[R®ZRCHHE)| JAL JAL 25,800 68% | F:26,800, A:26,600, %:28,000, £:25,300, H:26,500
JBIIF |[ERCHE)| JAL JAL 24,100 70% | F:25,400, £ H:25,800, +:25,900
wil==x NIE] [T JAL JAL 18,900 59% | H:18,000, 7k:18,600, A% H:18,500, +:19,400
EGE [ JAL JAL 17,200 63% |%:17,600, £ H:18,400
PR (RE) =EEXB | MREGBBIR| 53 RAC JAL 16,000 59%
[EIN-F. 5 JAL RAC 16,000 59%
BR =K BRFE [HIEEK | JAL JAL 18,000 55% |+ H:15,000
BfESR  [AREH)| JAL JAL 18,000 55% |+ H:15,000
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BESH E—o8#
) aih® 5/95/17 | gyaim "%
RR(CHB)=2d [HRERCHH) S| M@ | JAL [JTA/RAC| 21,600 68% | A H:21,400, /KA:21,200, & 1:24,700
Eox |4 F#) [JTA/RAC]  JAL 20,700 69% [H % +:20,600. /kA:20.400, H:24,800
HR(CPE) =RE |[RRCEE)#[AMEH) | JAL [JTA/RAC] 22,100 70% | AskAK:21,700, % +:25,200, H:21,900
ABR (BSFE) | JAL JTA 35,100 57% |%::35,600, £:35,900, H:34,200
FiE% R GRE) [JTA/RAC|  JAL 21,200 71% | A%:21,100, k&K +:20,900. B:25,300
KR (D) =% &5 | KB (A % [ /R CRE) | JAL JAL 24,900 66% | F:25,300, % +:24,500. H:25,600
ARFTR)|  JAL JAL 26,000 64% | F1:26,400, %:27,400, £:25,100, H:21,100
ZEAE [EREE| JAL JAL 24,000 67% | F:24.400. A:23,800. %:25000. £ :22,600. H:26,000
ARFTR)|  JAL JAL 27,000 62% | %:25,300, £:20,700, H:23,500
KB (B8TE) =2 Bl | ABR (B #8) % | CHE) | JAL JAL 21,800 70% | A A:22,200, %:22,600, £:23,000, H:24,700
ARFTR)|  JAL JAL 23,400 67% | F:23,800, %:25,300, £:21,400, H:18,500
ZEAE [EREE | JAL JAL 22,400 69% | F:22,800, £:23,700, £:22,600, H:26,200
ARFTR)|  JAL JAL 23,000 68% | £:23,700, £:19,000, H:22,100
KB (1) =1B)Il | RBR (FFD | /R CHE) | JAL JAL 25,100 65% | F:25500. £::26,400., £:24,300, H:25,600
JBINEE  |[HERGE)| JAL JAL 25,600 64% | F A:25900. 7K:25,000. %:25,300. *:25500. H:24.600
KBx (B878) =heJIl | ABx (B %[ Rm (HE) | JAL JAL 23,000 68% | A A:23,500, £:23,400, £:23,600. H:24,700
JBINEE |[HERGEE)| JAL JAL 24,000 66% | A A:24,500. £:24,400. £:25,300. H:24,100
KB (771 =8IE% | KBk (A E | /R CHHE) | JAL JAL 27,300 61% | A:28,100, %:29,200, £:28,400, H:25200
SllEE% |[HECRE)| JAL JAL 26,300 62% | A:26,100. £:27,700. £:25,300. H:25,700
KBy (B7E) =#IE% | KBk (BAFE) | /R CHHE) | JAL JAL 21,400 69% 3 K:21,800., #:22,200, +:22,100. H:24,300
fllpR% |[HECRE)| JAL JAL 24,700 65% | %::26,400, £:25,400, H:25,900
KB () =I5 | RIR(FFDE|RRCHE) | JAL JAL 24,300 65% | F1:24,700. £::24,400., £:23,400, H:26,000
HEE |[ERCAE)| JAL JAL 24,000 66% | F H:24,400. A:23800. %:25000. *:22,600
KBy (B#E) =I5 | KBk (B & | /R CHHE) | JAL JAL 22,200 68% | A A:22,600, £:23,000. £:22,700. H:25,100
HEE |[ERCAE)| JAL JAL 22,400 68% | F:22,800, £:23,700, £:22,600, H:24,600
KB (71 =B08E | KR (BFD E | /R CHHE) | JAL JAL 23,100 63% |%::24,800, £:22,000, H:23,900
EREE% JAL JAL 24,000 61% | F:24.400. A:23,800. %:25000. £ :21,700. H:25,200
KR (B87E) =B8R | KR (BAFE) JAL JAL 21,700 65%  |£:23,400, £:19,900, H:23,000
BEEHX |[HFECRE)| JAL JAL 22,400 64% | F:22,800, %:23,700, £:21,800, H:25,400
KBR () ==iR [KIRFDRE[RR R | JAL JAL 28,200 52% | A /K7:23,900, £:23,100, +:21,800, B:21,700
=R%E |[ERGEHE)| JAL JAL 23,600 60% | /A:23400. %:25000. F:22,000. H:22,800
KBx (B87) ==iR [ KB (BIFE) % [Rm (FHE) | JAL JAL 20,600 65% 20,700
=R RRCAE) | JAL JAL 22,000 63% :23,700, £:21,800. H:23,000
KB (7 =[2% | KIR(FFDE| HE JAL JAL 14,400 60% | FIKS
ETES HE JAL JAL 15,100 58% | JKA% H:15500, :15,900
KR (R =BF& [ ARFMHH| BERES JAL JAL 21,800 52% | HKA:21500. £:21,900. F:22500. H:21,600
BEYEX BRE JAL JAL 22,000 51% | A AH:21,800. 7k:21,600, £:22,200, £:21,200
KR () =25 [XREGFFDHE[HMET | JAL [JTA/RAC] 25,200 57% | F:24,900, 7K &K:24,700, %£:25,700. +:26,400. H:24,200
BE% |58 RE) [JTA/RAC]  JAL 24,600 58% | F:24,800, % +:24,300. H:25,300
K (B8fE) == | ABR (BA7E) & | ;4B (RF) | JTA [JTA/RAC| 29,500 50%
Eo% | A#ORE [JTA/RAC]  JTA 28,700 51% | F:28,900, %:28,000, £:27,800, H:29,100
KBR (FFH) =FR1E [ KRG R [HEET | JAL [JTA/RAC] 25,000 62% |%:25800. +:26,500
FiE% | (R%) [JTA/RAC| JAL 25,100 62% | F:25,200, % £:24,900. H:25,700
KBx (B878) =H1E | KRR (BIF) % [H# T | JTA [JTA/RAC] 29,200 55% | /:29,400, %:29,500, £:29,600. H:29,000
FiE% | [JTA/RAC]  JTA 29,000 56% | H:28,900
ZHE(PE) =%iBA | BHE (PE) F[AMFTFR | JAL JAL 25,600 62% | F:26,000, £:24,600, H:22,200
iR ROHTFR | JAL JAL 22,800 66% | A:23,700, %:24,700, £:20,000, H:22,600
BHE(FEH) =24 [A&EP#) [ FMGBH | JTA [JTA/RAC| 31,800 50%
BE%E | 9488 [JTA/RAC]  JTA 31,100 51% |A%+ H:31,700, X:31,200
ZHE(FE) =FIE |25E P& @ GH | JTA [JTA/RAC| 31,300 56% | H:31,400. %:31,200. £:31,900
FiE% | [JTA/RAC]  JTA 35,500 50% | A% H:32,200. /K:31,800. A:31,700, 1:32,000
ALIR BT F#%) =/ [ALIR (B F i) %[ SRR CRE) | JAL JAL 22,800 64% | %:25,700, £:22,500, H:27,300
NAFE [ERECAE)| JAL JAL 23,100 64% | F1:24,000. A:23,900. % *:27.300. H:23,800
URFTFR —mLEEEARFFR % RR CAE) | JAL JAL 28,700 60% | F:29,000, %:28,900, £:29,600, H:27,800
Bt EEE [RRERCRE) | JAL JAL 28,300 60% | %:32,200, £:28,500, H:31,000
ALIR (BT F#%) =Rl [4LIR B F i) %[ Rm CRE) | JAL JAL 27,700 62% |%:29,900. £:25,600. H:30,700
FELFE [ERCAA)| JAL JAL 26,700 63% |%:31,000. £:31,500. H:25,000
HIREFTFR) =R8 AR @FHFR [ /RRCAHE) | JAL JAL 29,500 60% |%:30,300. £:26,500. H:30,700
LEE% |[ERCAE)| JAL JAL 26,900 63% :27,300. A:27,600, £:32,400, F:31,200, H:25,700
URFFR) =LOFH[ARFFR % RRCHAE) | JAL JAL 24,700 68% | %::26,800, £:24,500, H:32,000
A% [RRGIHE) | JAL JAL 25,400 67% | F:25.800. A:26,200. %:31,200. £:30,900. H:25,700
IR EFTFR) =HE [AE@FHFR [ R/RRCAHE) | JAL JAL 31,000 56%
HES |WECHAH)| JAL JAL 31,000 56%
HIREFTFR) =ES AR FHFR [ /R CAHE) | JAL JAL 26,300 63% | % H:29,200. F:24,100
EEH% |[HEECAE)| JAL JAL 27,300 62% | H:27,700, %:32,200, £:30,000, H:24,100
IR FTFR) =& AR FF ) [ /R CRE) | JAL JAL 29,000 60% | %:31,500, £:26,800, H:33,000
=% [EECAE)| JAL JAL 27,800 61% |A:28,500, % +:33,000. H:29,100
IR FTFR) == (LR F T [ /R CRE) | JAL JAL 28,800 61% | 30,700, £:25,200, H:33,600
=M% |[EECAE)| JAL JAL 28,600 61% | F:29,000, %:34,200, £:33,800. H:27,400
ALIR BT FA%) =#A1L [4LIR FiF i) %[ R CRE) | JAL JAL 29,500 61% |%:32,700, H:35,600
MWL [ERGE)| JAL JAL 29,000 61% | FH:29,900. A:29,800. %:35000. £:33,700. H:29,100
IR FTFR) =AM ARG FR % RR CAE) | JAL JAL 30,500 62% | £::33,000, £:27,900, H:34,700
dEAME |[EREGE| JAL JAL 28,900 64% | F:28,500, 7k:28,100., A:28,300. %:33,700, £:33,800. H:30,400
IR EFTFR) =KH AR FHFR) [ /R CAE) | JAL JAL 29,500 63% | 32,700, £:30,700, H:34,700
HRECHE) | JAL JAL 29,500 63% | F:29,900. 7K:29,300, A&:30,100, % +:34,700. H:31,000
ALIR BT =RIG (LR FiFm) %[ /R CRE) | JAL JAL 30,300 63% | A A:30,400. 7K:30,000. %:32,500. F:31,700. H:34,600
RIG% |[EECAE)| JAL JAL 29,500 64% | F:29,700. 7K:29,400, A&:30,200. %:35,500, £:36,000, H:29,300
ALIR (BT F#%) =FE A [ALIR FiF a0 %[ SRR CRE) | JAL JAL 29,900 63% | £:32,300, £:31,000, H:35,000
A% |[ER(CEE)| JAL JAL 30,200 62% | F:29,800, 7K:29,400. %:35,200, 135,600, H:31,600
IR FTFR) =S5 (LR F T [ /R CAE) | JAL JAL 29,800 63% | A /KA:29,100, £:31,000., £:29,900, H:35,200
BEH [EEGEHE] JAL JAL 30,000 63% | F:28,900. 7k:28,500, A&:29,700. %:34,300, 35,600, H:28,600
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(] o | SESH 5/0-5/17 | G e
HIRFFR) =ERB[AEGFFR) % RR CHE) | JAL JAL 27,900 66% | F:29,000, %:31,200, £:31,100, H:36,100
BREX |[ERCHHE)| JAL JAL 29,500 64% | F:30,100, 7k AK:27,600. %:34,900. +:35,800. H:31,000
IR (T8 = (BB | ALIE FF Fa0) %[ /R (HE) | JAL JAL 28,100 67% |£::33,100, £:33,200, H:33,500
RBR(FFD | JAL JAL 18,200 79% [A:18,600, £ H:19,600
AEE(PE)| JAL JTA 29,700 66% | A:30,900, A:29,900, £:31,900, £:32,000, H:30,600
=] JAL JTA 33,600 63% | 4:34,600, £:35,000, H:36.400
B (RER) | B CRE) | JAL JAL 27,400 68% | £:30,700, £:29,700, H:32,200
RBR(FFD | JAL JAL 18,200 79% 118,600, & H:19,600
KR (FEF) | JTA JAL 27,000 69% |£:25,800, £:25,600, H:28,100
AEE(PE)| JTA JAL 30,000 65% | A%+ H:30,500, K:30,100
=] JTA JAL 33,600 63% | /:34,200, %:35,200, +:36,400, H:35000
ALIR (TR =R (AR TR [ /R CRE) | JAL JAL 34,300 68% | ::35,600.
AiEH |HEREREH)| JAL JAL 33,900 68% | £::35,700.
& = & Al BEF [RRCHHE)| JAL JAL 31,000 65% :31,400, %:32,100, +:33,400, H:34,600
HIRFFR) | JAL JAL 29,400 64% |£::30,000, £:26,900. H:26,800
ZiERR |[ERERGHE) | JAL JAL 29,500 67% | F1:29,900, %:36,000, +£:29,700, H:32,800
HIRFFR) | JAL JAL 24,900 70% | A AK:25,300, £:26,300, £:23,600, H:26,200
&R =) EEFE  [RHRCHE)| JAL JAL 31,000 64% | F:31,400, %:33,900, £:33,400, H:34,600
JBIIF |[EFCHE)| JAL JAL 28,700 67% | F:29,100, A:28,800, £:35,200, £:31,600, H:30,300
12 = B EEFE [RHRCHE)| JAL JAL 33,400 61% | A H:34,200, £ 1:36,400
HIRFE [RWRCHHEH)| JAL JAL 31,800 63% :36,400, £:30,400, H:32,500
&R ="5Ih fEEFE  [RRCHE)| JAL JAL 30,200 65% :30,600, £:32,500, +:32,600, H:35,000
HILFE  |[ERCEE)| JAL JAL 29,500 66% | F1:29,900, %:36,000, £:28,700, H:31,200
[T BEF [RZRCHHE)| JAL JAL 28,000 64% | A:28,500, % H:32,900, £:29,900
KIR(FFD]  JAL JAL 24,100 65% |4 +:27,100, H:23,200
BEER  [ERERCHEE)| JAL JAL 28,900 63% | F:29,300, %:30,800, £:28,300, H:31,100
KIR(FFD]  JAL JAL 22,900 67% | A:25,000, % H:26,400, £:24,700
BE=F& BEF [RZERCHHE)| JAL JAL 23,000 70% |#&+ H:23,800
KIR(FFD]  JAL JAL 19,200 71% | A:19,600, £:21,400, £:22,000, H:20,200
HEECRE) | JAL JAL 23,000 70% %+ H:23,800
KIR(FFD]  JAL JAL 19,200 71% | A:21,400, £:23,100, £:22,800, H:24,100
mE==iR HRECHE) | JAL JAL 21,000 72% &+ H:21,800
HEECRE) | JAL JAL 21,000 72% &+ H:21,800
RBR(FFD | JAL JAL 21,500 69% :25,200, X:23,600, £ H:29,100, 1:24,900
&R =FE HRECHE) | JAL JAL 29,900 57% | :30,200, £:24,600, H:25,100
HEECRE) | JAL JAL 29,300 58% | £:35,000, £:25,800, H:24,900
KIR(FFD|  JAL JAL 20,200 68% | A:22,800. % H:23400. +:23,700
&=L HEECRE) | JAL JAL 22,700 63% | F:23200, %:25900, £:22,100, H:26,300
KR (D[ JAL JAL 21,900 64% | F:23,700, 7k A:20,100, %:22,600, H:20,800
HEECRE) | JAL JAL 24,300 60% | :25,800, £:26,300. H:22,000
KER(FFD | JAL JAL 21,900 64% k:21,300, K:23,400., £:29,600, £:27,900. H:28,800
[EEEURA HECRE) | JAL JAL 25,500 62% | £::26,700, £:24,900. H:24,600
HECRE) | JAL JAL 26,400 61% +:26,700, H:24,300
EE==5 SPHB(FBER) | JTA |JTA/RAC| 25200 51% 125,400, + H:25,600
sh#8 GB%R) [JTA/RAC]  JTA 25,000 51% | H%:25200, & H:25,500
B =h1E SPHB(FBER) | JTA |JTA/RAC| 25700 56% |%:25,900, £ H:26,100
|48 GBF) [JTA/RAC|  JTA 25,500 56% | F%:25700, +:253800. H:26,000
iRl =75 SRR IR TR | JAL JAL 24,600 54% | A /KA:23,400, 1:20,400, H:24,400
EEH IEHTFE) | JAL JAL 24,600 54% | F1:23,800, 7k A:23,400, £:23,600, H:20,800
Ziwhl =& SRR IR TR | JAL JAL 24,000 58% | F:24,500, A:24,900, %:25,100, £:19,500, H:21,100
(=3 IR TR | JAL JAL 23,600 59% | F:24,500, £:24,100, £:20,700, H:19,100
SR ) ESTRES IR TR | JAL JAL 24,400 58% | £:24,800, £:20,900, H:21,300
FinE [HREGFH)| JAL JAL 25,200 57% | H:25600, 1:21,800, H:23,100
ESTENN N ZiRI% | HEREE) | JAL JAL 21,400 70% A4 +:21,800, H:23,900
A% [ERFERHE) | JAL JAL 22,700 69% | F%:23,100, £:23,500, H:25,900
iRl = R L ZimplFE |WRCHE)| JAL JAL 26,400 68% | F:26,800, % H:26,900, +:24,400
fELL% |RRECIA) | JAL JAL 27,000 67% | F:27.400, %:25900, +:26,500, H:27,700
S RN ZimplFE |WRCHE)| JAL JAL 26,100 68% | F:26,500, % H:26,900, 1:24,400
LE% [EZRCHH)| JAL JAL 27,300 67% |H<£H:27,700, 1:26,500
HIRFFR) | JAL JAL 22,800 70% | H:24,900, £:20,700, H:21,500
iRl =HE ZimplF |WRCHE)| JAL JAL 32,100 60% | H#:32,500, 1:32,600, H:35,000
HE HECRE) | JAL JAL 33,500 58% | F%:33,900, £:35400, H:35,800
iRl =l ZimplF |WRCHE)| JAL JAL 28,200 66% | F:28,600, £:29,700, £:26,200, H:31,700
RILF  [RRECRE) | JAL JAL 27,800 67% | F%:28200. £:29,100. H:30,700
iRl =H1E ZimplF |WRCHE)| JAL JAL 35,100 69% | A£:35500, £:37,500, H:40,000
AiEH |HEREREGH)| JAL JAL 35,900 69% | F A:36,300, %:36,700, £:38,300, H:40,800
JETTEN BINFE  |HERERCHHE)| JAL JAL 23,400 67% | F7:23,900, £:23,800, £:24,700, H:23,500
% [ERFERGHE) | JAL JAL 23,500 67% | F A:24,000. £:24,300. H:25,900
BI=mtHE BIFE [RHRCHH)| JAL JAL 22,300 71% | H:22,600, £:23,200, £:21,700, H:23,400
BfCEER [RRCHE)| JAL JAL 30,200 61% | B A1£:30,700, £:30,600, H:32,300
JETTE AT MBS |[HEERCHE)| JAL JAL 25,600 68% | F:26,000, A:25,900, £:26,300, £:27,300, H:26,500
fELFE [EECHA) | JAL JAL 25,400 68% | F A:25,900, % 1:26,400, H:26,500
BIN=HE BIIF [RFCHHE)| JAL JAL 34,100 56% | F /A H:34,600, £:34,500,
HE HRECHE) | JAL JAL 34,100 56% | F /A H:34,600, £:35,200,
JETTEEANIT BIF [RHRCHH)| JAL JAL 27,800 66% | A A H:28,300, £:28,900, ,
L% [HERRERCHHE) | JAL JAL 27,400 66% | F:27,800, A:27,700, £:29,500, £:28,600, H:30,700
BII=F1E BINFE  |[HERERCHHE)| JAL JAL 37,100 67% | A A:37,600, £:37,500, £:40,400, H:39,600
AiEH |HEREREHE)| JAL JAL 37,100 67% | A:37,600, %£:37,500, £:39,400, H:39,600
TSN HIpRFE [RHFCHHE)| JAL JAL 23,700 66% |%:24,500, 1:24,200, H:23,500
A% |ERFERHE) | JAL JAL 25,100 64% | A:25,900., £:27,800, £:27,400, H:25,500
g ="F1L HIpRFE [HRCHHE)| JAL JAL 28,700 64% | $:29,600, £:27,000, H:26,500
FELFE  [EECHA) | JAL JAL 29,400 63% | A:30,200, £:30,600, £:30,400, H:27,300
HR=158 HIpRFE [RWRCHHE)| JAL JAL 28,400 64%  |%:29,600, £:27,200, H:26,500
L% [EEREH)| JAL JAL 29,700 63% | /:30,500, %:32,400, +£:30,400, H:27,300
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BESH E—o#
XM 3= R O] 5/9-5/17 | atze mE
HR=H=E HIpRFE [HFCHEH)| JAL JAL 34,100 56% |%:34,900, 1:35,200, H:34,500
HE HRECHE) | JAL JAL 35,900 54% | H:35400
g =#x1L HIpRFE [RWRCHEH)| JAL JAL 30,500 62%  |%:32,400, £:29,000, H:31,400
NLFE  [FRECRE) | JAL JAL 30,200 63% | /:31,000, %:32,900, +£:33,000, H:30,300
fIE=R1E HIpRFE [RWRCHEH)| JAL JAL 35,500 68% 7<:35,800, £:36,300, 1:38,700, H:37,800
AiEH |HRERGH)| JAL JAL 35,500 68% | F A:35,900, %£:36,300, £:37,900, H:40,400
IR =M whFE  |[ERCHHE)| JAL JAL 21,400 69% |H<£1:21,800, H:22,200
% |ERFERCHE) | JAL JAL 22,600 67% | FA:23000. £:23500. H:26,300
L =FEW whFE |[ERCHHE)| JAL JAL 26,400 66% | F1:26,800, %:26,900, £:24,400, H:25,200
RS |RRCHE) | JAL JAL 25,800 67% | F:26,200, %:26,000, £:25,600, H:28,100
Hwh=HE whFE |[ERCHHE)| JAL JAL 32,500 58% | A% 1:32,900, H:33,800
HE HECRE) | JAL JAL 33,300 57% | A 7:33,700, £ +:34,100, H:35,900
wIL=H wmhFE  |[ERCHHE)| JAL JAL 28,200 65% | F1:28,600, £:29,700, £:26,200, H:30,100
NLFE  [FRCRE) | JAL JAL 26,600 67% | F:27,000, :26,800, £:27,600, £:27,800, H:31,100
wh=H1E wmhFE  |[ERCHE)| JAL JAL 35,100 69% | H#:35500, 1:37,500, H:38,300
AIEH |HERERGHE)| JAL JAL 36,300 67% | F A:36,700, £:37,100, £:38,700, H:41,200
=M BEfEF [WRCHHE)| JAL JAL 21,400 65% | A #:21,800, 1:20,600, H:23,000
% [ERFERCHE) | JAL JAL 22,100 64% |£:23,900, £:21,300, H:24,200
EEE=RL BEfEF [WRCHHE)| JAL JAL 25,300 64% | H%:25700, 1:23400, H:25,800
fELFE [EFCHA) | JAL JAL 24,600 65% | 4::26,400, £:24,300. H:26,000
HE=LS BEfEF [WRCHHE)| JAL JAL 26,100 63% | H:26,500, %:26,900, 1:23,600, H:26,000
LS% |[®ZRCHHE)| JAL JAL 24,900 65%  |%:26,900, 1:24,300, H:26,500
HE=HE HEEFK [ERERCHHE)| JAL JAL 32,500 53% | F#:32,900, 1:32,100. H:34,600
KR (D[ JAL JAL 23,100 65% | H:24,400
HER |HEECHH)| JAL JAL 32,800 52%  |%:34,500, 1:33,200, H:34,100
KR (FFD | JAL JAL 24,300 63% 125,500, +:26,400, H:23,400
=L EEEFK [RRECHHE)| JAL JAL 27,000 63% :27,400, %:28,200, +:25400, H:29,800
KER(FFD | JAL JAL 23,800 63% | H:24,200
WilF  [ERERGH)| JAL JAL 25,900 64% |£::28,000, £:26,900, H:29,000
KIR(FFD] JAL JAL 25,000 61% |::26,200, £:26,600, H:24,100
EEE=db A BEER  |[HER(HE)| JAL JAL 28,100 64% | +:26,500
dEAMFE |ERCHE)| JAL JAL 27,300 65% | A 7KkA:26,500, £:28,100, £:27,500, H:27,600
HE=X% EEEFK [RZECHHE)| JAL JAL 21,900 71% |#&+ H:22,500
KIR(FFD]  JAL JAL 23,600 64% | H:27,600
Ko [ERCHE)| JAL JAL 21,900 71%
KER(FFD | JAL JAL 24,800 63%
HE=RIE HEEFR [ERECHHE)| JAL JAL 22,400 72%
KER(FFD | JAL JAL 26,700 64%
RIAFE [EZRCHH)| JAL JAL 22,400 72% |&+ H:23,000
KIR(FFD]  JAL JAL 27,900 62% |::29,100, £:29,500, H:27,000
HEE=RX HEEFR [ERECHHE)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 24,000 66% |4 H:27,500
REARF [ERCHH)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 25,200 65% | 4::26,400, £:29,700, H:24,300
HE==IK HEEFK [RZECHHE)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 27,500 61% |4::27,800, H:28,500
EER | HEECHHA)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 28,300 60% |4::29,500, £:29,900, H:27,400
HE=ERS BHEEH [EERGEHE)| JAL JAL 22,400 ES
KR (D[ JAL JAL 26,200 65% |&
BRSH |EERCHH)| JAL JAL 22,400 72% |#&+ H:23,000
KIR(FFD]  JAL JAL 26,600 65% | 4::27,800, £:28,000, H:25,900
EfE=R1E BEEF [WRCHHE)| JAL JAL 33,900 67% :35,100, 7K:34,300, %:34,700, £:36,100, H:36,300
AIEF [RERCHHE)| JAL JAL 35,800 65% |%:37, 1:35,900, H:39,100
BHR=/MR BA¥E |[ERCHHE)| JAL JAL 14,800 75% |&+ H:15,500
NRFE  [ERFERGHE) | JAL JAL 15,300 74% %+ H:16,500
EHR=EitBE BAE |[ERCHHE)| JAL JAL 25,900 62% |4 H:26,500, 1:27,300
FaftEES |RECHA) | JAL JAL 26,900 60% | H:28,900
BEH=MEL BA¥E |[ERCHHE)| JAL JAL 24,700 64% |£:25,200, £ H:22,800
FELFE [EECHA) | JAL JAL 23,900 65% | 4::25,700.
BEHR=L8 BA¥E  |[ERCHHE)| JAL JAL 25,700 63% |A:26,100.
LE% |[®ZRCHHE)| JAL JAL 24,900 64%  |%:26,500, 1:22,800, H:24,100
BEHA=WLOFH BA¥E |[ERCHHE)| JAL JAL 21,700 71%  |%:22,400, 1:22,200, H:24,100
WOFEHE | WRCHHE) | JAL JAL 22,500 70%  |%:24,000, H:24,900
BEHR=HE BA¥E [EZRCHH)| JAL JAL 29,600 56%
KIR(FFD|  JAL JAL 19,400 70%  |%:19,800, 1:20,400, H:22,100
HEX |[ERCEBR)| JAL JAL 29,600 56%
KIR(FFD|  JAL JAL 19,400 70% | A%:19,800. £ H:21,300
EHR=ES A% |[EREGH)| JAL JAL 20,300 0% &
BmER |[ERCEHE)| JAL JAL 20,300 70% &
EHx=mk A% |[ERGH)| JAL JAL 20,200 0% &
EBFE [ERCHHE)| JAL JAL 20,200 70% |#+ H:20,500
EHR=mH BA¥E |[ERCHHE)| JAL JAL 20,300 71% |%:21,300, + H:24,100
BEFE |[ERCHHE)| JAL JAL 20,300 71% |#&+ H:24,000
BEHx=L BA¥E [ERCHH)| JAL JAL 20,000 72% |&+ H:20,500
KIR(FFD] JAL JAL 20,100 67% |:20,500, £:21,100, H:21,900
WIF ["ERCHH)| JAL JAL 20,000 72% |#&+ H:20,500
KIR(FFD]  JAL JAL 20,100 67% | A£:20,500, +:21,500, H:21,100
HFHR=dhMm BA¥E |[ERCHHE)| JAL JAL 21,800 71% &+ H:22,600
AT |[RRCHE)| JAL JAL 21,800 71% &+ H:22,600
BEHR=X% BA¥E [ERCHH)| JAL JAL 21,700 71% |#&+ H:22,500
KIR(FFD]  JAL JAL 19,900 69% |4::20,300, £:20,900, H:25,300
KaF [RZRCHH)| JAL JAL 21,700 71% &+ H:22,500
KiR(FFD] JAL JAL 19,900 69% |7/:20,300, %:24,000, +:24,600, H:25500
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EHR=RIK BA¥E [ERCHH)| JAL JAL 23,200 71% &+ H:24,000
KIR(FFD]  JAL JAL 23,000 68% | ::23,400, £:24,000, H:26,200
RIEAFE [EZRCHH)| JAL JAL 23,200 71% &+ H:24,000
KIR(FFD]  JAL JAL 23,000 68% | A£:23,400, £:24,400, H:24,100
BEHR=EX BA¥E [EZRCHH)| JAL JAL 21,800 71% |#&+ H:22,600
KIR(FFD]  JAL JAL 20,300 70%  |%:24,200, :21,300, H:25,200
REARF [ERECHH)| JAL JAL 21,800 71% &+ H:22,600
KB (FFD | JAL JAL 20,300 70% | A#£:20,700, £:24,600, H:22,200
EHR=EK BA¥E [ERCHH)| JAL JAL 21,800 71% &+ H:22,600
KIR(FFD|  JAL JAL 23,900 65% | 4::24,500, £:25,500, H:26,200
EER | HEECHH)| JAL JAL 21,800 71% &+ H:22,600
KIR(FFD] JAL JAL 24,200 65% | 4::24,600, £:25,300, H:26,600
EH=ERS BA¥E [ERCHH)| JAL JAL 23,200 71% &+ H:24,000
KIR(FFD] JAL JAL 22,500 69% |::23,000, £:23,600, H:24,000
BERSH |EECHH)| JAL JAL 23,200 71% &+ H:24,000
KBR(FFD | JAL JAL 21,700 70% | AR#:22,100, £:22,900, H:23,800
EH=HE BEHRE Eﬁa(ﬂﬁa) JAL JAL 33,300 67% 33,900, + H:35,900
& JAL JAL 33,300 67% |+:35300. H:36.700
ZIR=/ JAL JAL 14,800 75% %+ H:15,500
JAL JAL 15,300 74% &+ H:16,500
ZR=FW JAL JAL 26,000 62% |£:26,900, £ H:23,600
JAL JAL 23,000 66% |4 H:23,600, £:24,000
ZR=L5 JAL JAL 25,700 63% |£::26,900, £ H:24,900
JAL JAL 24,400 65% |+ H:24,100
ZR=1LAFA JAL JAL 23,000 69%  |%:24,000, H:24,900
JAL JAL 23,400 68% |4::24,000. H:24,900
ZR=HZE JAL JAL 29,600 55%
JAL JAL 29,600 55%
JAL JAL 21,700 67% :25,900, A€+ H:25,800
ZR=15 JAL JAL 19,300 71% %+ H:20,300
JAL JAL 19,300 71% %+ H:20,300
ZiR=@/ JAL JAL 19,200 71% &+ H:19,500
JAL JAL 19,200 71% &+ H:19,500
ZR==H JAL JAL 19,300 72% |#:20,300, £ H:23,100
= JAL JAL 19,300 72% %+ H:23,000
ZR=#L =] JAL JAL 19,000 73% &+ H:19,500
ENITES Eﬁm(li}ﬂﬂ) JAL JAL 19,000 73% &+ H:19,500
XILEH?FD JAL JAL 22,400 64% 126,600, A% H:26,500, £:26,900
ZR=4AM JAL JAL 19,800 74% %+ H:20,600
JAL JAL 19,800 74% %+ H:20,600
ZR=K% R% LR JAL JAL 19,700 73% %+ H:20,500
Ko 5 Eﬁm(li}ﬂﬂ) JAL JAL 19,700 73% |&+ H:20,500
RBR(FFD | JAL JAL 22,200 66% :26,400, K H:26,300, % 1:30,000
ZR=FI& HECHE) | JAL JAL 21,200 73% &+ H:22,000
HECRE) | JAL JAL 21,200 73% &+ H:22,000
RBR(FFD | JAL JAL 24,500 66% :28,700, K€ + H:28,600
ZIR=REX HECHE) | JAL JAL 19,800 74% %+ H:20,600
HECRE) | JAL JAL 19,800 74% %+ H:20,600
KER(FFD | JAL JAL 22,600 68% 126,800, A% H:26,700, £:30,000
ZR=El& HRECHE) | JAL JAL 19,800 74% &+ H:22,600
KER(FFD | JAL JAL 25,700 63% | F:29,400, %:30,200, +£:27,300, H:30,600
HECRE) | JAL JAL 19,800 74% &+ H:22,600
KER(FFD | JAL JAL 26,500 62% | F:30,700, 730,600, % £:31,000, H:31,100
ZR=ERS HRECHE) | JAL JAL 21,200 73% &+ H:22,000
KER(FFD | JAL JAL 25,100 66% | A:28,800, % H:29,200, +:26,200
HECRE) | JAL JAL 21,200 73% &+ H:22,000
RER(FFD | JAL JAL 24,000 67% | F:28,200, A£:28,100, & H:28,300
ZR=RiE :ﬁﬁa(zi}m) JAL JAL 34,700 66% |+ H:36,700
JAL JAL 34,700 66% |+ H:36,
A=/ JAL JAL 17,200 68% &+ H:18,300
JAL JAL 17,100 68% |&+ H:17,500
MHE=FiaE JAL JAL 26,300 57% |+:23,400, H:22,600
JAL JAL 26,300 57% |+:22,700. H:23,100
FE=MRL JAL JAL 26,200 58%  |%:26,300, £ H:18,900
JAL JAL 24,500 61% |%:253800, +:19,300. H:18,900
ME=L8 JAL JAL 27,600 56% |%:28,000, £ H:20,200
JAL JAL 24,900 61% |4:26,300, * H:19.400
ME=LOFEH JAL JAL 23,300 66% |%:24,700, £:18,300, H:20,200
JAL JAL 23,900 65% | 4::24,600, £:18,700, H:19,800
ME=HE JAL JAL 26,300 57%
JAL JAL 20,400 66% |£::21,000, £:21,300, H:22,200
JAL JAL 26,300 57%
JAL JAL 19,400 67% |% =+ H:20,100
ME=ES JAL JAL 20,200 67% &+ H:20,700
JAL JAL 20,200 67% |% =+ H:20,700
A= JAL JAL 20,200 67% &+ H:20,700
JAL JAL 20,200 67% |% =+ H:20,700
MHE=8 JAL JAL 20,300 68% |+ H:20,800
W JAL JAL 20,300 68% |4+ H:20,800
FE=#L BERE [ERCEE)| JAL JAL 20,400 68% |+ H:20,900
KIR(FFD|  JAL JAL 20,200 65% | % 1:20,800, H:21,200
WILF [ERCHHE)| JAL JAL 20,400 68% &+ H:20,900
KIR(FFD|  JAL JAL 20,100 65% |4 H:20,800, £:21,200
=L FUEF [RERCHHE)| JAL JAL 29,000 59%  |%:29,400, £:22,400, H:25,700
FEAMFE [ERCE)| JAL JAL 27,000 61% 7K A:26,500, £:28,900, £:22,100, H:23,700




TEMEEI5128 SEER (BAIE~5R1TABESD)

BER

4t

E—o8

XM 3= R O] 5/9-5/17 | atze mE
ME=X% BHEFE [RRCHH)| JAL JAL 28,000 59% |%:29,300, £:23,100, H:24,300
KIR(FFD]  JAL JAL 20,000 66% | % +:20,600, H:24,600
Ao% |[EHREREGHE)| JAL JAL 28,000 59% |7k 7K:27,800, %:28,500, £:23,400, H:23,800
KIR(FFD]  JAL JAL 20,800 65% |4 +:24,300, H:28,000
ME=RIK BHEFE [ERCHH)| JAL JAL 28,300 61% |7k 7K:28,000, £:29,300. +:23,100, H:22,800
KBR (FFD | JAL JAL 23,100 66% | £:23,700, £:24,100, H:25500
KRR [ERCEE)| JAL JAL 28,000 61% :27,800, 7K AK:27,900. %:28,900. 1:23,800, H:23,100
KIR(FFD|  JAL JAL 22,200 67% |&+ H:22,900
ME=FEX BHEFE [ERRCHH)| JAL JAL 28,800 59%  |%:30,500., 1:24,300, H:23,400
KIR(FFD]  JAL JAL 21,300 67% |% H:24,500, £:22,200
RAR [ERCHEE)| JAL JAL 28,700 59% 7K AK:27,900, £:29,100, +:24,300, H:24,700
KIR(FFD| JAL JAL 21,200 67% |£:22,200, £:24,300, H:24,700
ME==I BHEFE [BRRCHH)| JAL JAL 27,900 60% | H7KAK:27,200. £:28,500, 1:22,300, H:23,400
KIR(FFD| JAL JAL 25,300 61% |£:26,100, £ H:26,400
BEE |ERCHR)| JAL JAL 28,500 59% | F7K:27,000, K:27,400. %:27,700, +:23,400. H:21,900
KIR(FFD]  JAL JAL 25,100 61% |£:26,600, £:26,500, H:29,100
MHE=ERS BHEFE [BRRCHH)| JAL JAL 26,000 64% | H:27,500, %:27,600, £:20,700, H:24,300
KIR(FFD]  JAL JAL 23,500 66% | 4::24,200, £:24,500, H:24,700
BREHX |[EECHH)| JAL JAL 28,000 61% | F:27,900, 7k AK:25,400, %:28,300, +:23,600. H:24,300
KIR(FFD]  JAL JAL 22,800 67% | % 1:23,800, H:28,000
MEH=R1E BOEF [RRCHHE)| JAL JAL 32,700 66%  |%:34,200, £ H:32,000
AEH |[ERCEE)| JAL JAL 32,700 66% |+ H:32,000
fEE=HE | fE&% | KERUPFFD| JAL JAL 24,300 61% H:29,100
HE RBR(FFD | JAL JAL 30,200 51% 7k K% H:29,100, £:25,800
e =l EEFE | KRUEFFD| JAL JAL 24,300 59% | H:29,500
NI | KIRGFFD | JAL JAL 26,900 55% | A H:29.900, /KA #£:25,000, 1:25400
EE=X% EEFE | KRUEFFD| JAL JAL 25,400 59% |+:30,600, H:31,700
AoF | KBREFFD| JAL JAL 31,700 49% | A7KA:30,600, 1:29,100
EE=RIA | fEEH% | KRURFD| JAL JAL 27,200 61% |%:27,300, £:32,900, H:33,800
RIBE [ KERUEFFD| JAL JAL 29,000 58% | A H:32,000, JkA£+:27,100
TEE=FEX EEFE | KRUEFFD| JAL JAL 25,800 61% | H:32,900, 1:31,000
BAR | XREFFD| JAL JAL 32,700 51% | H7KA:31,000, £ +:31,800, H:32,900
EE=2Ik EEFK [ KRUFFD| JAL JAL 29,800 56% &+ H:32,900
[ JAL JAL 26,000 65% | A A+:27,300, 7k:24,100, £:28,200, H:29,400
: JAL JAL 32,900 51%
JAL JAL 26,800 64% | A H:27,300, /KA:24,500, £ 1£:29.400
EE=ERS JAL JAL 28,100 60% | A /KA:28,500, £ 1:34,100, H:32,600
JAL JAL 34,100 52% | FK7:32,400, % +:33,400
Lt = /v JAL JAL 16,800 62% | H:16,400
JAL JAL 16,800 62% |::16,900, £:16,400. H:17,600
Lz =Pl JAL JAL 18,800 65% |4+ H:19,400
JAL JAL 18,800 65% |4+ H:19,400
W =I55 JAL JAL 22,800 58% |%:22,900, £ H:19,400
JAL JAL 21,400 61% |+ H:19,400
IRz =LAFER JAL JAL 18,500 68% | H:19,000, 1:18,800
JAL JAL 18,800 68% |::19,800, £:19,000, H:20,700
IWi=HZE JAL JAL 27,500 47% [£:27,600
JAL JAL 22,100 62% | F7K:21,000, A:23900. £:24,700, +:25500. H:25,200
JAL JAL 27,500 47%
JAL JAL 22,100 62% | F:23,900, 7k K:21,000, % +:24,700, H:26,300
Wk =#5 JAL JAL 19,200 64% |%:20,700, £ H:17,900
JAL JAL 19,700 63% |+ H:19,000
Ik =2 JAL JAL 19,700 63%
JAL JAL 21,200 60% | 21,600, £:21,500, H:21,900
Wi =10 JAL JAL 21,200 62%
JAL JAL 22,800 59% | A sK+:21,000, A%:24,600, H:25,000
JAL JAL 20,600 63% | % +:21,000. H:22,400
JAL JAL 22,800 59% | F:24,600, 7kAK:21,000. % B:21,700, £:21,400
s =K% JAL JAL 23,200 61% |4 +:23,600
JAL JAL 22,600 61% | FsK+:20,800, A %:24,400, H:28,400
JAL JAL 23,600 60% | A KA% £:23,200. H:24,300
JAL JAL 22,600 61% | F:24,400. JKA:21,500. % F:25200. H:29.600
L =R JAL JAL 23,500 63% | A KA H:23,200, % +:23,600
JAL JAL 25,700 61% | F7K:23900, A%:27,500, +:28,300. H:29,300
JAL JAL 23,300 63% | A%+ H:23600. 7kAK:22,700
JAL JAL 25,700 61% | H%+:27500. KA:23,900, H:29,100
s =BEA JAL JAL 24,000 61% |% +:24,800. H:22,800
JAL JAL 23,000 64% | F7K:21,900. A:24,800. % H:28,300. 1:26,400
JAL JAL 24,000 61% | A KALE:23200, %:24,800, H:25,600
JAL JAL 23,000 64% | F:24,800. JKA:21,900. % +:25,600. H:27.200
L == JAL JAL 23,100 62% | A /KA:22,400, % +£:22,800, H:22,700
JAL JAL 27,000 57% | F7K:25,900. A:28,300, £:29,800. £:30,500. H:29,300
JAL JAL 22,900 62% | A KALE:21,900, £:22,000, H:22,300
JAL JAL 26,900 58% | H:27.900. 7K A:25,800. % +:29.900. H:30,500
Wk =ERS JAL JAL 21,200 67%
JAL JAL 25,500 62% | F7K:24,900. &:27,000, %:29,700. F:28,700. H:28,900
JAL JAL 22,800 64% | F:23600. H:24.800
JAL JAL 24,600 63% | F:26,200. 7K A:23500. % +:27.200. H:30,500
Ik =H1E JAL JAL 30,500 65% |+ H:32,500
JAL JAL 30,500 65% |+ H:32,500
e=HE JAL JAL 25,800 55% 7K:25,300, % £ :26,300, H:24,500
JAL JAL 25,800 55% | F:25,000, 7K:26,200, A& %::26,300, £:23500, H:25,900
e =#2l JAL JAL 22,000 60% | F/K:21,700. H:22.400
JAL JAL 21,100 61% |+£:21,500, H:21,400
WEe=xX% JAL JAL 22,100 61% | A:22,500. % +:22,600. H:25800
JAL JAL 21,500 62% | % +:24,600. H:24,000




TEMEEI5128 SEER (BAIE~5R1TABESD)

BESH E—o#
XFH f23=2Fu10) 5/9°5/17 | yaix% s
s =Rz EFK [ KERUEFFD| JAL JAL 25,200 61% % 1:25700, H:26,700
Rigs | KBRUFFD| JAL JAL 24,600 62% | /:25000, %:25,100, £ :24,400, H:26,200
s =r=X EFK [ KERUEFFD| JAL JAL 22,500 64% | A:22,900, % H:25,700, 1:23,000
BARE | KXREFFD| JAL JAL 22,200 64% |+:25500, H:20,700
E==i EFK [ KERUEFFD| JAL JAL 26,500 57% | +:27,400. H:26,900
=R | KBRURFD | JAL JAL 27,100 56% | A:27,500, %:28,000, H:28,700
WE=ERS iEF [ KERUEFFD| JAL JAL 25,200 62% | A:25,600, £:26,100, £:26,500, H:25,400
BREH¥ | KRURF)| JAL JAL 26,300 60% 126,500, 7:26,900, %:27,400, £:24,400, H:27,600
FR=HE #FiRFE [ KRUFFD| JAL JAL 23,800 57% | A sK:23500, H:21,400
HE RBR(FFFD | JAL JAL 23,600 57% | H:22,800, k K£:23,800, 1:21,600
Fim=Hl #FiRFE [ KRUFFD| JAL JAL 19,300 63% |:19,900, H:20,300
MiLFE [ KBRUFFD| JAL JAL 19,500 63% | £::20,900, £:20,600, H:18,900
FR=X% #FinFE [ KRUFFD| JAL JAL 20,300 63% | H:23,700
AaF [ KERUFFD| JAL JAL 19,300 65%  |%:20,700, £:21,400, H:22,400
FiR=RIK #FiRFE [ KRUFFD| JAL JAL 20,900 67% & H:21,700, 1:21,400
RIBE [ XRUFFD| JAL JAL 22,600 64%  |%:23,200, £:22,300, H:23,900
FiR=REX #FimFE [ KRUFFD| JAL JAL 20,700 65% | H:23,600
REARFE [ KRUFFD| JAL JAL 21,200 65% | £:21,700, £:21,400, H:22,000
FR== #FiRFE [ KRUFFD| JAL JAL 23,500 61% | $:24,400, £:23,700, H:24,600
) JAL JAL 25,100 58% | 4::26,100, £:24,700. H:26,400
FR=ERS )| JAL JAL 23,000 64% 7K K:23,400, £:23,800, 1:24,000, H:22,700
| JAL JAL 22,800 64% |%:23300, +:22,000. H:25,300
A= CHE) | JAL JAL 20,800 65% | 4:21,800, £:18,000, H:19,600
FOHE) [ JAL JAL 20,900 65% |€:21,700, +:20,000. H:18,000
IMNA=IRE FCRA) | JAL JAL 22,400 63% | A:22,800, £:18,000, H:19,200
FHE) [ JAL JAL 21,500 64% |%:22,700, £:19,700. H:18,500
MR=ILAFER FH) | JAL JAL 17,800 72% |%:18,100, 1:17,400, H:20,500
FOHE) [ JAL JAL 18,200 72% |£:18,800, H:19,300
INA=HE FHE) | JAL JAL 25,900 55%
FHE) [ JAL JAL 25,900 55%
IMNA=TES FOCHE)| JAL JAL 19,400 67% |%:21,100, £:16,500, H:18,100
FHE) [ JAL JAL 21,000 64% | +:18500. H:17.600
INR=F FHE) | JAL JAL 22,100 62%  |%:23,400, £:21,500, H:23,700
FOHE) [ JAL JAL 22,400 62% |%:23600, +:22,200. H:21,900
IMNE=& FE) | JAL JAL 20,200 67% |£::20,300, £:19,200, H:21,200
FHE) [ JAL JAL 22,300 63% | H:20,200
MR=HL FCHE) [ JAL JAL 22,100 64% |£:22,900, £:21,900, H:23,000
FHE) [ JAL JAL 23,100 63% | 1:22,200, H:21,900
MR =FE T FH) | JAL JAL 23,600 65%  |%:24,900, £:21,500, H:26,000
FOHE) [ JAL JAL 22,900 66% | A 7kA:22,200, £:24,500, 1:22,300, H:23,200
INR=K5 FH) | JAL JAL 23,100 65% | 4::24,600, H:25,000
FHE) [ JAL JAL 23,500 64% | F:23,600, kA £:23,100, %:24,800. H:23,800
M= KIB FCHE) | JAL JAL 23,900 66% | A A:24,000, 7K:23,600, £:24,800, +:24,100, H:23,500
FHE) [ JAL JAL 22,400 68% | H:22,600, 7k:22,100, A H:22,200. %£:23,500, F:22,700
IMA=FEX FHE) | JAL JAL 23,100 66% |%:23,900, 1:23,400, H:24,300
FOHE) [ JAL JAL 23,100 66% 125,300, £:22,500, H:24,400
I =TE IR FHE) | JAL JAL 22,400 67% :21,900, JKAK:21,500, #:22,300, £:21,400, H:22,500
= FHE) [ JAL JAL 22,000 67% | A H:21,400, KA:21,000, £:22,200, 1:21,300
IME=ERS IMRF FOCHE) | JAL JAL 17,500 75% |&+ H:19,700
BRSH¥ |®ECHH)| JAL JAL 18,500 73% + H:20,500
IMA=ETH MAFE [REBE) | JTA |[JTA/RAC| 27,300 59% :27,400, K+£:32,600, %:32,800, H:27,500
Eh%E | M#EERH) [JTA/RAC| JTA 28,200 58% | A H:28,500. A:33,500. % 1:33,800
IMRA=R1E IMRAFE [RRECHHE)| JAL JAL 29,600 68% |+ H:31,100
Sh#8(IME) [ JTA [JTA/RAC| 35,200 52% | F7K:27,800, K= +:33,100, H:27,900
RiEF [RZRCHH)| JAL JAL 29,500 68% |+ H:31,100
B8 (BF) [JTA/RAC]  JTA 31,600 57% | F/KH:28,600, X:33,100, % +:33.400
=21 FELZE  |P#B(ERER) | JTA [JTA/RAC| 32,500 45% | F1:26,500, 7K:26,400, 31,800, £:32,000, £:26,400. H:26,600
EmF |4 (BRER) [JTA/RAC|  JTA 27,000 54% | A £:27,200, £:33,600, H:33,200
[ITEE=E FELZE  |h#B(ERER) | JTA [JTA/RAC| 38,300 41% | F7K:27,500, &A%:33,100, + H:27,700
AiEH [ FEGRH) [JTA/RAC]  JTA 27,500 58% | F%:27.700. £:33900. H:33,700
BAH== ST [T JAL JAL 21,800 56% |sk:21,400, %:22,300, £:21,400, H:23,500
| 00 | =BE | {EME JAL JAL 21,800 56% | F:21,400, %:22,700, £:23,200
R RE) =FF [ EEB) | ZRECHAA) | JAL JAL 24,700 70% |%:26,000, H:30,400
KER(FFD | JAL JAL 14,800 82% |+:15,600. H:17.100
EHRE O [EREE)| JAL JAL 23,800 71% 3:24,600, £ +:28,500, H:25,500
KIR(FFD]  JAL JAL 19,300 76% |%:19,700, £:20,700, H:20,300
s GRE) RO 8B & | /R (HHE) | JAL JAL 26,000 68% | H:30,200
RE |HEFCEA)| JAL JAL 24,800 69% |:27,000, £:27,700. H:26,400
PR (BRER) =FTNE | GRB) R KR CRA) | JAL JAL 25,200 66% |%:26,100, £:20,900, H:25,300
KIR(FFD|  JAL JAL 15,900 79% % +:17,100, H:20,200
BHEF [EZRCHH)| JAL JAL 26,200 65%  |%:31,800, £:25,600, H:21,700
KER(FFD | JAL JAL 20,700 73% 121,300, £ H:21,600
PR (ERER) =1E% | B R | KR(BFD | JAL JAL 24,000 70% 7Kk AK:22,400, € +:29,100, H:32,800
=] JTA JAL 34,700 58% | F:35,600, 7k:32,400, A:33,000, £:37,400, £ H:37,000
EEFK [ KRUEFFD| JAL JAL 23,900 70% | H:28,700
=] JAL JTA 34,300 59% | /:35600. 7K:32,400, %::36,600. £ H:37,000
PR (BRER) =1L | (RER) R | R CRIEA) | JAL JAL 21,800 67% | H:26,000
KR (D[ JAL JAL 18,100 76% | A7k A:16,700. % +:21.400. H:23400
W% |[ERCEA)| JAL JAL 21,400 67% % +:26,100
KER(FFD | JAL JAL 22,400 70% | B KA H:21,300, £:25,000, 1:25,800
PR ERE) =& |PEEE) R EE JTA JAL 28,700 65% | A:29,300, £:30,500, £:31,000, H:32,100
KIR(FFD] JAL JAL 21,300 71% |H:20,100
[IE=E3 [T JAL JTA 30,000 63%  |%:33,500, £:31,700, H:33,700
KIR(FFD] JAL JAL 21,300 71% &+ H:21,600
PR (BRER) =/ P GIRER) | R CRIEA) | JAL JAL 21,300 70%  |%:22,100, 1:20,800, H:25,000
RFE | ERFERHE) | JAL JAL 20,500 71% :21,300, %:25,200, £:24,700, H:22,400
PR RE) == CMEEB) %] EE JTA JAL 25,900 56%
EEF [T JAL JTA 25,900 56%




TEMEEI5128 SEER (BAIE~5R1TABESD)

BESH E—o#
XM 3= R O] 5/9-5/17 | atze mE
SPEE(RER) =L P ERB) R EE JTA JAL 24,100 56%
AL [ JAL JTA 24,100 56%
RRPIE) =BZXE|RRCHE | BES JAL JAL 25,300 64% | A H:25,700. %#:26,400, 1:28,200
RBR(FFD | JAL JAL 29,500 56% | +:30,400. H:29,600
BEXER | ERE JAL JAL 26,500 63% | F:28,200. 7k:25,700, AK:26,100. £:30,200, £:26,400. H:28,900
RBR(FFD | JAL JAL 31,300 53% 30,500, H:30,600
HRCHE)=ERE [ZRZ(PHE)%| BREES JAL JAL 26,500 63% 28,400
ERER BRS JAL JAL 26,500 63%  |%:29,800, £:29,200, H:30,100
HROHE) =28 [ZRR(PHE)%| BRES JAL JAL 28,200 62%  |£:29,300, £:31,100
RPA=E BREE JAL JAL 29,000 61% :29,800, %:31,100, H:31,400
R CHE) =K RE| HRCHR#| BRS JAL JAL 29,000 63% |£::30,100, £:31,500, H:28,600
KIR (R =EERB| KIR(FFDX| ERE JAL JAL 22,900 60% | /:23000, %:23,100, £:23,700. H:24,100
BEEAEXE | BERE JAL JAL 24,300 57% H:24,500, A:24,900, %:26,500, £:23,900
KR(FFH=BERE [ XRFDE| BRES JAL JAL 25,300 57% | HJKAKH:25700. £:26,100, +:26,300
ERER BRS JAL JAL 25,500 56% | H A H:25700, £:26,100, £:25,100
KRR =828 [ XKRFDE| BRS JAL JAL 26,600 57% | HIKAH:26,400. £:26,800, 1:27,400
BeER BRS JAL JAL 26,800 56% | 7:27,000, £:27,400. 1:26,400, H:27,200
RBR (FFD) =k BER| KR FFD | BRS JAL JAL 27,000 58% | A /KA:27,400, £:27,800, 1:27,600
[ SEPNE] [ BRS JAL JAL 18,500 61% | H:18,900, +:16,900, H:18,600
BEAER | BERE JAL JAL 20,600 57% | A:21,000, %:22,200, £ H:19,000
BE="ERS 1 7 BREE JAL JAL 22,200 55% H:20,600
BE=1E28 [ BRS JAL JAL 23,100 55% 21,500, H:21,900
BeER BRS JAL JAL 23,100 55% H:21,500
RRCHE)=5BE R (PBE)F| HIE JAL RAC 26,900 66% |+ H:29,400
5MEFR [ AHEGEH)| RAC JAL 28,000 65% | H:32,200
RiE RAC JAL 26,900 66% |+ H:29,400
ARFH=5BE| SMEF |+ FH | RAC JAL 25,300 65%
KR (B8%8) =53E [ KR (BAF) %[ FHiE JTA RAC 32,400 52% |4::33,000, +:33,100
5MEFR [ AHEGEH)| RAC JTA 36,700 49%  |%:35800, 1:35,600, H:36,900
RiE RAC JTA 31,000 54% |+ H:31,700
ZEECHEN=5BE| SHPEF [AEGH)| RAC JTA 39,100 49% 3£ £ H:39,500, £:39,200
12 = 5 A E S5MEFR | A#EGEH)| RAC JTA 29,200 55% | A:29,800, £:30,900, £ H:31,400
SRR (IR =5 ME PGB FE| HIE  |ITA/RAC| RAC 9,400 76% K&+ H:9,600
S5MEFRK | FHIE RAC _[JTA/RAC 9,400 76% 3 & H:9,600
HRCHE)=AKRE [RFCHE) F | $#EGH) | JAL [JTA/RAC| 21,100 64% % 1:25.200
AREFE |8 GBH) [sautarac]  JAL 21,600 63% | A 7K:19,800, A< +:19,900, H:24,000
KBR (RFH =AKE | KB (FFD 5 | $#8GBH) | JAL _|[JTA/RAC| 24,100 53% | A:24,200, %:25,000, £:25,700, H:22,100
AREFE | HHEGBH) [sautarac]  JAL 24,200 53% | A:24,300, £:23,300, 1:22,600, H:24,700
KB (BEEE) = A KB | KB (BSF8) 5 | 48 GBH) | JTA |[JTA/RAC| 29400 43%  |%:29,500, £:29,600, H:27,700
AXEF |48 (GRE) [autaro]  JTA 27,400 47% | K:27,100. %:26,200, £:26,000, H:27,600
ZHE(PE) =AXE|EHECPH X AEEH) | JTA [JTA/RAC| 31,100 45% | FA:31,700, % H:31,400, £:32,100
AREFE | HHEGBH) [autarac]  JTA 30,500 46% | A H:30,900, A:30,700, £ £:31,000
BE=AXE BEFE  [AEERE;) | JTA |[JTA/RAC| 24,600 44% | A#:24700, 1:24,900, H:24,800
AREFE | HHEGBH) [autarac]  JTA 24,400 44% | A%:24500, 1:24,800, H:24,700
RRECHA) =R |R’RCIA) R | KRR | JAL JAL 20,100 61% 3 AK:20,600, £:20,400, £:19,500, H:19,200
HE JAL JAL 25,400 46% | A 7K:25,800, 1 H:25,900
fRlkF [ KBRURFD| JAL JAL 19,800 61% |%:19,700, £:18,900, H:19,500
HE JAL JAL 25,800 45% |7k K4 8:26,200, 1:26,600
PR (RER) =R I GRE) | KR (BFH | JAL JAL 15,900 78%  |%:16,500, 1:14,400, H:16,900
#FiRFE [ KRUFFD| JAL JAL 18,900 74% € H:19,600
12 = +LIR G F %) EEFE  [RERCHE)| JAL JAL 31,400 61% :32,300, 7K:32,200, %:37,400, £:36,800, H:29,400
HLIE (F T ) | HR JAL JAL 31,000 61% |/:32,800, %:38,500, 1 :34,400, H:36,700
EHR=%m5 HEHRFHE IR TR | JAL JAL 19,400 60% |+:15,900, H:16,800
ZmplFE [ARETFR| JAL JAL 20,300 58% |/:21,200, %:22,200, £:17,200, H:19,800
T =% R [EES IR TR | JAL JAL 21,100 60% :21,500, £:17,200, H:18,500
B JAL JAL 21,200 60% | A AH:21,500, £:21,600, 1:18,900
P HCGEIEE N T IGEDES JAL JAL 21,000 67% | +:21,400, 7k A:20,200, %:20,600, H:21,900
HILFE JAL JAL 21,000 67% | F H:21,400, KA:20,200, % +:20,600
ZEE () =8Il |2 & E (hER) JAL JAL 21,800 67% | H 1:22,200, KA:21,000, £:23,100, H:21,400
ENIES JAL JAL 20,200 69% | F1:20,600, 7k A H:19,400, %:19,800, £:19,100
B =25 ERF JAL JAL 27,400 66% | F:27,800, %:28,500, £:29,400, H:30,200
Sk JAL JAL 26,900 67% | F:27,300, %:27,700, £:25,000, H:30,100
mE=%m5 BEHX JAL JAL 25,500 68% | F#:25900, £:25400, H:27,300
ESTREA JAL JAL 25,000 69% | A H:25400, £:26,200, 1:22,900
&&= Bl fFEa JAL JAL 26,400 68% | F1:26,800, %:27,600, £:28,600, H:28,700
SRR JAL JAL 27,500 67% | A%:27,900, £:25.200, H:29,700
K= 5 N JAL JAL 23,400 73% |&+ H:24,400
SRR JAL JAL 23,400 73% |&+ H:24,400
R =25 KI5 JAL JAL 23,900 74% |#&+ H:25,000
SRR JAL JAL 23,900 74% |#&+ H:25,000
RAR=%E5 RER R JAL JAL 23,900 73% |&+ H:25,000
ESTREA JAL JAL 23,900 73% |&+ H:25,000
BB =2 Rl EGE JAL JAL 23,900 73% |&+ H:25,000
ESTHES JAL JAL 23,900 73% |&+ H:25,000
BRE=%i5 BRER JAL JAL 23,900 74% |#&+ H:25,000
ESTREA JAL JAL 23,900 74% + H:25,000
SRR (AR =& w5 g (i) % JAL JAL 27,200 71% A£:27,600, £:28,000, H:34,300
Sk JAL JAL 25,200 73% | F:25,600, £:27,000, £:28,100, H:29,600
AR FTFR) —CEAB | LR F TR E JAL JAL 31,600 65% | F:31,900, 7K:30,800, A:33,200, %:33,400. +£:33,300. H:31,500
[ EIN-F. JAL JAL 31,600 65% | F:38,400, 7K:30,800, %:34,900, £:30,100, H:33,400
BEHR=EEKXE EHRR JAL JAL 28,800 67%  |7k:28,000, A:30,400. £ +:31,000, H:30,200
BEEAEHR JAL JAL 28,800 67% | F:35,600. 7k:28,000, £:30,200, H:31,800
ME=FXXE FUEAF JAL JAL 30,800 62% _ 7K:30,000, A:32,400, #:33,300, £:27,100, H:26,300
[EIN-F. JAL JAL 29,400 64% | F:36,200, 7k:28,600, %:30,300, £:25,100, H:26,700
IMA=TBEKRE MR JAL JAL 25,000 68%  |7k:24,200, K£:26,600. 1:26,200, H:25,400
BEXER [EZHE)| JAL JAL 25,000 68% | F:31,800. 7k:24,200, £:24,600, H:26,200




TEMEEI5128 SEER (BAIE~5R1TABESD)

o

E

VS

4t

E—o8

XFH f23=2Fu10) = 5/9°5/17 | yaix% &z
#
WAFM=3I% | WOFHE BRRCAHE)| JAL JAL 27,400 67% | A:28,200, £:30,500, £:30,200, H:28,600
HRECHE) | JAL JAL 25,700 69% |%:26,700, £:25,800, H:27,800
B =8I FRCHE)|  JAL JAL 29,800 62% | A:30,600, £:33,200, £:33,300
HECRE) | JAL JAL 29,200 63% | £:30,400, £:27,800, H:29,800
EE=9% FRCHE)|  JAL JAL 27,900 64% | AK:28,700. £:30,600, 1:29,300, H:26,900
HECRE) | JAL JAL 27,300 65% | 4::28,900, £:25,700, H:25,000
K5 =4 FRCHE)|  JAL JAL 22,400 74% |&+ H:23,400
HRECHE) | JAL JAL 22,400 74% |&+ H:23,400
RIE=8IE% FRCHE) | JAL JAL 22,900 74% |#&+ H:23,900
HRECHE) | JAL JAL 22,900 74% |#&+ H:23,900
A= FRCHE) | JAL JAL 22,900 73% &+ H:23,900
HRECHE) | JAL JAL 22,900 73% &+ H:23,900
ECEET] FRCHE) | JAL JAL 22,900 73% &+ H:23,900
HRECHE) | JAL JAL 22,900 73% &+ H:23,900
BR&=3I% FRCHE)|  JAL JAL 22,900 74% |#&+ H:23,900
HRECHE) | JAL JAL 22,900 74% + H:23,900
LE=%E FRCHE) | JAL JAL 27,200 66% :27,600, %:28,000, £:25,600, H:28,100
HECHE) [ JAL JAL 26,100 67% | F1:26,500, %:26,900, 1 :24,400, H:25,200
BR="TIk HRECHE) | JAL JAL 27,000 65% | A A:27,400, £:28,200, *:28,100, H:30,600
HECHE) [ JAL JAL 26,900 65% | F:27,300, %:27,700, £:25,000, H:28,500
LN HRECHE) | JAL JAL 25,500 67% | 7K:25,900, £:26,300, 1:25,200, H:27,700
HECHE) | JAL JAL 25,000 68% | F:25400, %:26,200, £:22,900, H:23,700
Ko =%I5 FRCHE)|  JAL JAL 22,000 74% |#&+ H:23,000
HRECHE) | JAL JAL 22,000 74% |#&+ H:23,000
RIE="%I5A FRCHE)| JAL JAL 22,500 75% |&+ H:23,500
HRECHE) | JAL JAL 22,500 75% |&+ H:23,500
RA=%E% FRCHE)|  JAL JAL 22,500 74% |#&+ H:23,500
HRECHE) | JAL JAL 22,500 74% |#&+ H:23,500
B =15 FRCHE)|  JAL JAL 22,500 74% |#&+ H:23,500
HRECHE) | JAL JAL 22,500 74% |$&+ H:23,500
BR&E=%Fh FRCHE)|  JAL JAL 22,500 75% |&+ H:23,500
HRECHE) | JAL JAL 22,500 75% + H:23,500
BII=&h HRECHE) | JAL JAL 26,900 66% H:27,300, £:27,700, 1:27,600
HECHE) | JAL JAL 28,200 64% | F A:28,700, %:29,500, £:29,200, H:30,200
HE=E0 HRECHE) | JAL JAL 26,900 61% | H:27,300, £:27,700, 1:24,200, H:29,300
HECRE) | JAL JAL 26,500 62% | £:28,600, £:27,200, H:28,500
HE=ES HRECHE) | JAL JAL 25,000 64% | F1:25,400, £:26,200, £:22,100, H:24,500
HRECHE) | JAL JAL 25,000 64% | £:26,700, £:23,200, H:25,600
EEE=LOFE HRECHE) | JAL JAL 23,400 69% | F:23,800, £:24,000, £:22,400, H:27,300
HFECRE) | JAL JAL 24,100 68% | £::26,800, H:27,300
RROCHE) =RR [RECHBR) | & JAL JAL 19,300 63% | F:20,500., £:20,800, £:21,800, H:19,700
R F AR JAL JAL 20,100 62% | A%:20,500, £:21,000, H:23,400
AR (FF) =BR B3 [ JAL JAL 21,800 64% |+ H:23,100
R =8 [MR@BEK| EM JTA JAL 25,100 58% | A:25,700, £:26,700, £:27,200, H:27,300
BEH JAL JTA 24,500 59% 125,500, F H:25,900
BIN=1E5 FENIES B JAL JAL 25,800 67% 7:26,300, £:27,700, H:25,000
BEFR B JAL JAL 26,300 67% | H 7K:26,800, £:27,200, 1:26,100, H:27,300
BINI=X% JENIES B JAL JAL 21,400 75% |&+ H:22,400
nFE ER JAL JAL 21,400 75% |&+ H:22,400
AR (EBR) =BF |#LIR (B3R F| R JAL JAL 17,600 50% H:14,600
B3 e JAL JAL 17,600 50% |+:17,100, H:14,600
ElEEES IR F LiR(EE) | JAL JAL 19,700 53% | H:19,500
BEE R LI (EER) | JAL JAL 19,700 53%
HlEE==iR SR F LiR(EE) | JAL JAL 23,700 49% | F:18,800, H:21,000
=R LI (EER) | JAL JAL 20,200 57% |+:21,000. H:23,700
A= FlRFE LiR(EE) | JAL JAL 22,200 49%  |+:21,700, H:23,700
HEEH LI (EER) | JAL JAL 22,200 49% | F:18,000, £:23,700, H:21,700
FIR =4 FIFRFE LiR(EE) | JAL JAL 23,000 51% |+ H:21,400
1% 5 LiR(EE) | JAL JAL 19,400 59% | H:18,000, K%:23,000. +:23,700, H:20,000
ZR=FR ZIR% LIR(EE) | JAL JAL 19,000 61% |+ H:23,200
BR&=mE BRSH¥ |®ECHHA)| JAL JAL 21,900 76% |&+ H:22,900
FEIES F JAL JAL 21,900 76% |4
RIBE=1HEJIl RIGF JAL JAL 21,900 76% |3
FEIES JAL JAL 21,900 76% |4
REAR=1E)I REAR JAL JAL 21,900 75% |3
FEIES JAL JAL 21,900 75% |4
B =8Il EGE JAL JAL 21,900 75% |3
BHIF [ERCHHE)| JAL JAL 21,900 75% |3




TEMEEI5128 SEER (BAIE~5R1TABESD)

(] gam@ | BESH 5/0-5/17 | G =
BERG=PKRE | EBEXEE | 25 JAL JAL 11,900 57%
B JAL JAL 11,900 57%
Bz B=h8(H) JAL JAL 15,600 54%
3 JAL JAL 15,600 54%
HRE(HH) =878 JAL JAL 23,400 60% | A 7KK H:23,300. $:24,400, 1:26,200
JAL JAL 24,200 59% | F:24,600. 7K A:22,900, £:25900. +:25200. H:26,200
HRCHE)=EAE [RR(PHE)%| BREES JAL JAL 24,000 60% |%:25,100, £:26,900
BAER BRS JAL JAL 23,600 61% | F:24,400, %:25,700, £:25,500, H:26,000
KB (FFH =BAE | AR (FM%| ERES JAL JAL 21,600 54% |A:21,700, %:21,800, £:22,400, H:21,400
BAER BRS JAL JAL 21,400 54% | A 7K:21,600, £:22,000, 1:21,000, H:21,800
ERE="H@H) | BERER | EEXS | JAL RAC 23,800 55% | AKA£ T H:24,300
B (BB | BEKXS | RAC JAL 25,500 52% | A:25,900, £:27,100
BE=EAS [EEES BREE JAL JAL 17,700 52% |+ H:16,100
BAER BRS JAL JAL 17,700 52% |+ H:16,100
BE=EFS 1 7 BRS JAL JAL 17,900 50% 118,300, £:16,300, H:16,700
EFER BRS JAL JAL 18,300 49% | AkAK£:17,000, + H:15,400
LE=REJI L% |HEREREGH)| JAL JAL 28,000 65% | A 7K:28,500, £:29,000, 1:26,800, H:27,700
JBINFE  |[HERECHHE)| JAL JAL 26,100 67% | F A:26,600, £:27,700, £:27,300, H:26,500
wil==x [N [T JAL JAL 18,500 60% | A:18,000, £ H:18,400
EGE [ JAL JAL 17,200 63% |%:17,600, £ H:18,400
PR (RE) =EEXE [ PREBBFEK| 5HK RAC JAL 16,000 59%
[EIN-F. 5 JAL RAC 16,000 59%
BR =K BRFE [HIEERK) | JAL JAL 18,000 55% |+ H:15,000
BfESR  [AR(EH)| JAL JAL 18,000 55% |+ H:15,000




MFEfEEISI128 1 EE R (5A18H~5A31AEBESD)

BESH E—o#
) aih® 5/18-5/31 | gyalz "%
HRCHE)=8d% [ERCAE) @@ H) | JAL [JTA/RAC| 21,300 68% | A H:21,500, kA:21,200, £:26,200, +:26,600
Eos | P8 (FRER) [JTA/RAC]  JAL 20,500 69% £:20,700. 7k K:20.400, £:20,600, H:26.000
HR(CRE)=R1E |[RRCEE) #[AMEH) | JAL [JTA/RAC] 21,700 70% | %::26,700., :27,300. B:21,900
ABR (BSFE) | JAL JTA 35,100 57% :36,200, £:35,900. H:34,200
FiE% R GRE) [JTA/RAC|  JAL 20,900 71% £:21,100. H:26,500
KR (D) =% &5 | KB (A % [ /R CRE) | JAL JAL 24,900 66% | F:25,300, % +:24,500. H:25,600
ARFTR)|  JAL JAL 26,700 63% | H:27.100. 7K:26,000. :26,500. %:27.900. * :26,000
ZEAE [EREE| JAL JAL 24,000 67% | F:24,400, :23,800, %:25,000. £:22,600. H:26,100
ARFTR)|  JAL JAL 27,700 61% |7K:27,000, A:27,500, %:25.400, £:22,700, H:24,200
KB (B8TE) =2 Bl | ABR (B #8) % | CHE) | JAL JAL 21,800 70% | A A:22,200. £:22,600. £:23,000. H:24.700
ARFTR)|  JAL JAL 25,000 65% | F:25.400. 7K:23400. A:23900. %:25,800. £ :23,100
il |[RECAE)| JAL JAL 22,400 69% | F:22,800, %:23,700, £:22,600. H:26,300
ARFTR)|  JAL JAL 24,600 66% |7K:23000. A:23500. %:23,800. £:20,200. H:21,700
KB (RFH) =heJIl [ KBR (RFDF[RREE) | JAL JAL 25,100 65% | H:25500. K: $:26,400, 1:24,300, B:25,600
JBINEE  |[HERGE)| JAL JAL 25,000 65% | H +:25500. Xk: . %:25,300
KBx (B878) =heJIl | ABx (B %[ Rm (HE) | JAL JAL 23,000 68% | HA: 3,600, H:24,700
JBINEE |[HERGEE)| JAL JAL 24,000 66% | H A:24, S 5,300, H:24,100
KB (771 =8IE% | KBk (A E | /R CHHE) | JAL JAL 27,300 61% | A:28,100, %:29,300, £:28,400, H:26,100
SllEE% |[HECRE)| JAL JAL 26,300 62% | A:26,100. £:27,700. £:25,300. H:25,700
KBy (B7E) =#IE% | KBk (BAFE) | /R CHHE) | JAL JAL 21,400 69% 3 K:21,800., #:22,200, +:22,100. H:24,300
fllpR% |[HECRE)| JAL JAL 24,700 65% | %::26,400, £:25,400, H:25,900
KB () =I5 | RIR(FFDE|RRCHE) | JAL JAL 24,300 65% | F1:24,700. £::24,400., £:23,400, H:26,000
HEE |[ERCAE)| JAL JAL 24,000 66% | F H:24,400. A:23800. %:25000. *:22,600
Kz (B8T) = /5 | ABR (BS7E) % | /R CRMEA) | JAL JAL 22,200 68% | A A:22,600. &
HEE |RRCEE)| JAL JAL 22,400 68% | FH:22800. &
K () =B | KBR (FFD) | /R CRHA) | JAL JAL 23,100 63% | A:23,300. £:24, ] 23,
BEEHR  |[EECRE)| JAL JAL 24,000 61% | F:24.400. A:23,800. %:25000. £:21,700. H:25,200
Kz (BE7E) =B | ABR (BS7E) & | R CFIEA) | JAL JAL 21,700 65% | K:21,900. £:23,400, £:19,900, H:23,000
BEEHX |[HFECRE)| JAL JAL 22,400 64% | F:22800. %:23,700. £:21,800. H:25.400
KBR () ==iR [KIRFDRE[RR R | JAL JAL 23,900 60% |%:23300. £:22,000. H:23400
=R%E |[ERGEHE)| JAL JAL 23,600 60% | A:23400. %:25000. F:22,200. H:23,000
KBx (B87) ==iR [ KB (BIFE) % [Rm (FHE) | JAL JAL 20,800 65% 7K %&:20,600, £:20,900
SR¥E |[HRCHH)| JAL JAL 22,200 63% | AkA+:22,000. £:23,700. H:23,200
KB (7 =2 | KBk (FH) % JAL JAL 14,400 60% | A /K% + H:14,800
[EE3 JAL JAL 15,100 58% | JKA% H:15500, :15,900
KR () =18F & | AR P JAL JAL 21,400 53% | A% H:21,800, £:22,200
BEYEX JAL JAL 22,000 51% | A 7:22,200. % B:22,600. £:21,500
KR () =28 [ KRUFFD S| HEGRH | JAL [JTA/RAC| 25,600 57% |%::26,400, £:28,500
BE% |58 RE) [JTA/RAC]  JAL 25,700 57% | H:26,700
Kz (B8fE) == | ABR(BA7E) & |48 (RF) | JTA [JTA/RAC| 31,500 47%
BE% | 9488 [JTA/RAC]  JTA 30,000 49% [4:29,900
KBR (FF) =FR1E [ KRG R [HMET | JAL [JTA/RAC] 25400 61% |%:26,500. £ :28,600
FiE% | (R%) [JTA/RAC| JAL 25,100 62% :25,200, A:25,300, F:24,800. H:27,100
KB (B8FE) =FR1iE [ KR (BEF X[ F@@RFH | JTA [JTA/RAC[ 29,800 54% |7K:29,500, A:29,400., %:30,700, £:29,900, H:29,500
FiE% | [JTA/RAC]  JTA 29,800 54% | F:29,900. KA +:29,500. £:29,700. H:30,100
2R (hE) =% @5 |2 EHE (&) R FHFH) | JAL JAL 27,600 50% | F:28,000. 7K:25,600, A& %:26,100, £:27,100. H:26,600
iR ROHTFR | JAL JAL 22,800 66% | A:23,700, %:25500, £:20,000, H:22,200
BHE(FEH) =24 [A&EP#) %P GBI | JTA [JTA/RAC| 31,800 50% |+:31,700
Eo% | A#ORE) [JTA/RAC]  JTA 31,200 51% | A+ H:31,800. /K:31,100, £:31,700
ZHE(FE) =FIE |&25E P& S F@ T | JTA [JTA/RAC| 31400 55% | +:31,800, H:31,300
FiE% | [JTA/RAC]  JTA 31,900 55% | H% H.32,200, +:32,000
ALIR BT F#%) =/ [ALIR (B F i) %[ SRR CRE) | JAL JAL 22,800 64% | F:23200. A:23,100. %:25,700. £:22,500. H:27,300
NAFE [ERECAE)| JAL JAL 23,100 64% | F1:24,000. A:25,100. % ¥:27.300. H:23,800
URFTFR —mLEEEARFFR % RR CAE) | JAL JAL 28,700 60% | HAH:29,000, £:28,900. F:29,600
FaftEESR |RECHAHE) | JAL JAL 28,300 60% | A A:28,800. £:32,200. £:28,500. H:31,000
ALIR (BT F#%) =Rl [4LIR B F i) %[ Rm CRE) | JAL JAL 27,800 62% | F:28,200. 7K:27.700. A:28,100. £:29,900. £ :25,900. H:30,700
L% [SEECHE| JAL JAL 26,700 63% | H A:27.000. %:31,400. F:32,300. H:25.400
HIREFTFR) =R8 AR @FHFR [ /RRCAHE) | JAL JAL 29,500 60% | £:30,300, £:26,900, H:30,700
LEE% |[ERCAE)| JAL JAL 26,900 63% | F:28,000. A:28.400. %:32,800. £ :32,200. H:25,700
URFFR) =LOFH[ARFFR % RRCHAE) | JAL JAL 24,700 68% | F A:25,100. %:26,800. F:24.500. H:32,000
A% [RRGIHE) | JAL JAL 25,400 67% | F:26.300. A:27.200. £:32,200. *:31,800. H:25,800
IR EFTFR) =HE [AE@FHFR [ R/RRCAHE) | JAL JAL 31,000 56%
HES |WECHAH)| JAL JAL 31,000 56%
HIREFTFR) =ES AR FHFR [ /R CAHE) | JAL JAL 26,300 63% | F A:26,700. £:29,200. F:24,500. H:29,300
EEH% |[HEECAE)| JAL JAL 27,300 62% | F1:28,200, 7:28,900, %:32,200, £:31,000, H:24,900
IR FTFR) =& AR FF ) [ /R CRE) | JAL JAL 29,000 60% | F:29.400. A:29,300. :27,200, H:33,000
=% [EECAE)| JAL JAL 27,800 61% | FH:28900. A:29,000. X B:29,100
IR FTFR) == (LR F T [ /R CRE) | JAL JAL 28,800 61% | HA:29,200. £:30,700. , B:33,600
=M% |[EECAE)| JAL JAL 28,600 61% | F:29,500. A:30,200. % *:34,200. H:27.500
ALIR BT FA%) =#A1L [4LIR FiF i) %[ R CRE) | JAL JAL 29,500 61% | F:29,900, A& £:29,800. £:32,700. H:35,600
MWL [ERGE)| JAL JAL 29,000 61% | F:29,900. A:31,000. %:35400. *:34,700. H:29,100
IR FTFR) =AM ARG FR % RR CAE) | JAL JAL 30,500 62% | A 7:30,900. £:33,000. £:27,900. H:34,700
dEAME |[EREGE| JAL JAL 28,100 65% | F:29,000. A:29,700. %:34,100. *:34,700. H:30,400
IR EFTFR) =KH AR FHFR) [ /R CAE) | JAL JAL 29,900 62% |7K:29,500, 7:29,800, %:32,700, £:31,000, H:34,700
RRCAE) | JAL JAL 29,500 63% | F:31,400. 7K:29,300. A:31,100. % ¥ :34,700. H:31,000
ALIR BT =RIG (LR FiFm) %[ /R CRE) | JAL JAL 30,000 64% | F1:30,400, 7:30,700, %:32,700. £:32,000, H:34,600
RIG% |[EECAE)| JAL JAL 29,500 64% | F:30,200. 7K:29.400. A:31,200. %:36.400. £ :36,000. H:29,900
ALIR (BT F#%) =FE A [ALIR FiF a0 %[ SRR CRE) | JAL JAL 30,300 62% | FKA:29,900. £:32,300. +:31,300. H:35,000
A% |[ER(CEE)| JAL JAL 29,800 63% | F:30,300. 7K:29.400. A:31,200. % *:35,600. H:31,600
IR FTFR) =S5 (LR F T [ /R CAE) | JAL JAL 29,100 64% | 31,000, £:30,300, H:35200
BE%  [ERRGEHE]|] JAL JAL 28,900 64% | F:29.400. 7K:28,500. A:30,700. %:35,300. t:36.400. H 28,600
AIRFFR)=ERB[ARFFR % RRCAE) | JAL JAL 27,900 66% | F:29.400, %:31,200, £:31,400, H:36,100
BERER [Em@HE)[ JAL JAL 27,700 66% | F:30,400. 7K:27.600. 28,300, %:35,900. £:36,700. H:31,100




MFEfEEISI128 1 EE R (5A18H~5A31AEBESD)

£ Py -
R ga® | BERH |55 Co08 wE
IR (T8 =4 (BB | ALIE (F Fa0) %[ /R (HH) | JAL JAL 28,100 67% |£::34,500, £:35,000, H:34,200
KiR(FFD] JAL JAL 18,200 79% |+ H:19,600
AEE(PE)|  JAL JTA 29,700 66% | A:30,900, A:29,900, £:31,900, £:32,600, H:31,200
=] JAL JTA 33,600 63% | £::34,600, £:35,000, H:36,400
PR GBRER) [ RECRE) | JAL JAL 27,400 68% | A A:27,700, %:30,700, £:30,600, H:33,400
KIR(FFD]  JAL JAL 18,200 79% |+ H:19,600
KR (FEF) | JTA JAL 29,500 66% |k A:27,000, £:28,200, F:25,600, H:28,100
AEE(PE)| JTA JAL 30,000 65% | A%+ H:30,500, K:30,100
12 JTA JAL 33,600 63% | 7/:34,200, %:35,200, +:36,400, H:35000
AR (BT =R AR @F TR [ /R CRE) | JAL JAL 34,300 68% | /:34,800, %:35,600, £:37,500, H:38,100
AiEH |HEREREH)| JAL JAL 33,900 68% | F A:34,300, £:35,700, F H:37,500
& = % Al BEF [RRCHHE)| JAL JAL 31,000 65% | F:31,400, %:32,100, £:33,400, H:34,600
HIRFFR) | JAL JAL 29,400 64%  |A:29,900, £:30,500, £:26,900, H:26,800
ZiERIR |[ERERGHE) | JAL JAL 29,500 67% | F1:29,900, %:36,000, £:29,700, H:32,900
HIRFFR) | JAL JAL 24,900 70% | F:25,300, A:25,400, £:26,300, 1:23,600, H:25,800
&R =) EEFE  [RHRCHE)| JAL JAL 31,000 64% | F:31,400, A:32,000, %:33,900, £:32,600, H:34,600
JBIIF |[ERCHE)| JAL JAL 28,700 67% | F:29,100, 7k:28,600, /28,800, %:35,200, £:31,600, H:30,400
12 = B EEFE [RHRCHE)| JAL JAL 33,400 61% | A H:34,200, £ 1:36,400
HIpRFE [RWRCHEH)| JAL JAL 31,800 63% :36,400, £:30,400, H:32,500
1B =55 fEEFE  [RRCHE)| JAL JAL 30,200 65% :30,600, #:32,500, £:32,600. H:35.000
HILFE  |[ERCEE)| JAL JAL 29,500 66% | F:29,900, £:36,000, £:28,700, H:31,200
12 =i BEF [RRCHHE)| JAL JAL 28,000 64% | F:28,500, A:28,200. £ H:32,900, 1:29,900
KR (D[ JAL JAL 25,800 63% |k :24,100. £:28000. +:28,800
HEER  [ERCHEE)| JAL JAL 28,900 63% | F:29,300, %:30,800, £:28,300, H:31,100
KIR(FFD]  JAL JAL 22,900 67% | A:25,000, % H:26,400, £:24,700
BE=F% BEF [RRCHHE)| JAL JAL 23,000 70% |#&+ H:23,800
KIR(FFD]  JAL JAL 19,200 71% | A:19,600., £:21,400, £:22,000, H:20,200
BA¥E [ERCHH)| JAL JAL 23,000 70% |#&+ H:23,800
KIR(FFD]  JAL JAL 19,200 71% | A:21,400, £:23,100, £:22,800, H:24,100
mE==iR BEFE |[HERHE)| JAL JAL 21,000 72% &+ H:21,800
=ZR% [ERGE)| JAL JAL 21,000 72% &+ H:21,800
RBR(FFD | JAL JAL 21,500 69% :25,200, X:23,600, £ H:29,100, 1:24,900
&R =FE EEFE  [RHRCHE)| JAL JAL 30,000 57% |7k 7K:29,900, £:30,300. 1:24,600, H:25,100
MEFE [ERGH)| JAL JAL 29,300 58% | 4::35,000, £:25,800, H:24,900
KIR(FFD|  JAL JAL 20,200 68% | A:22,800, % H:23,400, £:23,700
&=L wmEH [ERCGH)| JAL JAL 22,700 63% | F:23200, %:25900, £:22,100, H:26,300
KR (D[ JAL JAL 21,900 64% | A H:23,700, 7k A:20,100, £:26,300, 1:25,500
W% |[ERCEA)| JAL JAL 24,300 60% |:25,800, £:26,300, H:22,000
KR (D[ JAL JAL 21,900 64% | F7K:21,300, 7A:23400, £:29,600. +:27,900. H:28,800
&R =Mk EEFE  |[RHRCHE)| JAL JAL 25,600 62% |7k K:25,500, £:26,700, 1:24,900, H:25,800
RFE [ HERRERGE) | JAL JAL 26,400 61% +:26,700, H:24,300
EE==5 EE%E  [AEEE;) | JTA [JTA/RAC| 25200 51% £:25,400, + H:25,700
EmF | PR (ERER) [JTA/RAC|  JTA 25,100 51% | F:25,300, 7k A:25,000, %:25,200, + H:25,500
B =R BEF%E  [AEEBE;) | JTA |[JTA/RAC| 25700 56% |%:25,900, £ H:26,100
AEH |48 ERE) [JTA/RAC]  JTA 25,500 56% | F%:25700, +:253800. H:26,000
iRl =75 SRR IR TR | JAL JAL 24,600 54% | F7K:23,400, &:23,900, £:20,800
EEH IEHTFE) | JAL JAL 24,600 54% | F:23800, 7k:23400, :23,900. £ :23,600., H:23,400
Ziwhl =& SRR IR TR | JAL JAL 24,000 58% | F:24,500, A:24,900, %:25,100, £:20,900, H:21,100
(=3 IR TR | JAL JAL 23,600 59% | F:24,500, K:24,100, %:24,600, £:20,700, H:21,700
Es e ) ZERF [AEFTE | JAL JAL 24,400 58% | A%:24900, +:22,200. H:21,300
FinE [HREGFH)| JAL JAL 25,200 57% | H:25600, A% H:25,700, £:21,800
ESTENN N ZiRI% | HRER(HE) | JAL JAL 21,400 70% A4 +:21,800, H:23,900
A% [ERFERGHE) | JAL JAL 22,700 69% | A%:23,100, £:23,500, H:25,900
iRl = R L ZimplF |WRCHE)| JAL JAL 26,500 67% | A% H:26,900. 7K:26,400, 1:24,400
fELL% |RRECIA) | JAL JAL 27,000 67% | F:27.400, %:25900, +£:26,500, H:27,700
S RN ZimplF |WRCHE)| JAL JAL 26,100 68% | F:26,500, % H:26,900, 1:24,400
LE% [EZRCHH)| JAL JAL 27,300 67% |H£H:27,700, 1:26,500
HIRFFR) | JAL JAL 26,200 66% | F:26,600. 7k:22,800. A:23,300. %:28,300. 1:24,700
iRl =HE HRECHE) | JAL JAL 32,800 59% | F:33,200, 7k A:32,100, £:33,300, +:32,600, H:35,700
HECHE) | JAL JAL 33,700 58% | F:34,100, 7K A:33500, £:34,400, +:35,600. H 35800
iRl =l HRECHE) | JAL JAL 28,200 66% | F:28,600, £:29,700, £:26,200, H:31,800
HECRE) | JAL JAL 27,800 67% | F%:28200. £:29,100. H:30,700
iR =H1E HRECHE) | JAL JAL 35,100 69% | F%:35500, +:37,500. H:40,000
HECRE) | JAL JAL 35,900 69% | F 7A:36,300, %:36,700, £:38,300, H:40,800
TBII=11vi HECRE) | JAL JAL 23,400 67% | F7:23,900, £:23,800, £:24,700, H:23,500
HECHE) | JAL JAL 23,500 67% | F:23900, 7:24,000, %:24,300, H:25900
BI=mtHE BIFE [RHRCHH)| JAL JAL 22,000 72% | H:22,400, £:23,200, *:21,700, H:24,600
BfCEER [RRCHE)| JAL JAL 30,200 61% | B A1£:30,700, £:30,600, H:32,300
JETTE AT MBS |[HEERCHE)| JAL JAL 25,700 68% | F:26,100, 7K:25500, /25,900, %:26,300, £:27,300. H:26,500
fELFE [EECHA) | JAL JAL 25,400 68% | /:25900, %:26,400, +£:26,300, H:27,700
BIN=HE BIIF [RFCHHE)| JAL JAL 34,800 55%  |7k:34,100, K H:34,600. £:34,500, 1:35,500
HE HRECHE) | JAL JAL 34,200 56% |7K:34,100, A:34,600, %:35,700, £:34,400, H:35,800
BN =211 JBIN%E |[HERERCHHE)| JAL JAL 27,800 66% 7K:28,300, £:28,900, 1:29,100, H:29,300
NLFE  [RERCRE) | JAL JAL 27,400 66% | F:27,800, A:28,400, £:29,500, £:28,100, H:30,700
BII=F1E BINFE  |[HERERCHHE)| JAL JAL 37,100 67% | A A:37,600, £:37,500, £:40,400, H:39,600
AiEH |HEREREHE)| JAL JAL 37,100 67% | A:37,600, £:37,500, £:39,400, H:40,800
BTSN HIpRFE [RHFCHHE)| JAL JAL 23,700 66% | $:24,500, £:24,200, H:23,500
A% [ERFERCHE) | JAL JAL 25,100 64% | :25900, +:27,400, H:25,500
g ="F1L HIpRFE [HRCHHE)| JAL JAL 28,800 63%  |7k:28,700, £:27,000, H:26,500
FELFE [EECHA) | JAL JAL 29,400 63% |/:30,200, £:30,400, H:27,300
HR=158 HIpRFE [HRCHHE)| JAL JAL 28,400 64% | $:29,600, £:27,200, H:26,500
L% |HEREREGH)| JAL JAL 29,700 63% | A:30,500, £:32,500, £:30,400, H:27,300
HR=H=E SRR [HERCEHE)| JAL JAL 34,900 55% |7k 7K:34,100, %£:35,900, +:35,200, H:35,400
HE HRECHE)| JAL JAL 35,900 54% | H:35400
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BESH E—o#
XM 3= R O] 5/18-5/31 | als e
g =#x1L HIpRFE [RWRCHEH)| JAL JAL 30,500 62%  |%:32,400, £:29,000, H:31,400
L% [ERRERGHE) | JAL JAL 30,200 63% | A:31,000. % +:33000. H:30,300
fIE=R1E HIpRFE [RWRCHEH)| JAL JAL 35,500 68% 7R:35,800, #:36,300, £:38,700, H:37,800
AiEH |HERERH)| JAL JAL 35,500 68% | A A:35,900, %:36,300, £:37,900, H:40,400
IR =M whFE |[ERCHE)| JAL JAL 21,400 69% |H<£1:21,800, H:22,200
% |ERFERGHE) | JAL JAL 22,600 67% | F:23000. £:23500. H:26,300
L =FEW whFE |[ERCHHE)| JAL JAL 26,500 66% | F£:26,900. 7K:26,400, 1:24,400, H:25,200
FELL%E |RRECIA) | JAL JAL 25,800 67% | F1:26,200, %:26,000, 1 :25,600, H:28,100
wh=HE whFE |[RERCHHE)| JAL JAL 33,000 57% | H%:33400, kA:32,500, £:32,900, H:34,200
HEX |[HRCHA)| JAL JAL 33,400 57% | F1:33,800. 7k:33,300, A:33,700. £:34,100, £:34,300, H:35,900
wIL=Hl wmhFE |[ERCHE)| JAL JAL 28,200 65% | F1:28,600, £:29,700, £:26,200, H:30,100
L% [ERERGHE)| JAL JAL 26,600 67% | H:27,000, :26,800, £:27,600, £:27,800, H:31,100
wh=HiE whFE  |[ERCHE)| JAL JAL 35,100 69% | A%:35500, £:37,500, H:38,300
AIEH |HREREH)| JAL JAL 36,300 67% | F A:36,700, £:37,100, £:38,700, H:41,200
=M BEfEFK [WRCHHE)| JAL JAL 21,400 65% | H#:21,800, 1:20,600. H:23,000
% [ERFERHE) | JAL JAL 22,100 64% | /:22,300, %:23900, £:21,300, H:24,200
EEE=RL BEfEF [WRCHHE)| JAL JAL 25,300 64% | H%:25700, 1:23500, H:25,900
BELFE |RRCHR) | JAL JAL 24,600 65% | A:24,800, %:26,400, £:24,300, H:26,000
HE=LS BEfEF [WRCHHE)| JAL JAL 26,100 63% | F:26,500, %:26,900., 1:23,600, H:26,000
LE% |[HERCHHE)| JAL JAL 24,900 65% | A:25,100, £:26,900, £:24,300, H:26,500
HE=HE HEEFK [RZECHHE)| JAL JAL 33,000 52% | H%:33400, kA:32,500, 1:32,100, H:34,800
KIR(FFD]  JAL JAL 23,100 65% | H:24,400
HEX |[ERCEB)| JAL JAL 32,900 52% _ |7K:32,800, A:33,000, %:34,500, £:33,400, H:34,100
KR (D[ JAL JAL 26,000 61% |k 7:24,300. £:26.400. +:28,100
=L HEEFK [ERECHHE)| JAL JAL 27,000 63% 7:27,400, £:28,200, 1:25,400, H:29,800
KIR(FFD]  JAL JAL 23,800 63% | H:24,200
WilF  [EREREGHE)| JAL JAL 25,900 64% | 7:26,100, %:28,000, +£:26,900. H:29,000
KER(FFD | JAL JAL 26,700 58% |k A:25,000. £:27.100. +:28,300
EEE=db A BEER  |[HER(HE)| JAL JAL 28,100 64% | £:26,500
JEhMFE |[RRCHE)| JAL JAL 26,500 66% | A:26,700, £:28,100, £:27,500, H:27,600
HEE=X% EEEFK [RZECHHE)| JAL JAL 21,900 71% |#&+ H:22,500
KIR(FFD]  JAL JAL 23,600 64% | H:27,600
KaF [RZRCHH)| JAL JAL 21,900 71% + H:22,500
KIR(FFD]  JAL JAL 26,500 60% K:24,800, £:30,600, 1:31,400
HE=RIE HEEFK [ERECHHE)| JAL JAL 22,400 72% + §:23,000
KER(FFD | JAL JAL 26,700 64% 8,500
RIAFE [EZRCHH)| JAL JAL 22,400 72% |$&+ H:23,000
KIR(FFD]  JAL JAL 29,600 60% |7k A:27.900. £:30,000. +:31,200
HEE=RX HEEFR [ERECHHE)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 24,000 66% |4 H:27,500
REARF [ERCHH)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 26,900 62% |k A:25,200, £:27,300. +:31,400
HE==IK HEEFR [ERECHHE)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 27,500 61% |4::27,800, H:28,500
EER | HEECHHA)| JAL JAL 22,400 71% |#&+ H:23,000
KIR(FFD]  JAL JAL 30,000 58% |k :28,300. £:30.400. +:31,600
HE=ERS BHEEH [EERGEHE)| JAL JAL 22,400 72% |3
KR (D[ JAL JAL 26,200 65% |4
BREHX |[EZECHH)| JAL JAL 22,400 72% |3
KIR(FFD]  JAL JAL 28,300 62% |7k 7K:26,600, %:28,700, £:29,700, H:28,500
HEE=F1E BEESR |[HEE(HE)| JAL JAL 33,900 67% K:34,300, £:34,700, 1:36,100, H:36,300
AIEH |HEREREHE)| JAL JAL 35,800 65% | /:36,000, %:37,500, +£:35,900, H:39,100
BHR=/MR BA¥E  |[ERCHHE)| JAL JAL 14,800 75% |&+ H:15,500
NRFE  [ERFERGHE) | JAL JAL 15,300 74% %+ H:16,500
EHR=EitBE BA¥E |[ERCHHE)| JAL JAL 25,900 62% |4 H:26,500, 1:27,300
FaftEES |RECHA) | JAL JAL 26,900 60% | H:28,900
BEH=MEL BA¥E |[ERCHHE)| JAL JAL 24,800 64%  |7K:24,700, %:25,200, £ H:22,800
FELFE [EECHA) | JAL JAL 23,900 65% | €:25,700, £:23,100, H:23,600
BEHR=L5 BA¥E  |[ERCHHE)| JAL JAL 25,700 63% | A:26,100, £ H:24,100
LE% |[®ZRCHHE)| JAL JAL 24,900 64% | £:26,500, £:22,800, H:24,100
BEHA=WLOFH BA¥E |[ERCHHE)| JAL JAL 21,700 71% | £:22,400, £:22,200, H:24,100
WOFEHE | WRCHHE) | JAL JAL 22,500 70%  |%:24,000, H:24,900
BEHR=HE BA¥E [EZRCHH)| JAL JAL 29,600 56%
KIR(FFD]  JAL JAL 19,400 70%  |%:19,800, 1:20,400, H:22,100
HEX |[ERCEBR)| JAL JAL 29,600 56%
KIR(FFD|  JAL JAL 19,400 70% | A%:19,800. £ H:21,300
EHR=ES A% |[EREGH)| JAL JAL 20,300 70% |3
BmER |[ERCHEHE)| JAL JAL 20,300 70% |3
EHx=mk A% |[HEREGH)| JAL JAL 20,200 70% |3
B [ERCHE)| JAL JAL 20,200 70% |4 ,
EHR=mH BA¥E |[ERCHHE)| JAL JAL 20,300 71% |%:21,300, + H:24,100
BEFE |[ERCHHE)| JAL JAL 20,300 71% |#&+ H:24,000
BEHx=l BA¥E [ERCHH)| JAL JAL 20,000 72% |&+ H:20,500
KIR(FFD] JAL JAL 20,100 67% |:20,500, £:21,100, H:21,900
WIF ["ERCHH)| JAL JAL 20,000 72% |#&+ H:20,500
KIR(FFD] JAL JAL 20,100 67% | A£:20,500, +:21,500, H:21,100
BRa=dtam EHR%E  |[EREGH)| JAL JAL 21,800 VEE
AT |[RRCHE)| JAL JAL 21,800 VEE
BEHR=X% BA¥E [ERCHH)| JAL JAL 21,700 T ,
KIR(FFD]  JAL JAL 19,900 69% |4::20,300, £:20,900, H:25,300
KaF [RZRCHH)| JAL JAL 21,700 71% &+ H:22,500
KIR(FFD]  JAL JAL 19,900 69% | 7/:20,300, %:24,000, 1 :24,600, H:25500
EHR=RIK BA¥E [ERCHH)| JAL JAL 23,200 71% &+ H:24,000
KIR(FFD]  JAL JAL 23,000 68% | 4::23,400, £:24,000, H:26,200
RIAFK [ERCHH)| JAL JAL 23,200 71% &+ H:24,000
KiR(FFD] JAL JAL 23,000 68% | A%:23,400, £:24,400, H:24,100
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BESH E—o#
XM 3= R O] 5/18-5/31 | als e
BEHR=EX BA¥E [ERCHH)| JAL JAL 21,800 71% |#&+ H:22,600
KIR(FFD]  JAL JAL 20,300 70%  |%:24,200, :21,300, H:25,200
REARF [ERECHH)| JAL JAL 21,800 71% &+ H:22,600
KB (FFD | JAL JAL 20,300 70% | A#:20,700, £:24,600, H:22,200
EHR=EK BA¥E [ERCHH)| JAL JAL 21,800 71% &+ H:22,600
KIR(FFD]  JAL JAL 23,900 65% | 4::24,500, £:25,500, H:26,200
EEH | HEECHHA)| JAL JAL 21,800 71% &+ H:22,600
KIR(FFD]  JAL JAL 24,200 65% | 4::24,600, £:25,300, H:26,600
EH=ERS BA¥E [ERCHH)| JAL JAL 23,200 71% &+ H:24,000
KIR(FFD|  JAL JAL 22,500 69% |£::23,000, £:23,600. H:24,000
BRSH |EECHH)| JAL JAL 23,200 71% &+ H:24,000
KBR(FFD | JAL JAL 21,700 70% | AR#£:22,100, £:22,900, H:23,800
EH=HE EHRE  |[FERGEHE)| JAL JAL 33,300 67% | £:33,900, £ H:35900
AiEH |HEREREGH)| JAL JAL 33,300 67% 5,300, H:36,700
ZIR=/ SR% |EERGHE)| JAL JAL 14,800 75% H:15,500
MAFE [ERERCEE)| JAL JAL 15,300 74% H:16,500
ZR=FW SR% |EERGHE)| JAL JAL 26,300 61% 7}:26,100. 7K:26,000, £:26,900, + FH:23,800
FELFE [EECHA) | JAL JAL 23,200 66% | FJK/k:23,000, % H:23,800, £:24,200
ZIR=IE5 SR% |EEREGHE)| JAL JAL 25,900 62% | FJK/K:25,700, £:26,900, + H:25,100
LEE% |[R®ZRCHHE)| JAL JAL 24,600 64% | A JkA:24,400, + H:24,300
ZR=WAFE SR% |EEREGHE)| JAL JAL 23,200 68% | FJK7K:23,000, £:24,000, H:25,100
WOFEHE | WRCHE) | JAL JAL 23,600 68% | A /KA:23,400, £:24,200, H:25,100
ZR=HZE ZRFE |ERCHEHE)| JAL JAL 29,600 55%
HE HRECHE) | JAL JAL 29,600 55%
RBR(FFD | JAL JAL 21,700 67% :25,900, K€+ H:25,800
ZR=&% HRECHE) | JAL JAL 19,300 VEE
= (H JAL JAL 19,300 VEE
ZiR=@/ JAL JAL 19,200 T
JAL JAL 19,200 VEE
ZR==H JAL JAL 19,300 72% |3
JAL JAL 19,300 72% |3
ZIR=#l JAL JAL 19,000 73% |4
JAL JAL 19,000 73% |3
JAL JAL 22,400 64%
ZR=dc M =IR% JAL JAL 19,800 74% |4
EIZRIES JAL JAL 19,800 E
ZIR=X% ZiR% R JAL JAL 19,700 73% |3
HEECRE) | JAL JAL 19,700 73% &+ H:20,500
RBR(FFD | JAL JAL 22,200 66% :26,400, K H:26,300, % 1:30,000
ZR=FI& HRECHE) | JAL JAL 21,200 73% &+ H:22,000
HECRE) | JAL JAL 21,200 73% &+ H:22,000
RBR(FFD | JAL JAL 24,500 66% :28,700, K€ + H:28,600
ZIR=REX HRECHE) | JAL JAL 19,800 74% %+ H:20,600
HECRE) | JAL JAL 19,800 74% %+ H:20,600
KR (D[ JAL JAL 22,600 68% 126,800, A% H:26,700. £:30,000
ZR=El& HRECHE) | JAL JAL 19,800 74% &+ H:22,600
KER(FFD | JAL JAL 25,700 63% | F:29,400, %:30,200, +£:27,300, H:30,600
HECRE) | JAL JAL 19,800 74% &+ H:22,600
KER(FFD | JAL JAL 26,500 62% | F:30,700, 730,600, % £:31,000, H:31,100
ZR=ERS HRECHE) | JAL JAL 21,200 73% &+ H:22,000
KER(FFD | JAL JAL 25,100 66% | A:28,800, % H:29,200, +:26,200
HECRE) | JAL JAL 21,200 73% &+ H:22,000
KER(FFD | JAL JAL 24,000 67% :28,200, & %:28,100, £ H:28,300
ZR=RiE HE(CHE) | JAL JAL 34,900 66% 7k K:34,700, £ H:36,900
HERECHE)| JAL JAL 34,900 66% 7k K:34,700, + H:36,900
A=/ FRCHE) | JAL JAL 17,200 68% + H:18,300
HRECHE) | JAL JAL 17,100 68% H:17,500
MHE=FiaE HRECHE) | JAL JAL 26,300 57% 23,400, H:22,600
HERECHE)| JAL JAL 26,300 57% |+:22,700, H:23,100
FE=MRL HRECHE) | JAL JAL 26,300 58%  |7k:26,200, £ H:18,900
HRECHE) | JAL JAL 24,500 61% |25, 9,300, H:18,900
ME=L% HRECHE) | JAL JAL 27,600 56% |%:28,000, £ H:20,200
HRECHE) | JAL JAL 24,900 61% |%:26,300, £ H:19,400
ME=LOFEH FRCHE) | JAL JAL 23,300 66% | $:24,500, £:18,300, H:20,200
HEECRE) | JAL JAL 23,900 65% | 4::24,600, £:18,700, H:19,800
ME=HZE HRECHE) | JAL JAL 26,300 57%
KIR(FFD|  JAL JAL 20,400 66% |£::21,000, £:21,300, H:22,200
HEXRX |[ERCEBE)| JAL JAL 26,300 57%
KIR(FFD|  JAL JAL 19,400 67% |% =+ H:20,100
ME=ES FUEF [RERCHHE)| JAL JAL 20,200 67% &+ H:20,700
mER = JAL JAL 20,200 67% |4
A= FUEF JAL JAL 20,200 67% |4
BT JAL JAL 20,200 67% |4
MHE=8 FREF JAL JAL 20,300 68% |+ H:20,800
EEFE JAL JAL 20,300 68% |+ H:20,800
FE=#L PREES JAL JAL 20,400 68% |+ H:20,900
) JAL JAL 20,200 65% | % 1:20,800, H:21,200
ENITES )| JAL JAL 20,400 68% &+ H:20,900
) JAL JAL 20,100 65% | H:20,800. +:21,200
=L FUEF )| JAL JAL 29,000 59%  |%:29,400, £:22,400, H:25,700
E&ES ) UAL JAL 26,500 62% |£:28,900, £:22,100, H:23,700
ME=X% PREES )| JAL JAL 28,400 59% 7K 7K:28,000, £:29,100, +:23,100, H:24,300
) JAL JAL 20,000 66% |2 +:20,600. H:24.600
Ko 5 )| JAL JAL 28,000 59% | H:29,500, 7k AK:27,800. %:28,500, 1:23,400. H:24,300
KiR(FFD]  JAL JAL 20,800 65% |4 +:24,300, H:28,000
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X Eed BOE= 5/18-5/31 | ol wE
ME=RIE BEFE [EZRCHH)| JAL JAL 28,300 61% | 7KK:28,000, #£:29,100. 1 H:24,200
KBR (FFD | JAL JAL 23,100 66% | £:23,700, £:24,100, H:25500
KRR [ERERCEE)| JAL JAL 28,000 61% 3:27,800. 7k AK:27,900, %:28,900, +:23,800, H:23,100
KIR(FFD]  JAL JAL 22,200 67% |+ H:22,900
ME=FEX BHEFE [RZRCHH)| JAL JAL 29,200 58% | FK7:28,800, £:30,300, 1 H:24,300
KIR(FFD]  JAL JAL 21,300 67% |% H:24,500, £:22,200
RBAR [ERCEE)| JAL JAL 28,300 60% 7K K:27,900, £:28,800, +:24,300, H:24,700
KIR(FFD|  JAL JAL 21,200 67% |%:22,200, £:24,300, H:24,700
ME==I BHEFE [ERRCHH)| JAL JAL 27,200 61% | :28,300, £:22,300, H:23,400
KIR(FFD]  JAL JAL 25,300 61% |£:26,100, £ H:26,400
BEE |ERCHR)| JAL JAL 27,400 61% 7K:27,000, %:27,700, £:23,400, H:21,900
KIR(FFD| JAL JAL 25,100 61% |£::26,600, £:26,500, H:29,100
MHE=ERS BHEFE [BRRCHH)| JAL JAL 26,000 64% 7,600, £:20,700, H:24,300
KER(FFD | JAL JAL 23,500 66% +:24,500, H:24,700
BREH |[EZECHH)| JAL JAL 25,500 65% | F:27,900, 7k AK:25,400. %:28,300, +:23,600. H:24,300
KIR(FFD]  JAL JAL 22,800 67% | % 1:23,800, H:28,000
MHE=R1E = )| JAL JAL 32,700 66% |%:34,200, £ H:32,000
[ JAL JAL 32,700 66% |t H:32,000
EE=HE | JAL JAL 24,300 61% & H:29,100, 1:28,400
| JAL JAL 30,200 51% 3k AK€+ H:29,100
e =l | JAL JAL 24,300 59% & +:29,100, H:29,500
| JAL JAL 26,900 55% | A H:29,900. KK %£:25,000, £:25.400
EE=X% | JAL JAL 25,400 59% |4 +:30,600, H:31,700
| JAL JAL 31,700 49% | FK7K:30,600
EE=RIF | JAL JAL 27,200 61% |%:32,500, £:32,900, H:33,800
| JAL JAL 29,000 58% | F H:32,000, kA% +:27,100
TEE=FEX | JAL JAL 25,800 61% | H:32,900, 1:31,000
| JAL JAL 32,700 51% | FJKAK:31,000, £:31,800, & H:32,900
EE=2Ik | JAL JAL 29,800 56% &+ H:32,900
JAL JAL 26,000 65% | A A+:27,300, 7K:24,100, £:28,200, H:29,400
JAL JAL 32,900 51%
JAL JAL 26,800 64% | F:27,300, 7k A:24,500, % +:29.400, H:27,800
EE=ERS JAL JAL 28,100 60% | A /KA:28,500, £ 1:34,100, H:32,600
JAL JAL 34,100 52% | A KA:32,400, £ +:33,400
(L =/ B JAL JAL 16,800 62% | H:16,600
B JAL JAL 16,800 62% |::16,900, £:16,400. H:17,600
Lz =Pl B JAL JAL 18,800 65% |4+ H:19,400
B JAL JAL 18,800 65% |4+ H:19,400
W =I55 B JAL JAL 22,800 58% |%:22,900, £ H:19,400
B JAL JAL 21,400 61% |+ H:19,400
Wiz =LAFER B JAL JAL 18,500 68% | H:19,000, 1:18,800
WOFEHE | WRCHE) | JAL JAL 18,800 68%  |%:19,800, £:19,000, H:20,700
IWi=HZE W% | EECHH)| JAL JAL 27,900 46% |k A% H:27,500, £:27,600
KR (D[ JAL JAL 22,100 62% | F7K:21,000. A:23900. £:24,700. +:25500. H:25,600
HER |[ERCEHR)| JAL JAL 27,600 47% kK& + H:27,500
KR (D[ JAL JAL 22,100 62% | FH:23900. 7k A:21,000. £:24,700. +:24,800. H:26,300
Wk =#5 W% |WECHA)| JAL JAL 19,200 64% |%:20,700, £ H:18,000
EE% |HEECAE)| JAL JAL 19,700 63% |+ H:19,000
Ik =2 W% |HFECHHE) | JAL JAL 19,700 63%
S |[ERCHH)| JAL JAL 21,200 60% |#::21,600, £:21,500, H:21,900
Wi =10 W% [EEGE| JAL JAL 21,200 62%
AR(EFD | JAL JAL 22,800 59% | F7K:21,000. A% +:24,600, H:25.000
WL [ERCEHE)| JAL JAL 20,600 63% & +:21,000. H:22,400
KBR(FFD [ JAL JAL 22,800 59% | F H:24,600. KA:21,000. %:25400. F:25,000
Wik =K5 W% [EEGE| JAL JAL 23,600 60% | A KA H:23200
KBR (FFD [ JAL JAL 22,600 61% | F7K:20,800. A% +:24.400, H:28.400
A% [RRCEH)| JAL JAL 23,600 60% | AkA#£+:23,200, H:24,800
KBR (FFD [ JAL JAL 22,600 61% | F:24.400. KA:21,500. %:28,900. *:28,100. H:29.600
Ik =RI& W% |[EECHH) | JAL JAL 23,500 63% | AJKAR:23200. £+:23,600
KBR(FFD | JAL JAL 25,700 61% | F7K:23900, A%:27,500, +:28,300. H:29,300
RB%E [ERCGEH)| JAL JAL 23,300 63% | A%+ H:23,600. /KA:22,700
KBR(FFD | JAL JAL 25,700 61% | H:27.500. kA:23900. %:28,300. *:27.900. H:29,100
Wi =ReA W% [RmECGEE]  JAL JAL 24,400 60% | A 7KA:24,000, % +:24,800, H:22,800
KBR(FFD | JAL JAL 23,000 64% | F7K:21,900. &:24,800. % H:28,300. 1:26,400
BAE [EECE)| JAL JAL 24,000 61% | A KALE:23200, £:24,500, H:25,600
KBR(FFD | JAL JAL 23,000 64% | F:24,.800. K A:21,900. %:25600. *:28,100. H:27.200
Ik ==1% W% |[EEECHRH) | JAL JAL 22,400 63% & +:22,.800. H:22,700
KBR(FFD | JAL JAL 27,000 57% | A7K:25,900. A&:28,300. % H:29,800. 1:30,500
EE%E [EERGHE| JAL JAL 21,900 64% | %:22,000, H:22,300
KBR(FFD | JAL JAL 26,900 58% | F:27,900, 7k A:25,800. % +:29,900. H:30,500
Wk =ERS W% |[EEECHRH) | JAL JAL 21,200 67%
KBR(FFD | JAL JAL 25,500 62% | F7K:24,900. A:27.000. %:29,700. *:28,700. H:28.900
BRER [ERCHHE)| JAL JAL 22,800 64% | F:23,600, H:24,800
KBR(FFD | JAL JAL 24,600 63% | F:26,200. 7K A:23500. % F:27.200. H:30,500
Ik =H1E W% [EECGHE) | JAL JAL 30,500 65% |+ H:32,500
AiEH#E  |[HEECEE)| JAL JAL 30,500 65% |+ H:32,500
a=H=E = ABRURFD | JAL JAL 25,800 55% 7k:25,300, £ +:26,300. H:24,500
HEE [ KRUERFD| JAL JAL 25,800 55% | F:25,000, 7K:26,200, K £:26,300, +:23,500. H:25,900
e =#L = KBR(FFD [ JAL JAL 22,000 60% | H/K:21,700. H:22.400
MLFE [ XBR(FFD | JAL JAL 21,100 61% | H:21,400, £:21,800
E=x% WEHE [ KERUEFFD] JAL JAL 22,100 61% | A:22,500. £ +:22,600. H:25800
An%E | KXBRGEFFD| JAL JAL 21,500 62% | +:24,900. H:24,000
e =R = ABRURFD | JAL JAL 25,200 61% 25,700, H:26,700
RIG%E | KKRUEFFD| JAL JAL 24,600 62% | A:25000. %:25,100. £ :24,700. H:26,200
s =g.K = KBR(FFD [ JAL JAL 22,500 64% | A:22,900, % H:25,700. £:23,000
BAE  [KRWEED] JAL JAL 22,200 64% | +:25500, H:20,700
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BESH E—o#
XM 3= R O] 5/18-5/31 | als e
E==i EFK [ KERUEFFD| JAL JAL 26,500 57% | +:27,400, H:26,900
EiEF | KBRURFH | JAL JAL 27,100 56% | A:27,500, %:28,000, H:28,700
WE=ERS iEF [ KERUEFFD| JAL JAL 25,200 62% | A:25,600, £:26,100, £:26,500, H:25,400
BREHX | KRURF)| JAL JAL 26,300 60% 126,500, :26,900, %:27,400, £:24,400, H:27,600
FR=HE #FiRFE [ KRUFFD| JAL JAL 23,800 57% | A 7K:23500, H:21,700
HE RBR(FFD | JAL JAL 23,600 57% | H:22,800, kA% H:23,800, 1:22,300
Fim=Hl #FimFE [ KRUFFD| JAL JAL 19,300 63% | A+:19,500. %£:19,900. H:20,300
NLFE [ KBRUEFD | JAL JAL 19,500 63% | /:19,800, %:21,500, £:20,900, H:19,100
FR=X% #FiRFE [ KRUFFD| JAL JAL 20,300 63% | A#:20,600, 1:20,900. H:23700
AaF [ KERUFFD| JAL JAL 19,300 65% | A:19,600, %:21,300, £:21,400, H:22,600
FiR=RIK #FiRFE [ KRUFFD| JAL JAL 20,900 67% | A:21,100, % H:22,300, 1:21,600
RIBE [ KRUFFD| JAL JAL 22,600 64% |£:23,600, H:24,300
FiR=REX #FiRFE [ KRUFFD| JAL JAL 20,700 65% | A:21,000, % H:23,600, 1:21,300
REARFE | KRUFFD| JAL JAL 21,200 65%  |%:21,700, £:21,400, H:22,400
FR== #FiRFE [ KRUFFD| JAL JAL 23,500 61% | A:23,700, % H:25,000, 1:23.900
=R | KBRURFD | JAL JAL 25,100 58%  |%:26,100, £:25,000, H:26,800
FR=ERS #FinFE [ KERUFFD| JAL JAL 23,000 64% 3 7K:23,400, Z:23,700, %:24,100, +:24,600, H:23,300
BREH¥ | KRUREF)| JAL JAL 22,800 64% | 2,300, H:25,700
My =FE L MAFE [ERERCEE) | JAL JAL 20,900 65% |JK: 1,800, £:18,000, H:19,600
FELFE [EFCHA) | JAL JAL 21,000 65% |JK: 1,900, £:20,000, H:19,000
IMNA=IRE MAFE  [RRCHE) | JAL JAL 22,400 63% |- 8,000, H:19,200
LE% |[®ZRCHHE)| JAL JAL 21,500 64% | 9,700, H:19,200
MR=ILOFER MK [RRCHE)| JAL JAL 17,800 72%  |%:18,100, 1:17,400, H:20,500
WOFEHE | WRCHE) | JAL JAL 18,200 72% |%:18,800. H:19,300
INA=HZE MAFE  [RFRCHE)| JAL JAL 25,900 55%
HEXE |[HRCHA) | JAL JAL 25,900 55%
IMNA=TES % [ERFERGHE) | JAL JAL 19,400 67% |%:21,100, £:16,600, H:18,200
mER |[ERCEHE)| JAL JAL 21,000 64% |+:18,500, H:18,100
INR=F % [ERFERGHE) | JAL JAL 22,100 62%  |%:23,400, £:21,500, H:23,700
=% |ERERGHE)| JAL JAL 22,400 62% |%:23600, +:22,200, H:23,100
IMNE=& % [ERFERGEE) | JAL JAL 20,200 67% |%:20,300, £:19,200, H:21,200
BAFE |[ERCHHE)| JAL JAL 22,300 63% | H:20,200
MR=HL % |ERFERGEE) | JAL JAL 22,100 64%  |4:22,900, £:21,900, H:23,000
ML | RRCHE) | JAL JAL 23,100 63% | 1:22.200
MR =FE T A% [ERFERGHE) | JAL JAL 23,600 65%  |%:24,900, £:21,500, H:26,000
JEAMFE |[RRCHE)| JAL JAL 22,200 67% 124,500, £:22,300, H:24,400
INR=K5 MAFE  [RRCHE)| JAL JAL 23,500 64% JKA £:23,100, £:24,600, H:25,000
Ao% |[ERCHEHE)| JAL JAL 23,500 64% | H:23,800, 7k AR +:23,100, £:25,100, H:25,000
M= KIB % [ERFERGHE) | JAL JAL 23,600 66% | F A:24,000, %:24,800, £:24,100, H:23,500
R [HERCEHE)| JAL JAL 22,300 68% | F:22,600. 7k:22,100, K:22,200. £:23,500, £:22,700, H:24,100
IMA=FEX MAFE  [RRCHE)| JAL JAL 23,500 65% | H7KA:23,100, £:23,900, 1:23,400, H:24,300
BEAR |[HERCHEHE)| JAL JAL 23,500 65% | H7KAK:23,100, £:25,300, 1:22,500, H:25,600
M= IR MAFE  [RFRCHE) | JAL JAL 21,700 68% | F:21,900, 7k AK:21,500. %£:22,300, F:21,400. H:22,500
HEE |ERCHA)| JAL JAL 21,000 69% | H:21,400, £:22,200, £:21,300, H:22,600
IME=ERS A% [ERFERGHE) | JAL JAL 17,500 75% |&+ H:19,700
BRSH¥ |HECHHA)| JAL JAL 18,500 73% + H:20,500
IMA=ETH MAFE [REERE) | JTA |[JTA/RAC| 27400 59% H:27,700, 7k:27,300, K:32,600. £:32,800, 1:32,700
Ea% | M#EERH) [JTA/RAC| JTA 28,200 58% | A H:28,500. &:33,500, % 1:33,800
IMRA=R1E IMRAFE [RRECHHE)| JAL JAL 29,600 68% |+ H:31,100
Sh#(BE) | JTA |JTA/RAC| 27,800 62% | A% +:33,100, H:28,000
RiIEF [RZRCHH)| JAL JAL 29,500 68% |+ H:31,100
048 (RFR) [JTA/RAC]  JTA 28,600 61% |A:33,100, % £:33,400
=21 FELZE  |P#B(ERER) | JTA [JTA/RAC| 24,800 58% | A%:32,900
EoF | PR (BRER) [JTA/RAC|  JTA 27,100 54% :27,300, JKA:27,000, %:27,200, £ H:33,700
[ITEE=E FELZE | P#B(BRER) | JTA [JTA/RAC| 27,800 57% | A+ H:28,000. 7K:27,500, A %:34,100
AiEH [FEGREH) [JTA/RAC]  JTA 27,500 58% | F%:27.700. £:33900. H:34,100
BAH== ST [T JAL JAL 21,800 56% |sk:21,400, %:22,300, £:21,900, H:23,500
EGE [T JAL JAL 21,800 56% :21,400, %:22,700, £:23,200, B:21,900
R RE) =FF [ EEB) | ZRECHAA) | JAL JAL 24,700 70% |%:26,000, H:31,700
KR (D[ JAL JAL 14,800 82% |+:15,600, H:17.100
BA¥E [ERCHH)| JAL JAL 23,800 71% € +:29,900, H:26,200
) JAL JAL 19,300 76% 119,700, £:20,700, H:20,300
PR (R = =R [ GRE) R )| JAL JAL 26,200 67% 7K A:26,000, H:31,200
=IR% ) JAL JAL 25,000 69% | A 7kA:24,800, £:27,000, 1:27,900, H:27,300
B GRE) =FhE | B F )| JAL JAL 25,200 66% |%:26,100, £:20,900, H:26,600
KIR(FFD]  JAL JAL 15,900 79% % +:17,100, H:20,200
BHEF [EZRCHH)| JAL JAL 26,200 65%  |%::33,000, £:27,000, H:22,400
KER(FFD | JAL JAL 20,700 73% 121,300, £ H:21,600
PR (BRER) =1E% | B | KBR(EFD | JAL JAL 24,000 70% 7k AK:22,400, € +:29,100, H:32,800
=] JTA JAL 34,700 58% | A:35,600, 7k:32,400, A:33,000, £:37,400, £ H:37,000
EEFK [ KRUFFD| JAL JAL 23,900 70% |#+ H:28,700
1= JAL JTA 34,300 59% | /k:35,600. 7K:32,400, %::36,600. £ H:37,000
PR (BRER) =1L | GIRER) R | R CRIE) | JAL JAL 21,800 67% | H:26,800
KR (D[ JAL JAL 18,100 76% | A7k A:16,700. % +:21.400. H:23400
W% |[ERCEA)| JAL JAL 21,400 67% |&+:27,500
KER(FFD | JAL JAL 22,400 70% | AskA:21,300. % H:25,000. +:25,800
PR ERE) =& |PEEE) R EE JTA JAL 28,700 65% | A:29,300, £:30,500, £:31,000, H:32,100
KIR(FFD] JAL JAL 21,300 71% |H:20,100
[IE=E3 [T JAL JTA 30,000 63%  |%:33,500, £:31,700, H:33,700
KIR(FFD]  JAL JAL 21,300 71% &+ H:21,600
PR (ERER) =/ P GIRER) | R CRIEA) | JAL JAL 21,300 70%  |%:22,100, 1:20,800, H:27,300
NAFE  [ERERCEE)| JAL JAL 20,500 71%  |%:26,600, +:26,100, H:23,100
R RE) == CMEEB) %] EE JTA JAL 25,900 56%
EEF [T JAL JTA 25,900 56%
PR (ERER) =L P RB) K| EE JTA JAL 24,100 56%
ENITES [T JAL JTA 24,100 56%




MEfEEI5I128 1 EER (GA18E~5A31 RS
£ Py -
R ga® | BERH |55 Co08 e
RRCIE) =BTEZXE|RRCHE | BES JAL JAL 25,400 64% | A H:25700, 7kA:25,300, £:26,400, 1:28,200
RBR(FFD | JAL JAL 29,500 56% | +:30,400. H:29,600
BEXER | BER JAL JAL 26,500 63% | F:28,200, K:26,900, £:30,200, H:28,900
RBR(FFD | JAL JAL 31,300 53% | +:30,500. H:30,600
HRCHE)=ERE [ZRZ(PHE)%| BREES JAL JAL 26,500 63% | 1+:28,400
ERER BRS JAL JAL 26,500 63% 129,800, £:29,200, H:30,100
HROHE) =28 [ZRR(PHE)%| BRES JAL JAL 28,300 62% 7KK H:28,200, £:29,300, £:31,100
BeER BRS JAL JAL 29,000 61% | H:29,800, %:31,100, H:31,400
R CHE) =K RE| HRCHR#| BRS JAL JAL 28,700 63% | A 7kA:28,600, £:29,700, £:31,900, H:29,000
KR(FFD =&EXE| KREFFDH| BRS JAL JAL 22,900 60% | A%:23000, £:23200. H:24,100
BEAEX | BERE JAL JAL 24,300 57% | F:24,500, K:24,900, %:26,500, £:23,900, H:25,300
KR(FFH=BERE [ XRFDFE| BRES JAL JAL 25,300 57% | HJKAKH:25700. £:26,100, +:26,300
ERER BRS JAL JAL 25,500 56% | H A H:25700, £:26,100, £:25,100
KRR =828 [ XRFDE| BRS JAL JAL 26,600 57% | HIKAH:26,400. £:26,800, 1:27,400
BeER BRS JAL JAL 26,800 56% | 7:27,000, £:27,400. 1:26,400, H:27,200
RBR (FFD) =k B | KR FFD S| BRS JAL JAL 26,600 59% | FJKZK:27,000, € H:27,400, £:28,000
[ SEPNE] 12 7 BRS JAL JAL 18,500 61% |H:18,900, +:16,900, H:18,600
BEEAER | BERE JAL JAL 20,600 57% | A:21,000, %:22,200, £ H:19,000
BE="ERS [ BRS JAL JAL 22,200 55% |t H
BE=1E28 12 7 BRS JAL JAL 23,100 55%
BeER BRS JAL JAL 23,100 55%
RRCHE)=5BE R (PBA)F| HIE JAL RAC 26,900 66%
5MEFR [ HHEGEH)| RAC JAL 28,000 65%
i RAC JAL 26,900 66%
AXERURFH=5PE| SHPEHK |AH#EGEH)| RAC JAL 25,300 65%
KB (B87E) = 5 3E [ ABR (BIF)%| FHiE JTA RAC 32,400 52% |4::34,300, £:33,100
BEEsR ,M%Gir@) RAC JTA 38,700 46% |7k A:36,700. %:37,700, F:35,600
RAC JTA 32,400 52% |k A%:31,000, + H:33,600
ZHECHE=58E| SHREHK AJ%(%BS) RAC JTA 39,100 49% 3% £ H:39,500, £:39,200
12 = 5 A E S5MEFR | A#EGEH)| RAC JTA 29,200 55% | A:29,800, £:30,900, + H:31,400
SRR (IR =5 ME PGB FE| HIE  |ITA/RAC| RAC 9,700 75% | B+ H8:10,000. 7k:9,400, K %£:9,600
S5MERK | FHIE RAC _[JTA/RAC 9,400 76% | A £:9,600, 1:9,700. H:9,800
FRCHE)=AKRE [RFCHE) F | $#EGH) | JAL [JTA/RAC| 21,100 64%  |%:26,300, £:27,000
AREFE | HHEGBH) [sautarac]  JAL 19,800 66% | A% +:19,900, H:25,100
RIR (FFD) = AKE | AR (B 3 |4 (BB%) | JAL |[JTA/RAC| 25500 50% |7K:24,100, 7:24,200, %:25,700, £ :27,700
AREFE | B8 BBE) [Auutaro]  JAL 25,600 50%  |7K:24,200, A:24,500, %:24,200, £:24,000, H:26,000
KR (BIEE) = Ak B | XBx (BFR) % | 548 (IB%A) | JTA [JTA/RAC| 31,400 39% |k 7K:29.400. £:30,700. +:29,600
AKES |48 FEBH) [wutarac]  JTA 29,900 42%  |7k:27,400, K:27,100. £:28,100, £:26,000
ZHE(PE) =AXE|EHECPH X AEEH) | JTA [JTA/RAC| 31,100 45% | FA:31,700, % H:31,400, £:32,100
AREFE | HHEGBH) [autarac]  JTA 30,500 46% | A H:30,900, A:30,700, £ £:31,000
BE=AXE [ | R4 (BREE) | JTA [JTA/RAC| 24,600 44% | A#:24700, 1:24,900, H:24,800
AREFE | GBH) [mautarac]  JTA 24,400 44% | A%:24500, 1:24,800, H:24,700
RRECHA) =R |R’RCIA) R | KRR | JAL JAL 20,100 61% |A:20,600, £:20,400, £:19,500, H:19,200
] JAL JAL 25,400 46% | F7K:25,800, %+ H:25,900
fRlkF [ KBRURFD| JAL JAL 19,800 61% |%:19,700, £:18,900, H:19,500
HE JAL JAL 25,900 45% |7k K4 8:26,200, 1:26,600
PR (RER) =R I GRE) | KR (BFH | JAL JAL 15,900 78%  |%:16,500, 1:15,200, H:17,400
#FiRFE [ KRUFFD| JAL JAL 18,900 74% | A£:19,100, £ H:20,200
12 = +LIR G F %) EEF  [RERCHE)| JAL JAL 31,500 61% 3:32,400, 7K:31,400, A:33,400, £:37,900, 1:37,700, H:29,400
HIRF TR R R HHE) | JAL JAL 31,000 61% |A:33,100, %:38,500, £:34,700, H:36,700
EHR=%m5 BRHE IEHTFE) | JAL JAL 19,400 60% |A:19,900, a 20,300, +:15,900, H:16,800
ZERIF [ARGETH | JAL JAL 20,300 58% |A:21,200, %:22,500, £:17,200, H:19,400
T =% R FUEF 7 JAL JAL 21,100 60% :21,500, R#:21,600, £:17,300, H:21,200
ZE R [ALIR G JAL JAL 21,200 60% | H:21,500, K£:21,700, 1:19,000
AEE (P =%H5 B EE (F) %] HR CH JAL JAL 20,200 69% | A %:20,600, £:21,400, H:21,900
HILFE Rl JAL JAL 20,200 69% | A% 1£:20,600, H:21,400
ZEE () =8Il |2 & E (hER) JAL JAL 21,000 68% | A+ H:21,400, A:22,000, £:23,100
ENIE: JAL JAL 19,400 71% | F%:19.800_7KA:19.300. £:19.100. H:20,600
B =25 SR JAL JAL 27,400 66% | F:27,800, £:28,500, 1:29,400, H:30,200
Sk JAL JAL 26,900 67% | F:27,300, %:27,700, £:25,000, H:30,200
mE=%m5 BEHX JAL JAL 25,500 68% | H#:25900, 1:25400. H:27,300
ESTLES JAL JAL 25,000 69% | F:25,400, £:26,200, 1:23,000, H:25500
K= 5 N JAL JAL 23,400 73% |&+ H:24,400
SRR JAL JAL 23,400 73% |&+ H:24,400
R =25 KI5 JAL JAL 23,900 74% |#&+ H:25,000
SRR JAL JAL 23,900 74% |#&+ H:25,000
RAR=%E5 RER R JAL JAL 23,900 73% &+ H:25,000
ESTREA JAL JAL 23,900 73% &+ H:25,000
BB =2 Rl EGE JAL JAL 23,900 73% &+ H:25,000
ESTHES JAL JAL 23,900 73% &+ H:25,000
BRE=%iH5 BRER JAL JAL 23,900 74% |#&+ H:25,000
SRR JAL JAL 23,900 74% H:25,000
AR FFR) —CEAB|ALIEF TR E JAL JAL 32,600 64% 32.900. JK:30,800 733 500, % :33.400. £:33,300. F:32.700
[ EIN-F. JAL JAL 32,600 64% | F1:34,600. 7k:30,800, A:31,900. £:34,900, £:30,100, H:33,500
BEHR=EEKXE EHRR JAL JAL 29,800 66%  |7k:28,000, A:30,400. £ +:31,000, H:30,200
BEEAEHR JAL JAL 29,800 66% | F:31,500. 7k:28,000, K £:28,800, %:30,200, H:31,800
ME=FXXE FUEAF JAL JAL 31,800 61% |7K:30,000, A:32,400, %:33,100, £:27,100, H:26,300
[EIN-F. JAL JAL 30,400 62% | F:32,100. 7k:28,600, A:29,400. £:30,300, £:25,100, H:26,700
IMA=TBEXRE MR JAL JAL 26,000 67%  |7k:24,200, K£:26,600. 1:26,200, H:25,400
[EIN-%. JAL JAL 26,000 67% | F:27,700, 7k:24,200, A :25,000, 1:24,600. H:26,200
wWA=FHR=43I | WOFHE JAL JAL 27,400 67% | A:28,200, £:30,600, £:30,200, H:28,600
FEES JAL JAL 25,700 69% | £:26,700, £:25,800, H:27,800
B =8I BInFE JAL JAL 29,800 62% | A:30,600. :33,300
FEES JAL JAL 29,200 63% | $:30,400, £:27,800, H:29,800
EE=9% mEFR JAL JAL 27,900 64% | AK:28,700, £:30,700, 1:29,300, H:26,900
FESIES:S (2:1EE> JAL JAL 27,300 65%  |%::28,900, £:25,800, H:25,100
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XM 3= R O] = 5/18-5/31 | als e
K5 =4 HRECHE) | JAL JAL 22,400 74% |3
HRECHE) | JAL JAL 22,400 74% |$&+ H:23,400
RIE =R FRCHE)|  JAL JAL 22,900 74% |$&+ H:23,900
HRECHE) | JAL JAL 22,900 74% |#&+ H:23,900
A= FRCHE)|  JAL JAL 22,900 73% |&+ H:23,900
HRECHE) | JAL JAL 22,900 73% &+ H:23,900
IR =SB FRCHE)|  JAL JAL 22,900 73% &+ H:23,900
HRECHE) | JAL JAL 22,900 73% &+ H:23,900
BER&=3I% FRCHE) | JAL JAL 22,900 74% |#&+ H:23,900
HRECHE) | JAL JAL 22,900 74% + H:23,900
LE=%k FRCHE) | JAL JAL 27,200 66% :27,600, %:28,000, £:25,600, H:28,100
HEECHE) | JAL JAL 26,100 67% | F1:26,500, %:26,900., +:24,400, H:25,200
BR=TFIk HRECHE) | JAL JAL 27,000 65% | A A:27,400, £:28,200, 1:28,100, H:30,600
HECHE) | JAL JAL 26,900 65% | F:27,300, %:27,700, £:25,000, H:28,500
BER=Fk HRE(CHE) | JAL JAL 25,500 67% | A 7K:25,900, £:26,300, 1:25,200, H:27,700
HECHE) | JAL JAL 25,000 68% | F:25400, %:26,200, £:23,000, H:23,800
Ko =%IE FRCHE) | JAL JAL 22,000 74% |$&+ H:23,000
HRECHE) | JAL JAL 22,000 74% |$&+ H:23,000
RIE="%I5A FRCHE) | JAL JAL 22,500 75% |&+ H:23,500
HRECHE) | JAL JAL 22,500 75% |&+ H:23,500
RA=%E% FRCHE) | JAL JAL 22,500 74% |#&+ H:23,500
HRECHE) | JAL JAL 22,500 74% |#&+ H:23,500
B =15 FRCHE)|  JAL JAL 22,500 74% |#&+ H:23,500
HRECHE) | JAL JAL 22,500 74% |$&+ H:23,500
BR&E=%Fk FRCHE)| JAL JAL 22,500 75% |&+ H:23,500
HRECHE) | JAL JAL 22,500 75% + H:23,500
BII==h HECRE) | JAL JAL 26,900 66% 127,300, 7K A:26,800, £:27,700, 1:27,600, H:28,500
HECHE) | JAL JAL 28,200 64% | F:28,300, A:28,700, £:29,500, £:29,200, H:30,200
HE=E0 HRECHE) | JAL JAL 26,900 61% | F:27,300, %:27,700, £:24,200, H:29,300
HECHE) | JAL JAL 26,500 62% | /:26,700, %:28,600, £:27,200, H:28,500
HE=ES HRECHE) | JAL JAL 25,000 64% | F1:25,400, £:26,200, £:22,200, H:24,600
HECHE) | JAL JAL 25,000 64% | /:25200, %:26,700, £:23,200, H:25,600
EfE=LOFE HRECHE) | JAL JAL 23,400 69% | F:23,800, %:24,000, £:22,400, H:27,300
HEECHE) [ JAL JAL 24,100 68% | A:24,300, £:26,800, H:27,300
RROHE) =RR [RECHBR) | & JAL JAL 19,300 63% | H:19,700, A:20,200, %:20,800, £:21,800, H:20,600
R F e JAL JAL 20,100 62% | A #:20,500, £:21,000, H:23.400
AR (FFH) =BR B 5 [ JAL JAL 21,800 64% |+ H:23,100
R =8 MR@B XK EM JTA JAL 25,100 58% | A:25,700, £:26,700, £:27,200, H:27,300
BEH JAL JTA 24,500 59% 125,500, F H:25,900
BIN=1E5 FENIES B JAL JAL 25,800 67% 7}:26,300, £:27,700, £:25900, H:25,100
BEFR B JAL JAL 26,300 67% | H 7K:26,800, £:27,200, 1:26,100, H:27,300
BINI=X% JENIES B JAL JAL 21,400 75% + H:22,400
nFE ER JAL JAL 21,400 75% |&+ H:22,400
AR (EBR) =BR [#LIR(EXR)FE| R JAL JAL 17,600 50%
B 5 e JAL JAL 17,600 50% | H:15,500
EIEEES SR F LiR(EE) | JAL JAL 19,700 53% | H:19,500
BEE R LI CEER) | JAL JAL 19,700 53%
HEE==iR SR F LiR(EE) | JAL JAL 23,700 49% | F:18,800, H:21,000
=R LI CEER) | JAL JAL 20,200 57% |+:21,000, H:23,700
FR =& FlRFE LI CEER) | JAL JAL 23,000 47% [k AK#£:22,200, £:21,700, H:23,700
AR R LIR(EE) | JAL JAL 23,000 47% 718,800, 7k K £:22,200, £:23,700, H:21,700
FIR =4 FIFRFE LiR(EE) | JAL JAL 23,700 50% |7k AK%£:23,000, + H:21,400
1% 5 LiR(EE) | JAL JAL 20,200 57% | F:18,800, 7k:19,400, A :23,000, +:23,700. H:20,000
ZR=FR ZIR% LI CEER) | JAL JAL 19,800 60% [k A%:19,000, £ H:23,200
BR&=mE BREH¥ |®ECHHA)| JAL JAL 21,900 76% |&+ H:22,900
FEIES F JAL JAL 21,900 76% |4
RIBE=1HEJIl RIGF JAL JAL 21,900 76% |3
FEIES JAL JAL 21,900 76% |4
REAR=1HE)I REAR JAL JAL 21,900 75% |3
FEIES JAL JAL 21,900 75% |4
B =8Il EGE JAL JAL 21,900 75% |3
BIIF [ERCHHE)| JAL JAL 21,900 75% |3
BERG=PKRY | BEXEE | 25 JAL JAL 11,900 57%
HABREE | BB JAL JAL 11,900 57%
BrE=HRGRH) | BxEFE | MKREA | JAL JAL 15,600 54%
ShiE (RER) | AUKERER | JAL JAL 15,600 54%
HROCHE)=BFE ([ZRR(PHE)%| BRES JAL JAL 23,100 61% | A H:23400, 7kA:23,000, £:24,100, £:25,900
EFER BRS JAL JAL 24,200 59% | F%:25900, £:25.200, H:26,200
HRCHE)=EAE [RR(PHE)%| BEREE JAL JAL 24,100 60% | A 7KAH:24,000, #:25,100, 1:26,900
BAER BRS JAL JAL 23,600 61% | F:24,400, %:25,700, £:25,500, H:26,000
KR (FFH =BAE | AR(FM%| ERES JAL JAL 21,600 54% |A:21,700, %:21,800, £:22,400, H:21,400
BAER BRS JAL JAL 21,400 54% | A 7K:21,600, £:22,000. 1:21,000, H:22,400
ERE=/"18@H) | BERER | EEXS | JAL RAC 23,800 55% | F:24,300, H:25,500
B (BB | BEKXS | RAC JAL 25,500 52% |A:25,900, £:27,100
BE=EAS [ BREE JAL JAL 17,700 52% |+ H:16,100
BAER BRS JAL JAL 17,700 52% |+ H:16,100
BE=EFS [ BRS JAL JAL 17,900 50% 318,300, 1:16,300, H:16,700
EFER BRS JAL JAL 18,300 49%  |+:16,600, H:16,300
LE=REJI LE% |[R®ZRCHHE)| JAL JAL 28,000 65% | A 7K:28,500, £:29,000., 1:26,800, H:28,200
JBIN%E  |HERECHHE)| JAL JAL 26,100 67% | F A:26,600, £:27,700, £:27,300, H:26,500
wil==x NIE] [T JAL JAL 18,500 60% | H:18,000, £:19,400, H:18,400
EGE [ JAL JAL 17,200 63% |%:17,600, £ H:18,400
EEIE RS ESNARTICT F T RAC JAL 16,000 59%
[EIN-F. 5 JAL RAC 16,000 59%
BR =K BRFE [HIEERK) | JAL JAL 18,000 55% |+ H:15,000
BfER  [AREH)| JAL JAL 18,000 55% |+ H:15,000
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